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i _ :—;Mfg
KBk 1 [‘VRk214°9H28H | 14:25(f5 298] 26.1] 2.0 98 ;)F; Okl | Bfn fitAb A& L 49| 11.3 50 - - - - -|IKfk 12.0| 26.0
2 [FRk219-9H28H | 14:00(fE 305 25.8] 2.0 99 ;)F; Ol | B fn fifbksZR (72 L 57| 16.3 61 - - - - -| Kk 13.0] 25.0
3 ['FRk219-9H28H | 14:50(fE 285 26.2] 2.0| >100[~ R (ki |[Ee bk L 60| 15.4 56 - - - - -| Kk 13.0| 25.0
_ ) ik 1
fie] | L % ﬂﬂ)ll@#ﬂ’: 1 4{5}221/#12)%25 10:35(fE 14.0 - | >30[EbIRER IR K St iR R INF 26| 1.9 - - - - - -| e fh, -| 135
tg) (R il 2 |Fp214F12)12H | 10:10] 128 - -| >30|Mh iRk wKtet  |[ieR M 32| 36 A - | -| 135
m ‘ 3 %E}ZZlﬂDlZHZEI 10:00|f# 12.8 - | >30[whik PRI [CeES N 30| 28 - - - - - -|fEfh, -| 13.0
KT 1 [\Fpk214710/1 26 H | 12:30|% 19.0 | 35 >30[#RR RS B 51 6.9 - - - - - -t 9.9] 21.0
2 4{5}?214#10)3 26 H | 12:50|2% 19.0 - 35| >30[H#RR WK (R =V 51| 6.8 - - - - - - 9.8| 208
_ 3 |'Fk214-101 26 H | 12:00| % 19.0 - 3.6 >30[#IRIR RS b Hath 51 6.9 - - - - - - 9.8| 21.0
IR 1 ['pk214-10/1 16 H | 10:30[Hff 22.0] 22.8] 7.0 BFEIN IR 5L A 32 6.9 - - - | 570 -8 e 277 22.7
2 4{5}?2144::10)3 16 F | 11:05|M 220 228 7.0 BFEEN JR1E 5L B 31 81 - - - -| 543 -|IR et 28.0| 22.7
3 |"FEk214:10 H 16 H | 11:30| 220 228 7.0 RS PR M5 B 31 74 - - - - -k
EIN R ALV v ey VEA X . 53.9 JR A8, 29.2| 22.7
TR A 1 [¥R%214£10/7 200 | 10:00|2 19.6] 22.0] 2.6 BFEEN e il sk 3% KH\E;F%% 48] 8.9 - - - - - - Rk 3.0[ 223
Ty (%
e %)
2 |FE21410H20H | 9:41|= 19.0| 22.3] 29 BHEEN v fiefbok 37 AR Bk 27| 36 - - - - - -l ke 45| 225
R N
3 4{5}22144:10)% 20H | 9:25|2 205 22.8] 3.1 RS A At AKS& AH. B 62| 158 - - - - - -l IR ke 5.0/ 23.0
e [ ik ?EUJ)IIZJEZ'IT 1 |'FRk214£10H 27 H | 10:55|% 245 19.6 - >50[- PR TRIRIRER - - - - - - - - -8 0.1 19.6
ﬁfﬂﬁ (B | 2 |Fp2lf10/1 27 H | 10:35(4¢ 235 183 -| >50|- PR BIERE - - - - - - - - -[Hte 01 183
m 3 |FEk21410H27H| 9:55|= 215 18.2 -|  >50|- PR [N - - - - - - - - - 0.1| 18.2




SRR 214F FE 1) B BR B AR A SR I KA

V=DI=! N=Ni:d N iy 2.

PN s ek G Bl lson | someEnn |we N ol el B U e i

devfEiE it@a_ RETRLEIE v [[6] =hmAZY 1 | B9ss [FERk21410 H 28 H | 10:00 (K5 12.6 39| NE 1.2 0.141
— (FLME ) % T [ER214210 A 29 H | 10:00|= 14.0 67 S 0.5

2 | Bag | k214510 H 29 H | 10:10|= 14.8 62| SW 2.1 0.141
T [ER214210 A 30 H | 10:10|HE 13.0 57 N 25

3 | BaG | k214510 H 30 H | 10:15(H5 13.0 56 N 3.0 0.141
T | FER214E10 A 31 H | 10:15|0F 6.8 45 calm -

LR |FLER TR AEMFZEAT CRLBR  |[7] 4-ER a2 BEBAT 1 | B [FERk21FE10H 13 H | 9:27|Hs 16.2 46 sw 5.3 0.71
) v T [ER214E10H 140 | 9:27|0F 14.1 39 NWwW 6.3

2 | Basg | FRk214E10H 14 H | 9:32|HG 14.1 39 NwW 6.3 0.71
T [ER214E10 A 150 | 9:32|0F 16.0 52 NE 1.6

3 | Bag | k214510 H 15 H | 10:04|H5 16.0 52| NE 1.6 0.72
T |FER214E10 A 16 H | 10:04|HF 15.8 55| ESE 39

HOR [RIRRE I WRER Y [[BIm-=taT = 1 | BA4s [PERR214E10H 28 B | 10:00]i 19.4 70| ESE 1.8 0.294
& — (L) % T [ER214210 A 29 H | 10:00|HF 20.4 76 W 1.1

2 | Bag | k214510 H 29 H | 10:00|H5 20.4 76| W 11 0.292
& T [FER214210 A 30 H | 10:00|HE 215 76| SW 1.1

3 | BaG | k214510 H 30 H | 10:00(H5 21.5 76| SW 11 0.292
T |FER214210 A 31 H | 10:00|HF 18.9 80 NE 5.9

B E IR iTI,Lr REERZEREE > |[B]m-=te7 = 1 | pans [FPEk214511 A 17 | 10:00{/ 8.5 87| NNW 15 2.83
— (nZgm) % T [ER214211 A 18 H | 10:00|HF 12.5 64| NW 2.4

2 | Bag | FRk214E11 H 18 H | 10:22|H5 125 64| NW 24 2.83
T [ER214E11A 190 | 10:22]|= 7.2 60 NW 2.2

3 | BaG | k214511 H19H | 10:36|= 7.2 60 NW 2.2 2.83
T | ERi215E11H 200 | 10:36|0G 10.2 55 N 0.8

[6] =hmA%> 1 | Bang [FPEk214E11 A 17 | 10:00{/ 8.5 87| NNW 15 0.142
T |YER214£11H 181 | 10:00 (WG 12,5 64| NW 2.4

2 | Bag | k214511 H 18 H | 10:22|H5 125 64| NW 24 0.141
T [ER214E1LA 191 | 10:22]|= 7.2 60 NW 2.2

3 | Bag | k214511 H19H | 10:36|= 7.2 60 NW 2.2 0.142
T | ERi215E11H 200 | 10:36|0 10.2 55 N 0.8

TR (TR —ERE RRHEE [[6] =heAZ 1 | B [FERk214E10H26 H | 9:00([y 14.8 99 N 31 0.142
JA (R YT |ER214E10H 27 H | 8:50| P 21.2 71 W 6.2

2 | Bag |PERk214E10H 27 H | 9:00| P 21.3 73 W 6.2 0.143
T |PERi214£10H 28 H | 8:50(0 16.9 74| ENE 0.9

3 | Bag | k214510 H 28 H | 9:00(HG 17.3 73| ENE 0.9 0.143
T | ER214E10 H29H | 8:50|= 14.7 91| NNW 1.3

N [ SN RBREBI R 2t o 7 — [[7] 4-eR e Z B EFHBAT 1 | pans [FEEk214E12 8 H | 10:00(H/E 10.0 40| NE 2.5 0.682
CF& ) 2 % ['ERk214E12A9H | 10:00[2 10.9 55| NNE 12

2 | Bag | k214512 H9H | 10:10|= 10.9 55/ NNE 1.2 0.797
T |PER214£12 100 | 10:10(0G 12.6 56| ENE 3.4

3 | Bag | k214512 H 10H | 10:20|H5 12.6 56| ENE 34 0.791
T |ER214£12 11 H | 10:20|/F 7.7 90| NNE 1.3




SRR 214 W BR B o A SRR U KA
L= yE JE N =y B
PN W A ST Bl | mmsan | x ol el B U e i
ERE |ERFREREASUIZHT (& |[6] =hnAX 1 | Ba4s [FER%214510 A 27 0 | 10:00(iF 14.6 86] ENE 2.6 0.142
B 117) T |PERk214210H 28 H | 10:00| g 12.4 81| ENE 2.4
2 | BA4s |FERC214E10 H 28 B | 10:20]khif 12.4 81| ENE 2.4 0.142
T | ERi214£10H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | BaG | k214510 H 29 H | 10:40(H5 1.1 87| SE 1.2 0.142
T | ERi214£10H 30 H | 10:40(0G 14.6 75|  SSW 26
Mgt E3. IR, MEM%%F‘“FEB% AT (% |[B] m-=kr7 =V 1 | BE#g | FRk214-10H 27 H | 10:00|K 215 41 W 45 2.84
B JTT) w1 [Frk21%10 A28 1 | 10:00(1% 18.3 sl w 0.2
2 | Bag | k214510 H 28 H | 10:10|H5 19.4 51 W 0.2 2.84
T |ERi214£10H 29 H | 10:10(0G 20.6 51 W 0.2
3 | Bag | FRk214510H 29 H | 10:15(H5 20.5 49 W 0.2 2.84
T | FRi214£10H 30 H | 10:15(05 20.5 57 W 1.2
&R | TREFEMAR (A HE |[7]4eRed o2 BFBAT 1 | BAtg | FRk214-11 H 24 A | 11:06| % — K¢k 12.0 76] NNE 17 0.630
) v @7 SER214E11 A 25 1 | 10:18|F0 i 13.8 63| WNW 31
2 | B9kg |PERk214E11H 25 F | 10:23 | — s 13.8 63| WNW 31 0.667
T |FERi214E11H 26 H | 10:25(0G 13.7 60 NW 1.9
3 | BA4G |PERC214E11H 26 B | 10:26| kAt 13.7 60| NW 1.9 0.701
T | ER21IAE1LA 27 H | 10:13 | %= 14.3 63| NNW 1.7
ZHER | ZEBAREERESET (WU |5l m-=trT7 =V 1 | BHsg |FR21412 H 2H 9:57|i% 12.6 58 N 11 1.35
Him) T [ER214E12 A 3H 9:49|= 12.9 61| wsw 0.7
2 | BAss |FERC214E12H3H | 10:30(2 12.1 67| SE 0.6 1.28
T 2151248 | 10:36(0 13.6 49 NNW 5.7
3 | BHG |PRK214E12H 4R | 10:46|HE 14.4 48| NNW 5.7 129
T | ERi21512 50 | 10:56 |0 1.1 84| WSW 0.7
ERT | AT AT CRHERT) [6] =hmAZ 1 | Ba4s [FER214511 A 100 | 10:04|2 19.3 62| ENE 1.1 0.146
T [ER214E11A 113 | 10:04|F 17.9 85 SwW 0.9
2 | Basg | FRk214F11H 11 H | 10:35|/ 18.2 791 NW 15 0.142
T |PER215E11H 12 0 | 10:23 |0 15.6 50/ NNE 3.0
3 | Bag | k21411 H 12 H | 10:33|HG 15.6 49| NNE 4.8 0.146
T | ERi214£11 13 H | 10:33|/ 14.7 67| ENE 1.8
KEAF | KBRFBRBE 2R K EERR A A |[7] 4-E R s 42 BB R AT 1 | psg [PEER214E11H 240 | 10:00(% 9.9 75 N 13 0.780
FEpT (RBR) v w1 [Frk21/E11 A 251 | 10:00(1% 15.6 78] calm :
2 | Bag | k214511 H 25 H | 10:20|H5 16.4 73| calm - 0.780
% T [ER214E11 A 26 H | 10:20|05 15.3 57| SE 04
3 | Bag | k214511 H 26 H | 10:35|H5 15.9 55| calm - 0.780
T [ FER214E11 A 27 H | 10:35|0F 15.0 60| calm -
R | RERRENEE X —  |[6] =haAZy 1 | BA%G [FRk214E11H 16 H | 10:10(/& 13.1 52 N 2.2 0.141
(F ) T | ER214E11 A 17 H | 10:10(/E 9.1 86| calm -
2 | Bag | k21411 H 17 H | 10:25|/ 8.9 87 N 0.6 0.142
T [ER214E11 A 18 H | 10:25|HF 11.6 57 S 1.2
3 | Bag | k214511 H 18 H | 10:50|HG 114 58 S 1.2 0.141
T [ FER214E11 A 19H | 10:50| = 11.3 69 S 0.8




SRR 214 W BR B o A SRR U KA
Y—==} N=ica N =t =
PN A WA S Bl | mmsan | Kb P ol T j‘ﬂ(iiff‘i
Fapk L R %ujkm/Lr REiM e v [[S]lm-=Fr T =) 1 | g [PERR214E11H 18 | 10:13]& 11.1 58 N 5.6 1.48
— (FraEk L) % T [ER214E11 A 190 | 10:13|0F 2.9 80 E 25
2 | Basg | k214511 H 19 H | 10:25|H5 2.9 80 E 25 1.50
T [ER214E11 A 20 H | 10:25|0E 12.7 67| NNE 2.1
3 | BHkA |PRK214E11H 26 H | 10:00|H 14.4 76| ENE 2.5 146
T |ER214E11 A 27 H | 10:00|HF 14.8 78 E 1.4
o 0 BREssiftr v % —  [[5lm-=ta7r=Ur 1 | s [FPEk214E11 A 9F | 10:01(/ 18.6 86| ENE 1.0 1.48
(L AT) % T [ER214E11A 100 | 10:01|= 18.8 78] NE 11
2 | BA4s |"ERC214E11H 10H | 10:10(% 18.8 78| NE 11 1.45
% T [ER214E11 A 113 | 10:10(/ 17.3 75 NE 35
3 | Basg | k21411 H 11 H | 10:22|[W 17.3 75| NE 35 1.52
T | ER21IAE1LA 12 H | 10:22| P 16.3 48]  NE 4.0
wER R RAEESEE 4 —  [[71] 4R R EERAT 1 | Bagg [FERE214E11H 16 H | 11:00[% 13.0 52  Nw 3.8 0.749
(FE &) v w1 [Frk2tE1A17a | 11:00(/F 7.8 86| WNW 43
2 | Basg | FRk214E11H 17 H | 11:02|[FE 7.8 86| WNW 43 0.751
T |FER215E11H 181 | 11:02 |0 12.0 39| WNW 7.3
3 | BaG | k21411 H 18 H | 11:42|H5 12.0 39| WNW 7.3 0.747
T | ER214E11A 190 | 11:30]= 12.1 59 WNW 43
FINE [BNRERERTE (&R [[5Bm-=ta7r=Ur 1 | BEtg | FFRk214E11H 25 0 | 11:21 |25 & 18.1 79 wsw 2.2 1.45
) T [ER1IAE1LA 26 H | 11:21 | PEE 21.0 56| WNW 11
2 | Bag |PERk214E11H 26 F | 11:23| P 21.0 56| WNW 11 1.46
T SERG2IAELLH 27 H | 11:23|E — = 16.0 73] NNW 3.1
3 | BHAL | ER21IAE11H 27 B | 11:25|0 —Fi= 16.0 73] NNW 31 1.48
T |ER214E11 A 28 H | 11:25|= 15.0 69| NNE 2.0
B |RPmETES CREET)  ([6] =hrAz 1 | Bdgs [FERE214E12H 1A | 10:10[K% 1.1 79 Nw 0.8 0.141
T |ER214E12 A2H | 10:10(0E 12.9 62| NW 0.6
2 | Bag | k21412 H2H | 10:20|H5 12.9 62| NW 0.7 0.142
% T [ER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | Bag | FRk214512H3H | 10:30|= 13.8 64 W 1.9 0.141
T |ER214E12 A 4H | 10:30|0F 13.9 55 NNW 0.9
[7] 4-ER oL %2 B ERE AT 1 | pang [PEEk214E12 18 | 10:10(/E 11.1 791 NW 0.8 0.708
v T |ER214E12 A2H | 10:10|0E 12.9 62| NW 0.6
2 | Bag | k21412 H2H | 10:20|HG 12.9 62| NW 0.7 0.708
T [ER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | BA4s |FER214E12H3H | 10:30(% 13.8 64 W 1.9 0.708
T |ERi215E12H 40 | 10:30(0G 13.9 55 NNW 0.9
e AL TN BLAE (BT ) [[s]m-=Fe 7 =Y 1 | BAkk [FER214£10 1200 | 9:35(iF 19.2 51| NNW 5.8 1.44
T |ERi215E10H 210 | 9:35(|0G 20.9 57 S 1.8
2 | Bag | k214510 H 21 H | 10:00(H5 20.9 57 S 18 1.43
T |FER214£10 H 22 H | 10:00 |0 23.0 52| SSE 2.2
3 | Bag | k214510 H 22 H | 10:05|H5 23.0 52|  SSE 2.2 1.43
T |*ERi214£10 H 23 H | 10:05|0 22.0 49| ESE 1.8




SRR 214 W BR B o A SRR U KA
== YE HE ~ =t =
PN A AR BT Bl | mmsan | K - ‘”(E%/% ) (kan% jm(;gfyi
R (EERSREEE ¥ — (BB |[flm-=taT7 =0 1 | BHLE [ERK224E3H9H 13:04|= 8.5 72 S 31 1.42
i7) w1 [Erk22fE3 A 100 | 13:04]i 55 82| NNW 0.4
2 | Bs | P23 100 | 13:066 55 82| NNW 0.4 1.42
w1 [Trk22E3 1R | 13:06|0E 129 43w 0.4
3| pks [Trk22aE3 1R | 13:00| 1 132 44w 0.4 1.42
w1 | Trk22kE3 120 | 140008 1538 34| NNE 18




SRR 214 B AR AR BR B ol A SRR U KE
5 I ITRLN . FRHL | y SR | /KR [ A RS 1R
IANFEFI R WA kel RIBLEA H oy N ?CD; (kcn; @(ﬁ)%z% A #) | pH (i(;/DL) (EE/DL) (msg;L) (rr?g(/)L) (mcg;}L)
JEHEE [ )1 O A5 AR (f 4 1 [Fri214210 A 151 | 10:00]#@ & 5 = [ 15.3| 107 | 23 E [ 64 11 A 13] 94 -
2 ﬂ?ﬁjjzzlﬁloﬁ 150 | 10:10 @ 5k (= 14.3| 10.3 - 28(t8 (4 -l 60/ 14 - 13| 9.7 -
_ 3 |FRk214E10H 15 H | 10:20 )@ 7 526 |2 13.8| 10.3 - 28(t8 (4 -l 61| 06 - 13| 9.2 -
ALDRETT |21 (PLE ) 1 $E}:€21$9ﬂ85 9:35 ﬁ%“jﬁt & 230 192 18] >30[#%m 4] 72| 12] &8 2 72 42
2 ﬂ?mlﬁgﬁ 8H [10:35 ﬁ%jﬁt fii 22.0| 200 18| >30[kEtn 40 72| 14| 57 3| 7.2 44
__ _ 3 $E}§21$9H8Ei 11:55 ﬁ%jﬁt fii 22.0| 200 15| >30[#kEtn 3| 72| 12| 56 3 7.0 58
HE—)0kE (FLIRT) 1 ﬂ?ﬁJ@ZlEgﬁsa 14:45 ﬁ%jﬁt & 18.0 21.0] 15| >30[%EkkiEE 6] 72 10 49 4 75] 390
2 $E¥21$9H 8H |15:10 ﬁ%jﬁt fii 18.0| 21.0[ 15| >30|%kmBE 71 72| 08| 5.2 5] 7.6] 520
_ ‘ ___ 3 $E¥21$9H85 15:40 3@ & )5 2 | 18.0| 21.0[ 15| >30|#kmBE 71 72| 10| 6.0 5] 7.0 780
R [ER (&) 1 ﬂ?ﬁgzﬁloﬁm 9:56 ﬁ%“jﬁt = 22.0] 16.9 | >30[ME M 1 73] <05] 1.9 1 96 8
2 $E¥21$10H 7H |11:16 ﬁ%jﬁt o 22.0[ 187 .| >30(Ef 1| 76| <05| 16 2| 100 7
— _ _ 3 $E¥21$10H7Ei 11:57 @ % 7 |2 235 17.8 .| >30(Ef 1| 75| <05 18 3| 97 7
e A TEETHE Ok ) 1 $E¥21$11ﬂ 10 A [ 14:45 ﬁ%“jﬁt i 19.9] 16.1 [ 37| 8| 72| o05] 27 8] 9.9 -
2 ﬂ?ﬁﬂgzﬁnﬁ 10 F | 14:40 ﬁ%jﬁt fii 19.9| 16.4 | 37| 71 72| 05| 3.0 12| 100 -
3 ﬂ?ﬁﬂ@zﬁnﬁ 10 H | 14:50 |38 5 =% |iE 19.9] 159 - 40|mB 9l 73| 05| 29 9| 97 -
A IR S (S2mET) 1 [ERk214511H 10 B | 10:45(8 5 5 =X |1 18.3| 145 .| >50[%E 2| 73] <o05] 18 3] 10 -
2 $EJ:221$11H 10 H | 10:55 |38 7 5 =% |i 18.3| 144 .| >50(dEf 2[ 73] 05| 17 2| 10 -
_ 3 [FERk214E11 4 10 B | 10:35| i 77 =\ | 19.0| 145 .| >50(dEf 2| 74| 05| 20 2| 10 -
WMad | EmEE (i) 1 |PErke1E11H 190 | 968[mw Tk &= 80| 7.2 .| >50[|fE M - 74 11] 3.0 2| 121 15
2 $EJ:221$11H 19H [ 10:17 ﬁ%“jﬁt = 8.0/ 8.0 | >50|4mE 75 11l 29| <«1f 123 14
1 ‘ _ 3 ﬂ?ﬁﬂgzﬁnﬁ 19H [ 10:10 ﬁ%jﬁt o 8.0/ 8.0 .| >50|4mE - 75| 10| 31| <1 125 14
W 5 B GEmH) 1 ﬂ?ﬁgzﬁloﬁ 220 9:32 ﬁ%jﬁt i 15.0] 14.0] &% >30[¥EE 10/ 55 11 33 9] 10 -
2 ﬂ?ﬁgzﬁloﬁ 22H| 9:50 ﬁ%jﬁt fii 15.0] 14.0| 15| >30[¥kiEfm 11| 5.6/ 11| 33 9| 10 -
- _ _ 3 ﬂ?ﬁgzﬁloﬁ 22 H | 10:24 |5 7 2 |0E 14.8| 14.0| 15| >30[kiEfm 13| 59| 11| 34 11| 10 -
PR (BREBS HAE (OB et 1 [FEri214210 A 23 0 [ 11:10]8@ & 5 = [0 189] 17.2 | >50[|fE M 17 12| 12 1| 10.0 -
2 |FRk214E10 H 23 B | 10:45| w5 77 =\ | 18.8] 17.2 - >50|4mE -| 76| 05 13 1| 10.0 -
‘ 3 |FRk214£10H 23 H | 10:20|:d@ 7 526 | iE 18.8] 17.0 -| >50|4mE 77 12| 1.2 3[ 99 -
FIARJI O 2% 8 KAE (AT 1 $EJ:221$10H 22 [ [ 10:50 ﬁ%“jﬁt i 220/ 196 0.8 30(REtE 0 -l 67 09 32 11 78 -
2 $E¥21$10H 22H | 11:20 ﬁ%jﬁt o 225 20.0| >17] >30[&E -l 74| 14| 31 5] 85 -
___ 3 ﬂ?ﬁgzﬁmﬁ 22 H | 12:15|w % = |IE 222| 200 16| >30[mmBtn -l 74| 09| 36 5] 89 -
AR (@I (FEET) 1 |FERk215E11H30H | 9:65)mw ik [&= 10 12 | >30|MEMm 2 74 12| 30 3 11 -
2 $EJ:221$11H 30H | 10:12 [ = |2 10 12 | >30(mE 2| 74| 15| 31 3 11 -
‘ _ 3 [FRk214E11 430 0 | 10:30| w5 7= |2 11 12 | >30(mE 2| 75| 14| 3.0 3 12 -
FEB IR |81 28046 (i) 1 H?EgzlEloJﬂ 29 H [ 11:05 ﬁ%“jﬁt & 23.2] 165 -| >130|mAE [ 83 07| 26 3] 10 9
2 $E¥21$10H 29[ | 11:30 ﬁ%jﬁt fii 24.3| 165 -| >130[# A 84| 06| 24 2| 10 9
_ ‘ _ 3 $E¥21$10H 29 H | 12:00 w5 5= g 245 16.0 -| >130(@A R (n -l 84| 05/ 25 2| 10 9
BEE [ EAE GEAT) 1 [FErk214E11 A 191 | 12:50[@ % 5= [/ 9.0 182 -| >100[%E | 72| 09] 54 - 83 -
2 $EJ1221$11H 19H | 12:30|3@ % 526 | 2= 10.0| 17.8 -| >100/4E fz -l 72| 12| 54 8.3
_ 3 [FERk214E11H 19 | 12:05| w5 7= |2 11.2| 17.7 -| >100|4E | 72| 12| 53 -l 84 -
ARG (G BT 1 ﬁE}?ZlEllﬂ 19H | 15:35 ﬁ%“jﬁt = 105 115 - 52| 1R K ¥ {4 - 76| 16| 45 9] 10.0 -
2 ﬂ?ﬁﬂgzﬁnﬁ 19H [ 15:15 ﬁ%jﬁt = 105 11.5 - A0|HRIR -| 770 18| 45 9| 98 -
3 |FRk214E11H 19H | 15:008 % 526 |2 105 115 - 51|IRIK i {1 -l 76| 19 46 10| 9.7 -

10




SRR 214 B AR AR BR B ol A SRR U KE
i — A V==I=} N N ﬂ“ 1]
/Ai%ﬁ: REAR gg RIFA R 3123 e ?C(D; 7(kc(n? @(f)%(ﬁ% A # | pH (iO/DL) (;O/DL) (mS?L) (rr|1D (/)L) mC;L
TIEGL (TR - flilg i 1 ﬂ?ﬁgzﬁloﬁ 28H| 9:35[@ 7 K [0E 20.3| 20.1] 45| >50[EfEf 3] 80 ? - gz.s ? 1 g7.1 (18,%08
2 ﬂ?ﬁgzﬁloﬁ 28H | 9:53[w e S |IE 20.4| 199 45| >50[EkEf 4 80 -l 20 2| 7.1]18,000
_ _ 3 ﬂ?ﬁgzﬁloﬁ 28 H | 10:15 [ 7 =% |IE 20.6| 20.1| 5.0 >50[EfEtn 4 79 - 13 2| 6.9]18,000
FENEHE (FET) 1 $E¥21$10H 14 H [ 10:30[@ % =k [ = 17.0] 175 | >30[B e ol 75| 1.0] 45 71 81 -
2 $E¥21$10H 14 H | 10:10|:@ % 5= |/’ 175 18.0 - >30[KFE A 8 74| 12| 42 6| 87 -
I ‘ 3 $E¥21$10H 14H | 9:45|@% 5= /NN 185| 175 - >30[B e 9l 75| 11| 44 6] 83 -
AR R0 LX) 1 ﬂ?mﬁnﬁ 9H | 95w H =K [iE 17.4] 17.8] 22| >50[IBIKE Rk 71 17 .| 409 5| 6.6 -
2 ﬂ?ﬁﬂ@zﬁnﬁ 9H |10:05[w % = |IE 18.1] 181 2.2 >50[iEIK kA 3| 77 -| 5.0 2| 66 -
‘ ‘ 3 ﬂ?ﬁﬂ@zﬁnﬁ 9H | 10:40[w 5 = |IE 185 18.4| 2.4 >50[|iEIK k@ 3] 78 -| 5.0 3] 65 -
BT A (FEX) 1 ﬂ?ﬁj@zﬁnﬁ 9H [11:50[w 7 5K [0E 20.2| 19.1] 36| >50[HFkEfn 1 75 | 44 2| 51 -
2 ﬂ?ﬁj@zﬁnﬁ 9H |[12:40 ﬁ%"jﬁiﬁ 5 21.5| 19.2| 36| >50[mrkEtn 2| 17 |47 2| 5.2 -
___ ___ 3 $E¥21$11ﬂ 9H |13:00 @ﬁi’ﬁﬁ 5 215| 19.1| 3.4| >50[mMrkEtn 3| 77 -l 409 3| 5.0 -
BEm (B lao 7@ ) 1 ﬂ?ﬁﬂgzﬁnﬁ 25 H | 10:30[@ % 5 =K [0E 165 145 | >Bo[#k R 2| 74| 40| 65 4 8.2 -
2 ﬂ?ﬁﬂgzﬁnﬁ 25 H | 11:00 | 7 2 |iE 16.5| 145 -| >5[k sk 2| 75| 24| 63 4 83 -
_ 3 ﬂ?ﬁﬂgzﬁnﬁ 25 H | 11:30 [ 7 = |iE 165 145 - >B0|#k Rk 2| 75| 30| 65 4 8.2 -
b RIERvES 1 $E¥21$11ﬂ 12 B | 14:40[m 5 55 |2 145 175 17 -[¥ Pkt 3[ 79 [ 30 9] 64 -
2 ﬂ?ﬁﬂ@zﬁnﬁ 12 H | 13:40 ﬁﬁﬁiﬁ & 145 180 2.0 -k 2| 80 - 22 9| 6.1 -
T _ 3 %E}?Zlﬁllﬁ 12H 15:10 @ijﬁﬁ & 145 175 1.7 -| ¥R 2l 79 - 24 10 6.1 -
2 BN a1 TH) 1 ?E}?Zlﬁloﬁ 29 H [ 13:15)@ % H K = 18.6] 184 24 -|IR |78 27 3] 8.8 13,000
2 $E¥21$10H 29 H | 13:55 w5 = (= 18.9| 184| 24 -|IK sk £ 8.0 -l 24 3| 7.4|12,000
I 3 $E¥21$10H 29H | 14:35[m % 5= [= 20.2| 183 25 -|IK sk £ -l 76 -l 30 3| 9.7/12,000
) G 8 T Y e ] 1 $E¥21$10ﬂ 20H | 9:45[m 5 = [= 183 19.7] 55 - FhE o -| 80 [ 16 1| 6.7]17,000
2 $E¥21$10H 29H [ 10:25[w 5 5= (= 18.9| 19.8| 5.1 -|IK F et - 7.9 - 1.9 1| 6.7/17,000
_ _ __ 3 | FRk214E10H 29 H | 10:48 |38 7 526 | 2= 20.3| 196 5.6 -| IR Fh - 7.9 - 18 2| 7.0[17,000
BRI [Z0)1 F iR Cona ) 1 [FEri215E11A 48 [ 11:15)8@ % 5= [ 17.0] 105 | saEBe | 73] 10| 43 21 9.6 —
2 $EJ:221$11H 4H |10:45 ﬁﬁﬁiﬁ fii 155| 105 | 32|%Be | 73] 14| 49 20| 10.0 -
—— S— 3 %E}?Zlﬁllﬂ4ﬁ 11:30 @ijﬁﬁ T 17.0| 105 | 39 %%%@ | 73] 12| 48 13| 98 -
BABRNNT O (4R ) 1 T@mﬁnﬁw 12:10[@ % 5= (g 20.4| 157 - >30[wEHE [ 72 15/ 40 2| 86 -
2 ﬂ?ﬁﬂgzﬁnﬁ 6H |11:00 ﬁfﬁjﬁt fif 19.8| 14.6 - >30[Hk Rk -l 73] 11| 3.9 2| 89 -
I E— 3 ﬂ?ﬁﬂgzﬁnﬁw 10:00 @%jﬁﬁ 5 19.1| 15.0 - >30[#k Rk - 73] 11| 4.2 3] 9.0 -
RUF R |BREHTATH O 1 $E¥21$10ﬂ 20 H [ 10:30 [ 5 5= [= 165 14.8] 0.9 35|k 11] 7.7 26] 5.0 11| 9.6 9
2 ﬂ?ﬁgzﬁloﬁ 20H | 11:30 J:E%“jiiﬁ & 17.0| 146| 09 36|k tn 100 82| 27| 46 11 95 9
— 3 ﬂ?ﬁgzﬁloﬁ 20H | 11:55 @%jﬁﬁ o 165 14.4| 0.9 39| ¥k th 10/ 82| 25| 46 1] 95 9
B U |9 Kk 1 [FR21410H20H | 9:12|@ % U7 K |WERE~ 2= | 24.0 225 5.0 B ) 1| 82 | <05 2| 6.9 -
2 |FRk214:10H20H | 10:04 )@ % 5= [ERE~ 2 | 24.7| 227 6.0 -| 1 82 -l 08 1 70
_ 3 |'PRk214E10H 200 | 10:22|@ % 5= [ RE~ 2 | 24.8| 225 55 -| 1 81 -l 07 2| 7.2 -
Kig)ll (@) 1 $EJ:221$10H 150 | 12:34]@ 7 5 =% [0 233 203 | 19[EBE 21 78] 02| 23 251 94 -
2 ﬂ?ﬁgzﬁmﬁ 15H | 12:10|@ % 5= |i 23.0/ 189 -l 20[HEBE 20 78| 03] 24| 31| 93 -
_ ‘ 3 ﬂ?ﬁgzﬁloﬁ 15H | 10:54 |38 & 5 =% i 23.0[ 19.0 -l 19|HEBE 18| 78| 03] 21 18] 9.2 -
B (4 R 1 $E¥21$11ﬂ 9H [13:20[m % = (= 19.3| 22.0] 26| >50|MEEE -| 80 | 11 5] 6.7 -
2 ﬂ?ﬁj@zﬁnﬁ 9H |[13:25i@% K |2 19.3| 220 2.6 >50|fuEitE -| 80 12 6] 6.7 -
3 |FRk214E11H9H | 13:30)@ % 2k | 2= 19.3] 2201 2.6 >50|fkEiE - 81 12 6] 6.7 -

11




SRR 214 B AR AR BR B ol A SRR U KE
5 - ITRLN - FRHL | y SR | KR [175 B R 1R e BOD|COD| SS | DO | Cl
N L g AR PR KR ) o o) Jem] =B g me)mgijmy) my)
&R EEE (KR 1 |FErke15E11H26 0| 9:35[@mw ik [ 16.3] 16.0] 26 80K ik th 4] 701 29 49 6] 3.5 5,600

2 |ERk214E11H26 0| 9:58|w s /7= | 16.8] 166 2.8 95| JK ik o 40 70| 27| 48 4| 33| 5,900

3 [ERk214E11 4 26 B | 10:15| w3 77 = | 17.2| 172 2.6 >100(pK 4 71| 25| 47 4| 33| 6,700

=R | ik 1 |FErk214E10H 27 A | 10:15 @ & 5 =K [ 23.0] 200 3.2 - Rk 79 .| 08 14| 6.6/17,000
2 |FERk214E10 H 27 B | 10:50 | i 77 = | 23.0] 210 34 - | PRkt -l 80 -l 15 13| 6.2[17,000

3 [FRk214E10H 27 B | 11:05| w5 77 =\ | 23.0/ 210 31 - Pkt -| 80 -l 07 14| 6.9/ 17,000

BRI [ EE R e o o 1 [PErke1E11 17 A | 1135w 5k [ 12.1] 140 29 -| R 1 79 .| 30 - 98 -
2 |PER21EE11H 17 B | 11:47 [ 7 2 |9 11.0] 135 28 -| Bkt 1 78 -l 30 -l 98 -

3 |[ERk214E11H 17 B | 11:25)w 5 77 = |9 11.9] 135 24 -| Bk 2| 78 -l 32 - 97 -

TR | R 1 [SERk214510H 14 B | 11:10(8 % 5 =X |1 22.8] 225 5.0[ >100[%E e 1] 82 [ 16 3[ 75 -
2 |ERk214E10 A 14 B | 10:05 | 3 77 = | 21.0 225| 5.0/ >100|MmE 1 82 -l 16 1| 81 -

3 [“ERk214E10 H 14 B | 10:30| i 77 =\ | 225| 22.4| 5.0 >100|MmE 1 82 17 2| 80 -

AT [EIEeE GuET) 1 |FERk214E10H 29 A | 11108 & 5 =K [ 23.0/ 195 >05| >50|ME@ 4] 74] 13| 35 2l 9.2 -
2 |FERk214E10 H 29 H | 12:00| w5 7 =\ | 23.0| 20.0| >05| >50|fEE 5| 75| 14| 36 2| 94 -

3 [FRk214E10 H 29 H | 12:20| w3 77 =\ | 23.0| 20.0] >05| >50|fEE 8| 74| 16| 35 5/ 96 -

KBRF [ RF) i o (BR) 1 [*EEk21FE11H 190 | 8:33[mw ik [ & 90 132 14 46[xERRE - 83 - 41 4] 83 -
2 |PERk214E11 A 19 H | 10:45| w3 77 = | 115 15.4| 1.6] >50[K &R -| 83 - 41 4 83 -

3 |FRk214E11H19H | 9:35)@ % 2k | = 9.2| 13.8| 1.4 >50(KEikta -| 83 -l 41 4 83 -

KB [ RJNEER (KBR) 1 [FEri21410A6H | 9:53)@E = [= 222| 227 15 51 (kK 6] 771 09| 36 8l 7.8 16
2 |"ERk214E10H6H | 13:12|m 5 5 |2 20.5| 230 1.2 50| 1% K 4 5| 74| 13| 37 71 86 15

3 |FERk214F10H6H | 11:05|@ % H2k |2 22.1| 230 10| 49|fK 5| 74| 09| 40 71 9.4 15

NS 1 [FEri21429H 28 | 14:25)w & 5= [ig 29.8] 26.1] 20 98| IK 35 (4 3[ 7.7 12| 34 7] 3.0] 9,000

2 |FERk214E9H 28 H | 14:00|38 7 5 2% |HE 305/ 258 20 99| K 35 (4 40 79/ 09| 6.3 5| 2.8[12,100

3 |FRk214E9H 28 H | 14:50 (8@ 7 5 =6 |HE 285| 26.2| 2.0| >100|wkK Eitn 40 78] 07| 59 6] 2.8][11,000

T IR [ R 1 |FERk214£10H 16 A | 11:00[5@ & 5 = [ 23.1| 252 38 - | - 82 - 23 - 75 -
2 |ERk214E10 A 16 B | 10:42| w5 77 =\ | 222| 243 38 -| Wk o - 82 - 29 -1 76 -

3 [FRk214E10H 16 A | 10:22| w5 77 =\ | 21.1| 243 40 -| Wk o - 81 - 29 -l 75 -

EHT (T 1 [FEri21410H 200 | 9:40[@ % = | 218 229 1.2 - |k ta | 82 | 24 6] 6.1 1,400
2 |FERk214E10 H 20 B | 10:15| w5 7= |2 20.2| 212 26 - |k o - 82 | 24 8|  6.2] 1,400

3 [“FERk214E10 H 20 H | 10:36|w 5 7= |2 20.0 215 3.4 - |k o - 82 - 23 3| 6.3 1,400

E IRV TISE VPN R GiE k) 1 |FErk215E11H 200 | 15:00[@ % G [ 2= 146 16.1] 15 B ) 1 71] <05] 22 3| 10.0] 8,400
2 |FERk214E11H 20 0 | 14:15)@ 5 7=\ |2 13.6] 16.1| 15 - | 76| <05| 24 3| 10.0] 8,300

3 [ERk214E11H 20 H | 13:20| w5 7= |2 144 163 1.3 - 77| <05 32 4] 9.6 8,300

fl (LB [ 2 FEFHE (3 1) 1 [SERk214511H 16 A | 10:00(88 5 75 =X i 14.8| 138 - >30[ME 4] 75 12 33 4] 101 -
2 |ERk214E11H 16 B | 10:08 | i 77 =\ | 16.0] 13.9 | >30|Mm e 5/ 75| 04| 34 3] 102 -

3 [“ERk214E11 4 16 B | 10:30| i /7 =\ | 17.0] 137 | >30|Mme 40 76| 12| 32 3| 103 -

K s 1 |FERke15E10H 26 | 11:16[@ % Tk [ 2= 195 212 35| >30[mEf 1 81 20 <1 67 -

2 |ERk214E10 H 26 B | 10:45| w5 /7= |2 185 21.0| 35| >30|Mmf 1 81 20| <1 67 -

3 [FERk214E10H 26 B | 11:33| i 7=k |2 19.0| 21.0[ 3.6 >30|Mmf 2| 81 18l <1 67 -

12




SRR 214 B AR AR BR B ol A SRR U &g
KE
5 - ITRLN . £ R 5 [%5 8
o A HL B s H;';;‘if ot x| G 7{%“; @(f)’;@(ﬁ’; @i | e | pn [BOP|COD] SS | DO | Cl
o R | L 1 [FEri214E12 431 [ 12:58)w@ & = & 151 176] 5.0 ) 1 (o) (gL (mo/A g ) (o)
B e 5Bl J7 7L | ) . ) -[E ikt 1] 82 | 16 1 96 -
H | 13:03[m % 5 (= 15.1| 176/ 5.0 -|F Rt 1| 82 -l 15 2[ 94
N > . N fi=id . : : : .
__ 3 |PERk214E12H3H | 13:07 | T |= 15.1| 176/ 5.0 -|F Rt 1| 82 -| 15 1| 101
Fr 1 [Fk2iA 110 25 A | 10550 % X % 165 19.0[ 110 ERE ' ' ' :
R 1551 i J7 3K [T . . . EGS <1 82 - 10 1| 104 -
2 |ERk214E11 H 25 H | 10:59 | i 7 =, | 16,5 19.0| 11.0 -l <1| 8.2 -1 09 1| 10.0
NI/ . N S Az . =23 : : . N
_ _ ‘ _ 3 |FERk214E11H 25 0 | 11:07 | 77 =X | 165 19.0] 11.0 - |k 1 82 -l 09 1| 101
R [EFRI a0 (EE) 1 [SERk214510H1H | 9:08[w % 5=\ | = 238| 25.2| 25| >50[RZER 8 7'9 15 2.6 4 6.4 14 000-
2 $E§21$10H 1H | 9:55|:@% 5=k = 245| 252 23| >50|HAtfn 71 7.9 1:5 2:5 3 6.4 14’000
_ 3 |FERk214E10H1H | 10:46|@ % 5= |2 245| 260 21| >50|&Acfn 71 7.9 ' ’
FNNE (B vk 1 |*ERk214210 H 20 A | 10:00[5@ 7 5=\ |2 19.6] 220 2 ~" % ' o b
R :00fid e 73\, | . . 6 -l Bk 3] 81 -l 20 16| 6.3[18,000
2 |FRk214E10H20H | 9:41)@ % 2 |2 19.0] 223| 29 - [ Bk fa 3[ 80 -
s AL )7 . 1.9 13| 6.4/ 17,000
_ _ 3 |FRk214E10H20H | 9:25)@ % 2k |2 205 228 3.1 - [ Bk fa 3[ 81 -
— _ il 1256 ) . 2.2 7| 6.4] 18,000
R AR ZE (FETH) 1 [SERk214511H 12 A | 13:20(8 5 5 =0 | = 21.0] 186 >05 fred)
R 2011 J7 5K [ 2 . . . - 1| 6.7 <05 10] <1 80 -
2 IEJ?ZlEllH 12H | 11:15|@ % 5= |- - -| >05 -| 1| 6.7 <05 13| <1f 7.7 -
__ \ 3 |[FERk214E11 H 12 A | 12:00|38 % 7= |- - -l >05 M) 2| 6.8 <05 2'3 <1 8.1
fEE [ AR s (FiE ) 1 |FERke15E10H 27 A | 10:655@ % ik [ = 245 19.6 - >50[%AE ' ' ' ' :
e = . . i 4] 78] 13] 43 7] 103 -
35| A = 235| 18.3 -| >50(EB 40 771 11| 409 11| 6.6
N > . N li=id . : : : : .
__ 3 [ERk214E10H 27 0| 9:55|w 5 7= |2 21.5| 182 -| >50(mB 40 76| 13| 47 71 43
PN R 1 [FEri214E11A5H [ 11:45)8 % 5 = [ 19.0] 19.0] 15 N ) 4 8:1 — 1'9 7 6.7 -
2 ﬂ?ﬁgzﬁnﬁ 5H | 12:00[w# % 7= |iE 19.0| 19.0] 15 -| 4 81 - 1.8 28 6.5 -
i 3 |ERk214E11H5H | 12:15)@ % 52 i 19.0| 191 15 -| 4 81 - 1'9 6 6.5
AETUIN T | S 1 |FERke15E10H 210 | 9:25)@ % ik [ 18.7] 20.8| 45 B ) - 8.0 - 1'7 <1 7'1 -
2 §§21$10ﬂ 21H | 9:40[w = |IE 18.7] 207 4.0 - -| 80 - 1'5 <1 6.8 ;
3 [ERk214E10H 21 0| 9:50|w i /7 = | 18.7] 207 4.0 -4 - ' ' ' :
VBB |7 B 1 [FEri214E11A16 0| 9:48|w@ % = & 105 13.0 2'0 >30 ﬁfg 53 i S -
T 481 7 J7 3¢ . . . - 83 - 18 4| 7.8[17,000
2 15221?12 16 H | 10:46 |18 7 526 [ 2= 10.0| 13.8] 25| >30|Mmfn -| 83 -l 19 3| 8.0]18,000
3 [ERk214E11 716 B | 11:16|w 5 7= |2 95 140 35| >30|E - ' ' ’
KAE Ry T (k4y i) 1 |PErke1fE11H 27 A 9b2[@ma Tk [ -| 15.8] >1.6] >100 %:%@ = 5 IR
R 1521 J7 3K |1 . . R e 1 7.8 - 20 1| 8.0[ 9,900
2 |PERk214E11 1 27 B | 10:45| w3 7 =X | | 178 >16| >100|5B 1 7.7 -
3 [Epk214E 110 27 1 | 1043 )i 7 [ L ' e R B
43| H 72 | -| 16.8] >2.1| >100[#B 1 77 -l 26 2| 81| 7,500

13




> =29 L, = E=SINE S, =% pin
AR 214 BE R A BR BT A A Uk LI JEE
Mty Wk . = | Ao EEOREED K5y | mEn | yesy | RIEERLAR(%) /ﬁﬁ&&iﬁ o BRe | EE
ade | dR Ee smEeEa R B0 ke | T mmmssg sMe i L5 S s S P B R e R L=l
(ﬁﬁig = - ) [(C)| (m) | (cm) — T %) | (%) | (%) (mg/g)| (mg/g) == (m) | (C)
e [AFena | 1 [SERk214E10 4 15 A | 10:00(2 15.3] 10.7 | 23] 2] CE - 46| 65 - - - - - B - N
AFFTARG | 2 |PPak214710H 15 H | 10:10(2 14.3| 10.3 - 28| e 5L - 44| 8.2 - - - - - -|[te - -
(E¥¥f) 3 [Ek21410H 151 | 10:20|% 13.8] 103 28 et frac - 35 39 . - - - - e - -
ENNS 1 [Erk214E911H | 10:50|mF 19.8] 17.0] 3 -- N IR - 39| 35 - - - - - -| H ke 15 -
2 |FE2149A 11H | 10:30|0 18.3| 17.0 3 -|- e JEIN R - 48| 46 - - - - - -| B 15 -
3 |ER214E9H 11H | 11:15(H 19.4| 176 4 -|- Hin JEPREL - 44| 34 : - - - : R 15 _
ALRTT [EFNE | 1 |FEk214F9H 8H 9:35| 23.0] 19.2] 1.8] >30[mbik Rie TRAE R HORE 26| 2.6 - - - - - -[ Rk 1.8) 185
(FLIE ) 2 |*EA214£9H8H | 10:35|M 22.0| 20.0] 1.8 >30| /L MK |HEASHE TR R DR 41 6.1 - - - - - -| Rk 1.8 19.0
3 |"FR2149H8H | 11:55|i 22.0| 20.0 15| >30[mbik Rt PRAE R RO 26| 3.0 - - - - - -[ Rk 15| 19.0
FNE—F | 1 |*Fk214°9HA8H | 14:15( 18.0] 21.0] 15| =30/ NIk BB TR R w4 30 5.0 - - - - - -| AR o 1.7] 19.0
Mﬁ CHLR |2 |Epk2l#F9JI8H | 15:10(iG 18.0[ 21.0] 15| >30[ /v b, Hi | [LSGES it 39| 10.0 N - [kt 17| 190
m RN
3 |"ER21429H8H | 15:40|i 180 1.0/ 15| >30[fitik Rt TRAE R W 35| 8.2 - - - - - -k 1.4| 19.0
ATFR (BRI (B | 1 ['FR2IFI0A7H | 9:56|% 22.0] 16.9 | >30[wbIk et 5L [0 25 1.9 - - - - - - 0.2] 16.9
%) 2 |‘ER214E10A7H | 11:16|% 22.0| 18.7 -l >30[#bIk RIK e IR T 25 2.0 - - - - - - 0.3| 187
3 |'ER214E107H | 11:57|% 235 17.8 - >30[whik erath M5 w9 25| 2.2 - - - - - - 0.2| 17.8
B [JAENIUAM | 1 | FA14F11A 191 | 10:20|% 80| 7.2 - >50[abIR et 5L 7oL 14| 1.2 <1 - - - - - | fh, 05 7.2
K (e | 2 |EARR14E11]19H | 11:45/4% 8.1 80 -|  >50[ibk et R 3% 5 14 <1 4 4 - - - 06| 82
i) 3 |FEk21411H19H | 11:05|= 8.2| 8.0 - >50[AbIR Rt 5 L 19| 14| <1 - - - - -| M fh, 0.6] 8.0
R |5 BT A 1 [*FRk214£10H 22 H | 10:53(iE 15.0] 14.9] &% >30[VEtk ) TR R R 51| 8.0 54 - - - - [ 10 | 149
GE M) 2 |ER214E10 22 H | 11:14|H 15.0| 14.9| 2=%| >30[EIk R PR R R R 49| 84| 74 - - - - -k £ 10 | 14.9
3 |"ER214E10 H 22 H | 11:41|0 15.0| 14.9] 43| >30[JeIk e PRI IR R 48| 74| 63 - - - - A 10 | 149
RN TGS 1 [*FRk214£10H 22 H | 11:10(0E 22.0] 19.6] 08 30(FHE U v e | Bt B R VU HME 26| 2.7 33 - - - - -| ke o 0.9 -
b O KIG b
(AT 2 |ER%214£10 H 22 H | 11:50|= 22,5 20.0] >1.7| >30|RE oy ) JEf S5 72l 371 6.7 79 - - - - -| ke o 3.6 -
3 |*ER%214:10 H 22 H | 12:30|1 22.2| 200 1.6 >30/mE Rt i VU Hi% 21| 20 9 - - - - -|hktE e 1.8 -
TR (i - difil | 1 |PPpk214F107 28 H | 9:35(l 20.3[ 20.1] 4.5] >50[¥RMR IR B fiefbok 37 Hig 67| 10.3 - - - - - - |k 14.7 -
W= 2 |'FR214£10 28 H | 9:53|H 20.4| 19.9| 45| >50[JeIk TR A fifbAkFR | H 59 9.3 - - - - - - |k fa 16.0 -
3 |*FR%214:10H 28 H | 10:15| 20.6| 20.1] 5.0 >50[¥Rik IR fifbok 37 Hik 67| 11.2 - - - - - -kt 16.5 -
HORAR (SRR A 1 |'FRk214E11H9H | 9:15(i% 17.4] 17.8] 22| >50[#HRVIE UV [HikE R KRFER|TH U & 61| 72| 100 1.1 28.2[ 70.7 - -k | 3.6] 185
(JrHX) L MR VA
e
2 |ER214E119H | 10:05|H 18.1| 18.1] 22| >SOMAVIE LUV |[Hikta WAL ARFER [ TY Y | & 62| 7.2 100 1.4| 20.1| 885 - -| K ke | 3.8 185
DYIBNIN VE AN
e
3 |"FEk21411H9H | 10:40|H 18.5| 184 24| >50[ L Rk [HkkE R KFRZ|TH U 68| 83| 100 1.0/ 16.2| 828 - -k | 31| 187
e
S
FE R B 1 |FRk214E11H9H | 11:50(i% 20.2| 19.1] 3.6 >50[v v MR [REE fitAb A& ArE R 71] 11.7] 100 o0.0] 1.1 989 - - IRk 5.2 19.3
(HEX) A
2 |ERR214E119H | 12:40|H 215 19.2| 36| >50|vv Mk |H fitfbkFR  |[HrE s R 75| 111 100 0.0 25| 97.5 - - |k 5.6/ 19.5
A
3 |FEk21411H9H | 13:00(H 215 19.1] 34| >50[v v Mk |HE bk Arev R 61| 16.1| 100 0.0 2.3| 97.7 - -[ IRk 39| 19.2
H A

14




> ML G L [ E= SN A =%
AR 214 BE R A BR BT A A Uk LI JEE
HJ5 - room | peon FETEORE O Ay | B | Jesy | RERR(%)  [RARE . R | EE
s | et B mmena | BN e |\ M Gpasng s @ A | A (et | R [ [ o |l B O e | v |
EifE ) [(C)| (m) | (cm) %) | (%) | (%) d (mg/g)| (mg/g) (m) | (C)
G EZ G 1 [FR%214E107 290 | 13:15|2 18.6] 184 2.4 BIZEDN TRk tE T B AR Bk, 31| 44 - - - - - Kkt 55 19.3
1) HEHEEL
2 |FA214£10 29 H | 13:55|% 18.9| 18.4| 2.4 -k v AR R R, B, 36| 88 - - - - - Kkt 41| 195
3 |"ER%214-10 H29 H | 14:35|2 20.2| 18.3] 25 -[RbTRR i3 gian) TR B ThA. 5’; 35/ 5.9 - - - - - (IRt 35| 194
N Rt | 1 |PPR21410 0291 | 9:45/% 183| 19.7| 55 -[JER ) i 5 RNEN Y 47) 58 e - - -[IKERRE | 14.2] 19.2
JHEAT 2 |ER%214210 H29 H | 10:25|= 18.9| 19.8) 5.1 -k P b AKS& INF Hdk 62| 9.8 - - - - -|IK ek a 14.8| 195
3 |'FA214£10 29 H | 10:48| %= 20.3| 19.6] 5.6 RHEEIN Ik tE T 5= ANENEY N 48| 74 - - - - -|IK Rk 13.9| 19.4
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B2
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2 |"ER%214210 H 20 H | 11:30[= 17.0| 146/ 0.9 3620k e JER el 68 - - - - - -|[ ke 59| 155
3 |"FEk214:10 H20H | 11:55|= 16.5| 144| 0.9 39[JEtk = JER 7oL 76 - - - - - -| R 6.0/ 15.3
BB [TE K P 1 [ERk214£10A20H | 9:25|fEH ~ 2 | 24.0] 225) 6.0 -|WPIR T 0 oG (IR R Hi 41| 46 - - - - -| 4 fn, 25.1 -
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2 |FEk21410 20 H | 10:12|fMs # 22 | 24.7| 22.7| 6.0 -|WPIR T 0 oG (IR R Hi 35/ 3.8 - - - - - | fh, 16.2 -
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3 [FEk21410 H 20 H | 10:34|i5Mf ~ 22 | 24.8| 225 55 -|WPIR T 0 oG (IR TR Hi 33| 35 - - - - - | fh, 11.4 -
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TR |4l Rk 1 [FRk214E1179H [ 13:20/2 19.3] 22.00 2.6] >50[UEdk JREA ik 35 2L 45] 217 >99 - - - - | 11.2] 21.0
2 |EA214E11H9H | 13:25|% 19.3| 22.00 2.6 >50[UEdk IR bk 2L 55| 13.9] >99 - - - -| et 11.2| 21.0
3 |Ep214E119H | 13:30[% 19.3| 22.00 2.6 >50[UEik JREA fifbkszR |72 L 51| 11.2] >99 - - - - 11.2| 21.0
—EI (YA ik 1 [*FRk214£10H 27 H | 11:50(iE 23.0[ 200 32 BFEEIN PR fitfbAk & Hik 59| 9.2 - - - - - 11.0 -
2 |FR214E104 27 H | 11:40|H5 23.0| 210 34 RHEEIN IR fitfbAk & Hik 60| 9.7 - - - - -k 12.0 -
3 |FA214£10 27 H | 11:10|H5 23.0] 21.0 31 -k JREA fifbAKFER | H 471 7.0 - - - - - R 85 -
SUERTT [RE)IEAigS | 1 |FpR214F10/] 29 H | 13:50|H 24.0] 205 >05 RIZIN IR TAE el 19] 0.9 - - - 08 - 0.4] 21.0
CrLh) 2 |FR214E10 29 H | 14:05|H5 24.0| 21.0 >0.5 SIZ2IN IR AR el 20 11 - - -l 08 - 0.5 21.0
3 |FR214£10 29 H | 14:50|H5 24.0| 21.0] >05 IE2IN IR E AR 7oL 19| 09 - - -l 15 - 0.5 20.0
KRB [RAVITA | 1 |Pik214F11 3190 | 8:33|% 9.0 132 1.4 46k TR At AK SR R [ h ) R 44| 272 - - - - - 35 20.2
(i) 2 |EA214E11 19 F | 10:45|/5 115 154 1.6 >50[JEdk LA SRR L KSR R (A 41| 177 - - - - -|IK Bk 9.4| 205
3 |"ER214E11H19H | 9:35|= 9.2| 13.8| 1.4 >50[¥Ridk TLE bR R [h R 44| 338 - - - - -|IKEE R 54| 20.6
PNTUPNT S 1 [‘VRk214°9H28H | 14:25(f5 298] 26.1] 2.0 98~ K (ki [Hifa fitf bk & 7oL 49| 11.3 50 - - - -|IK ek 12.0| 26.0
1) R
2 [FRk219-9H28H | 14:00(fE 305 25.8] 2.0 99~ Rue (fh|Hf bk 7oL 57| 16.3 61 - - - -|IK ke 13.0| 25.0
1) Ik
3 ['FRk219-9H28H | 14:50(fE 285 26.2| 2.0| >100[~ Fw (i |[Ee bk 7ol 60| 15.4 56 - - - -| Kk 13.0| 25.0
) Ik
ST (HERR TR 1 ["FRk214210 16 H | 11:20(/% 231 252 38 v MR SRR AL KRR |7 L 69 -| 100 - - - - |k 9 [ 230
2 |'FRk214:10H 16 H | 10:58|i 222 243 38 S|PV MR (R Wi b KFER |72 L 68 -| 100 - - - -|RE Rk 10 | 23.0
3 [Fp%214F10 16 H | 10:20|HE 21.1| 243| 4.0 [T MR | RERE IEhAL KRR |72 L 65 -| 100 - - - -|RE R 11 | 235
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iy it - . my & (cm A (g) w | BRI [ K2y (B

AT A AT A . BRI4EHA H il FEHEFN 4, (ERu R el i T ] T Al i | o) | o)
EFR LHEE (AT ah 1 |PER21I4E10H27H | B | 2794 0 A 122( 7B 82 ~ 8.7 84 281 ~ 37.1| 32.8| REH [#x & 823] 2.0
1) 2 [FEk21510H27H | HE| 270X A A 154 B 78 ~ 8.1 80| 258 ~ 382 304| RBH |# & 824 22

3 |21 10H27H | B | 27 XA 04 182| ~BH| 76 ~ 7.8 77 227 ~ 34.4| 282| A~ [#lxH 821 23

IHHE (7AFA) 1 |ERk214F12H18H | fkA TAFA 5| REH| 375 ~ 456 39.6] 5750 ~ 1,4409| 837.5| R~EH [Af&%| 786] 2.1

2 |‘Eri214E12H 181 | Ak TAFA 6| ~BH| 350 ~ 375 36.3| 576.6 ~  741.7| 658.8| ~BH [rf&HY 76.8] 2.4

3 |‘ERk214E12H 181 | A% TAFA 9f ~EH | 319 ~ 350 34.1| 4355 ~ 5828 506.6| ~BH [AT&HY 76.4| 2.4

WA [HTE (R X%) 1 [‘Frk2149H8H I A XX [IEBA | 442 ~ 495 476(1,446 ~ 1,687 [1,606 [4~5[maE 73.2] 37
2 |ERk21459H8H R AR ¥ 3[IEE | 450 ~ 478 46.7(1538 ~ 1,601 (1,563 4 |AT&ER 73.8] 3.6

3 |ERk2149H8H R AR ¥ 4| RE | 448 ~ 458 4521260 ~ 1,354 (1,311 4 |aT&ER 752 2.8

RoE (R (BEm) (= 1 |PER21411H13H | #8 oA 1| 56 56 2,450 (2,450 | B [FTEER 77.2] 1.4
1) 2 |[‘ERi214F11H 130 | A% aA 1| 60 60 2,850 (2,850 | AHH |AT&HER 73.0 1.9

3 [‘ER214E11H 130 | A% aA 1| Hk 51 51 2,350 (2,350 | 4B |rTEEN 78.4| 14

Bk (L7 x4 H 1 [PPRk21F11H13H | HE | 29 XA b A 238| ~BH 32 ~ 5.1 4.3 47 ~ 15.3 8.6| ~H [ =5 89.6] 0.7

1) 2 [PE21511A130 | HE | 270X A A 264| ~BH 32 ~ 5.1 41 30 ~ 14.1 75 A~ [# = 5 89.0] 0.7

3 [Pl 11A130 | HE| 714 1| 231 ~BH| 31 ~ 6.0 41 29 ~ 19.0 8.3| ~H] | = 5| 89.8] 0.7

JIRS T | i (R X% EE T EEIR R S 11 M | 315 ~ 348 325] 400 ~ 580 | 464 | AW [r&E| 743] 15
2 |ERk21411H3H | AE ARF 9| Mt | 349 ~ 395 365 460 ~ 750 | 610 | ~BA |[AT&EY 706| 1.1

3 |SERk2111H3H | AE 2R X 13| i | 285 ~ 340 317 340 ~ 540 | 425 | RBH[AT&uR 73.6] 2.0

srE R )T (Eris) 1 |ERk21%F118 10 | &k aA 1| 51 51 3,320 (3,320 5 [T 77 17
(zA) 2 |ERk214E11H1H | Ak aA 1| 52 52 3,190 |3,190 4 |nJREY 77 15

3 |ERk214E11H 1210 | Ak aA 1 40 40 2,590 [2,590 2 (TR 76 33

wEE (EBEWLE) (FGET) 1 [FErk2154H138 [ A% o7 A 20 M | 223 ~ 292 249] 1509 ~  316.7| 214.3| ~EA [Af&HE| 75.7] 3.1
(v 7A1) 2 |ERk2144H 130 | Ak 7 A 25| HE | 221 ~ 265 239| 1534 ~  2745| 196.8| ~HH [T &HY 75.1| 3.4

3 |ERk2144H 130 | Ak 7 A 20| Mt | 221 ~ 275 243| 1310 ~  246.4| 193.4| R~BH |Af&%Y 76.1| 3.2

KT | RBE (A X%) 1 [‘FErk2148H250 | Ak A XX 6| ~EH| 33.0 ~ 400 37.7] 850 ~ 1,042 | 935 | R~EAH[Af&FE 71.4] 37
2 |FRk214E8H25H | kA AR ¥ 5| ~BH | 375 ~  39.0 382 884 ~ 972 | 932 | A~BH[AT&HEY 732 3.4

3 |FERk21458H25H | kA AR ¥ 5| ~BH | 345 ~ 370 360 714 ~ 845 | 789 | R~BH |Aj&EN 73.4| 3.8

KB | RBEE (A X%) 1 [‘Erk2148H250 | Ak AR 5| REH| 375 ~ 39.0 382 884 ~ 972 | 932 | RHY[A[EEN - -
2 |FRk21458H25H | kA AR F 5| ~BH | 345 ~ 370 36.0| 714 ~ 845 | 789 | AHA [mIEE - -

3 |FRk214E8H25H | kA AR F 7| ~BH | 330 ~ 345 33.7| 608 ~ 666 | 644 | A~HY A& - -

e [ (R X3%) 1 |ERk214F12H 200 | AA A XX 3] # | 58 ~ 65 61 [1500 ~ 1,700 [1,600 | ~BA [aJ&&] 77.4] 05
2 |‘ERk214E12H 200 | A% AR ¥ 2| # | 58 ~ 64 61 |2,210 ~ 2500 [2,360 | ~BH |"J&F| 765 0.7

3 |ERk214E12H20H | A8 AR ¥ 3 Mt | 58 ~ 62 60 |1,800 ~ 2,400 [2,070 | ~BH |"J&E 75.3] 1.2

o fELE (R2) 1 |ERk214F10H 230 | AkA i 1] M | 46 ~ 46 46 [1,750 ~ 1,750 [1,750 |~ [af&# 72.1] 3.8
2 |*ER214E10H 2310 | A% N 1 RH| 42 ~ 42 42 (1200 ~ 1,200 |1,200 | ~BH |AT&H 76.7] 1.2

3 [‘ER214E10H 230 | A% N 1| ~#H| 41 ~ 41 41 |1,070 ~ 1,070 |1,070 | ~BH |Af&%N 76.4| 1.8

R E (RZ) 1 |ERk214F10B9F | AkA R 1] M | 43 ~ 43 43 [1550 ~ 1550 [1550 | ~BEA[af&# 76.1] 1.8
2 |[‘ERi214E10H9H | Ak N 1| R"BH| 40 ~ 40 40 |1,160 ~ 1,160 [1,160 | ~BAH |AJ&H 73.8] 4.6

3 |[*ER214E10H9H | A% N 1| # | 36 ~ 36 36 |1,080 ~ 1,080 [1,080 | ~BH |["J&EH 725 2.3
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b [AbEREER2ZE s [[21 27 Ay (B4 -« V7| 1 | Bakk |FR224:2H 2 H 10:15(IF 5.9 40 Nw 4.2 1.001
2 — (FLMET) =R NP % T |ER224E2 H3H 10:15(% -11.3 68 NW 17
2 | Ak | "FRk224-2 A 3H 10:30|5 -11.3 68| NW 1.4 1.002
% T |ER224E2 H 4R 10:30| & -6.8 39 NW 2.6
3 | BA#g |"FRk224-2 A 4H 10:45|i% -6.8 39 NwW 2.6 0.995
% T |ER224E2 H5 H 10:45|= -6.3 53| Sw 24
6] A Y 7rrrr7xL| 1 | BHts [FER22E2H 16 9:20|% 7.0 81| SE 1.0 8.79
M T |PERN224E2 A 17 H 9:10|= 5.3 57| SSE 1.0
2 | Baas |SER224E2H 17 H 9:15|% 5.3 57| SSE 1.0 8.86
T |FERk224F2H 18 H 9:05 M -4.2 68| ESE 2.6
3 | B4k |SERk224E2H 18 H 9:10(M% -39 69| ESE 3.6 8.50
%7 |PERN224E2 H19H 8:50|%& -1.7 83| SE 1.8
[FINN-P 7 m~F L 1 | pAts [FEEk214510 4 28 H | 10:00]H#E 12.6 39] NE 1.2 0.142
TV %7 |PER214E10 H 29 H | 10:00|= 14.0 67 S 0.5
2 | BAg | k214510 H 29 H | 10:10|= 14.8 62| SW 2.1 0.142
T |PERk214210H 30 H | 10:10(0G 13.0 57 N 25
3 | BAG | k214510 H 30H | 10:15(H5 13.0 56 N 3.0 0.142
%7 |PER214E10 A 31 H | 10:15|H 6.8 45  calm -
[12]11,23-FV 7o Zrs8| 1 | BAgs |PFA214E10 H 28 H | 10:00(HiF 12.6 39| NE 1.2 0.141
M %7 |PER214E10 H 29 H | 10:00|= 14.0 67 S 0.5
2 | BHks [FERK214F10H 29 F | 10:10(%% 14.8 62| SW 21 0.142
T |PERk214210 H 30 H | 10:10(0 13.0 57 N 25
3 | BAG | k214510 H 30 H | 10:15(H5 13.0 56 N 3.0 0.141
%7 |PER214E10 A 31 H | 10:15|H 6.8 45  calm -
rng [ALRmsAEmrZEar LR [[21 27 2> B4 -« V7| 1 | BHss |*FRR14:10H6H | 10:00] i 16.4 58] SE 2.4 1.00
) o AR ) T |ER214E10H7H | 10:00|= 14.5 53| NW 6.7
2 | BakG [PERk214£10H 7R | 10:00(% 14.5 53| Nw 6.7 110
%7 |PER214E10 A8 H | 10:00|= 11.6 61| ESE 0.7
3 | 45 |"ERC214E10H8H | 10:00|% 11.6 61| ESE 0.7 1.00
%7 |PERE214E10H9H | 10:00|/ 11.4 77 NNw 5.0
[8] 7 v Y — VR 1 | pAts [FERk214E10 60 | 10:00(HE 16.4 58/ SE 24 0.15
%7 |PERE214E10 A 7H | 10:00|= 14.5 53| NW 6.7
2 | BAsg | FRk214510H7H | 10:00|= 14.5 53] NW 6.7 0.15
%7 |PER214E10 A8 H | 10:00|= 11.6 61| ESE 0.7
3 | 45 |"ERC214E10H8H | 10:00|%2 11.6 61| ESE 0.7 0.15
%7 |PERE214E10H9H | 10:00(/ 11.4 77 NNw 5.0
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oY) T |PERK214E11H 190 | 10:25(0 7.3 58| SSE 0.4
2 | BAG | k214511 H 19 H | 10:30(HG 7.3 58| SSE 0.4 1.01
T [FER214E11 H20H | 10:30|0E 6.8 60| NW 1.3
3 | BAG | k214511 H20H | 10:35(H5 76 58 NW 0.4 1.01
% T | ER214E11 H 21 H | 10:35|0F 11.7 60| WNW 04
[38] 7 v — /L3 1 | BA%g [ERk214E12H8H | 10:00(/E 8.0 50| calm - 0.142
% T |ER214E12 H9H | 10:00(0G 8.2 52| calm -
2 | BHas |FERC214E12H9H | 10:15]| 85 48|  calm - 0.142
% T [FER214E12 H10H | 10:15(0G 6.4 50 N 2.0
3 | Bkh |PRR214E12H 101 | 10:27 | 7.0 50/ N 20 0.142
T [TER214E12 H11H | 10:27|= 6.3 75 calm -
[6] P4 YT rErr 7 x| 1 |Bith|FR214E12H8H | 10:00(HF 8.0 50| calm - 4.25
M % T |ER214E12 H9H | 10:00(0E 8.2 52| calm -
2 | BHas |FERC214E12H9H | 10:15]| 85 48| calm - 4.25
% T [FER214E12 H10H | 10:15(0G 6.4 50 N 2.0
3 | BAsG | k214512 H10H | 10:27 |15 7.0 50 N 2.0 4.25
T [TER214E12 H11H | 10:27|= 6.3 75  calm -
[(INN-T 7 a~F L 1 | BaAg |FERk214712 H8H | 10:00]IH 8.0 50 calm - 0.142
T % T |ER214E12 H9H | 10:00(0E 8.2 52| calm -
2 | BEas |FERC214E12H9H | 10:15] 85 48|  calm - 0.142
% T |ER214E12 H10H | 10:15(0G 6.4 50 N 2.0
3 | BAG | k21412 H 100 | 10:27 |15 7.0 50 N 2.0 0.141
T [TER214E12 H11H | 10:27|= 6.3 75 calm -
[12]123-F U7 mw7 a8 1 | Biks | PFA21-12H8H | 10:00(H5 8.0 50[ calm - 0.141
M % T |ER214E12 H9H | 10:00|0E 8.2 52| calm -
2 | BHas |FERC214E12H9H | 10:15]| 85 48|  calm - 0.141
% T |ER214E12 H10H | 10:15(0G 6.4 50 N 2.0
3 | BAG | k214512 H 10H | 10:27 |15 7.0 50 N 2.0 0.142
T [TER214E12 H11H | 10:27|= 6.3 75| calm -
KRR KRR SB 7 HEREREE L (202 2 & 4 V7| 1 | Bakg |FFR21412 10 | 10:00|iF 12.3 65 N 2.0 0.991
A — (L) o EARE V) T |ER214E12 H2H | 10:00|0E 10.3 72 S 1.2
2 | BAG | k214512 H2H | 10:00(HG 10.3 72 S 1.2 0.991
% T |ERk214E12 H3H | 10:00(F 8.3 96| calm -
3 | Bgas |FER214E12H3H | 10:00(/9 8.3 96| calm - 0.991
% T |ER214E12 H4H | 10:00(0G 12.0 68 N 1.0
[8] 7 v Y — VR 1 | pEns [FEEk214E12 18 | 10:00(H/E 12.3 65 N 2.0 0.142
% T [FER214E12 H2H | 10:00|0E 10.3 72 S 1.2
2 | BAsg | k214512 H2H | 10:00(H5 10.3 72 S 1.2 0.142
% T |ERk214E12 H3H | 10:00(/ 8.3 96| calm -
3 | Bgas |FER214E12H3H | 10:00(/9 8.3 96| calm - 0.142
T |PERk214E12 40 | 10:00 (0 12.0 68 N 1.0

20



SRR 214 B AR AR BR B ol A SRR U KA
L= yE JE EE N =y B
PN e W Bl | mmwan | K LR | me | s |
[6] P4 YT rErr7 x| 1 |Bith|FR214E10H 28 H | 10:00(HF 19.4 70 ESE 18 4.42
e T |PERK214E10 H 29 H | 10:00 (WG 20.4 76| W 11
2 | BAG | FRk214510H 29 H | 10:00(H5 20.4 76| W 11 4.38
T |PERk214210H 30 H | 10:00 (0 21.5 76| SW 11
3 | BAG | k214510 H 30 H | 10:00(H5 21.5 76| SW 11 4.38
w7 |PERk214510 H 31 H | 10:00(0 18.9 80| NE 5.9
[7INN-VY 27 m~Fx il 1 | pEts [FEEk214E12 18 | 10:00(/E 12.3 65 N 2.0 0.141
7T T |PERk214E12H 20 | 10:00 (0 10.3 72 S 1.2
2 | BAG | FRk214512H2H | 10:00(HG 10.3 72 S 1.2 0.142
% T |ER214E12 H3H | 10:00(F 8.3 96| calm -
3 | B4s |FFA214E12H3H | 10:00(/ 8.3 96| calm - 0.142
T |PERk214E12 40 | 10:00(0 12.0 68 N 1.0
[12]11,23-F V7 o781 | Bigs |PFR214E12H1H | 10:00(H 12.3 65 N 2.0 0.142
v T |PERk214E12 02 | 10:00 (0 10.3 72 S 1.2
2 | BAG | FRk214512H2H | 10:00(HG 10.3 72 S 1.2 0.142
% T |ER214E12 H3H | 10:00(/ 8.3 96| calm -
3 | B4s |FFAk214E12H3H | 10:00(/ 8.3 96| calm - 0.142
% T |ER214E12 H4H | 10:00|05 12.0 68 N 1.0
HER [BERBERZEEREY [B1Z7Lv Y —1M 1 | pins [FPEk214E11 A 17 | 10:00{/ 8.5 87| NNwW 15 0.141
X — (NZET) % T |ER214E11 A 18 H | 10:00(HG 12.5 64| NW 2.4
2 | BAG | FRk214E11H 18 H | 10:22|HG 125 64 NW 24 0.141
W% T |[ER21I4E1LA 191 | 10:22]|= 7.2 60| NW 2.2
3 | BHks [EAK214F11H 19 H | 10:36| 4% 72 60| Nw 22 0.141
T |PER214E11H 20 H | 10:36 |0 10.2 55 N 0.8
[6] P4 Y TuEenrFr 7 x| 1 |Bith |FR214E10H27H | 9:50(0 21.7 41w 2.6 4.27
M T |ER214E10 H 28 H | 9:50|0F 17.9 56| calm -
2 | Bd4s |SFA214E10H 28 H | 9:57 | 17.9 56| calm - 4.24
% T |ER214E10 H29H | 9:57|0F 17.9 59 W 1.4
3 | BAG | k214510 H 29 H | 10:00(H5 17.9 59 W 1.4 4.25
T |ER214£10 H 30 H | 10:00|H5 19.0 59| NW 0.6
[7INN-V> 27 m~F il 1 | pAns [FPEk214E11 A 17 | 10:00{/ 85 87| NNwW 15 0.144
7T T |PERk214E11H 18 H | 10:00 (W 125 64 NW 2.4
2 | BAG | k214511 H 18 H | 10:22|H5 125 64 NW 24 0.147
T |PERR215E11H 191 | 10:22|= 7.2 60 NW 2.2
3 | 4G |"ER214E11H 190 | 10:36|% 7.2 60| NW 2.2 0.148
% T | ER214E11 H 20 H | 10:36|HF 10.2 55 N 0.8
[12]11,23-FV 7z o7 8| 1 | Bags |PFRK214E11H 17H | 10:00|[W 8.5 87| NNwW 15 0.142
e T |PERk214E11H 18 H | 10:00 (WG 125 64 NW 2.4
3 | BAsG | FRk214E11H 18 H | 10:22|H5 125 64 NW 24 0.142
% T |ER21I4E1L A 191 | 10:22]|= 7.2 60| NW 2.2
2 | BHAs [FERK214F11H 19 H | 10:36| 4% 72 60| Nw 22 0.142
T |PERK214E11H 20 H | 10:36 |0 10.2 55 N 0.8
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ST RR2LAF BB T BRI o
X

5 .
AR 0 Mt G Biflwm | someEnn |we K S| mE L | R R
THEWR TR —REREERSME ([21 7 A~ G4 A7 1 | Bk k214510426 H | 9:00[/ (C1)4 = o) ur
Jey (i) oEANE L) %7 |SERk214E10 H 27 B 8:50 H%H% 21:2 3? \I/\\l/ Z; 0%
2 | 45 |SERC214E10H 27 H | 9:00|PRhif 21.3 73 W 6.2 0.992
w [ER21E10 82810 | 8:50( 169 74| ENE 0.9 '
3 | BAG | k214510 H 28 H | 9:00(HE 17.3 73| ENE 0.9 0.993
_ %7 |PER214E10H29H | 8:50|= 14.7 91| NNwW 1'3 '
[8] 7 v Y — VB 1 | pEts [FERk214E11H 240 | 9:50(% 12.4 73] NW 17 0.142
%7 |PER214E11H 250 | 9:50|= 11.8 89 NE 0'4 '
2 | 45 |"ERC214E11H 250 | 10:00|%2 12.1 90| NE 0.4 0.142
T |PERk214E11H 26 H | 10:00 (0 15.0 69| NE 14 '
3 | BAG | FRk214511H 26 H | 10:05(H5 15.3 68| NE 14 0.142
_ T |PER214E11H 27 H | 10:05 (0 14.6 69| SW 0.2 '
[6] >4 Y FuvrF7xL| 1 |Bis |PFR214E11H1TH | 10:07|W 11.8 81 N 26 4.00
M %7 |PER214E11H 18H | 9:52|= 11.4 81| NNE 3'2 '
2 | BAg | FRk214E11H 18 H | 10:12|= 1.1 86| NNE 3.2 4.27
wor ER2UE1LA 190 | 9561 8.4 76| NNE 2.9 '
3 | BAg | FRk214F11H 191 | 10:12|/ 8.2 81| NNE 2.9 3.98
_ T |PERR214E11H 20 0 | 10:00 | 12.6 67| NE 3.0 '
[7INN-V> 27 m~Fx L 1 | pAns [FERk214E11H 240 | 9:50(H% 12.4 73] NwW 17
TV %7 |PER214E11H 25H | 9:50|= 11.8 89 NE 0'4 o2
2 | 45 |"ERC214E11H 250 | 10:00|%2 12.1 90| NE 0.4 0.141
T |PERk214E11H 26 H | 10:00 (W 15.0 69| NE 14 '
3 | BAG | k214511 H 26 H | 10:05(HG 15.3 68| NE 14 0.141
T |PER214E11H 27 H | 10:05 (0 14.6 69| SW 0.2 '
[12]11,23-FV 7o 8| 1 | Bags |PFRK214E11H 17H | 10:07|W 11.8 81 N 26 0.141
M %7 |PER214E11H 18H | 9:52|= 11.4 81| NNE 3'2 '
2 | 45 |"ERC214E11H 18 H | 10:12|% 1.1 86| NNE 32 0.141
w ER21IE1LA 190 | 9561 8.4 76| NNE 2.9 '
3 | BAg | FRk21411H 191 | 10:12|/ 8.2 81| NNE 2.9 0.141
ANy . Mg : '
SR R T R T T e e i o i 5885 NE i
HX) o e B L) T [FER2UELLALLE | 1112 16.6 9| Nw 5; o
2 | BAg | FRk214E11H 110 | 11:15|/F 16.6 90| NW 5.2 0.987
%7 |PER214E11A 120 | 11:17|= 14.2 60 NE 4.6 '
3 | BAG | k21411 H 120 | 11:25|= 14.2 60| NE 46 0.977
_ %7 |PER214E11H 130 | 11:20|= 12.4 67 NNw 4'0 '
[8] 7 v Y — VB 1 | pAts [PERk214E11 A 100 | 11:11(/E 19.8 59| NE 11 0.144
wor PERRUEILA 1A | 1111/ 166 9| Nw 5.2 '
2 | B | k21411 H 110 | 11:15|/ 16.6 90| NW 5.2 0.150
%7 |PER214E11A 128 | 11:17|= 14.2 60 NE 4.6 '
3 | BAG | k21411 H 120 | 11:25|= 14.2 60| NE 46 0.157
%7 |PER214E11H 131 | 11:20|= 12.4 67| NNw 4:0 '
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AR 214F FE R AR BR B AR A SR I KA
V==l YA {F N b R=A
IR A AR BT B s | mavenn | R - ‘”(E%/% A (kan% j‘ﬂ(ffgfyi
[6] P4 YT rErF 7 x| 1 |Bith|FR214E11H10H | 11:11(0G 19.8 59| NE 11 4.24
N %7 PER214E11A 113 | 11:11| [ 16.6 90| NW 5.2
2 | B | FRk214E11H 110 | 11:15|/F 16.6 90| NW 5.2 4.22
%7 PER214E11A 120 | 11:17|= 14.2 60 NE 46
3 | BAg | k21411 H 120 | 11:25|= 14.2 60| NE 46 4.15
%7 |PER214E11H 131 | 11:20|= 12.4 67| NNw 4.0
[7INN-V> 27 m~F il 1 | pts [PERk214E11 A 100 | 1111/ 19.8 59| NE 11 0.147
7TV T |PERR21I4E11 A 11E | 11:11|/ 16.6 90| NW 5.2
2 | B | FRk214E11H 110 | 11:15|/F 16.6 90| NW 5.2 0.157
%7 |PER214E11A 120 | 11:17|= 14.2 60 NE 4.6
3 | BAg | k21411 H 120 | 11:25|= 14.2 60| NE 46 0.162
%7 |PERG214E11H 130 | 11:20|= 12.4 67| NNw 4.0
[12]11,23-FV 7 ou 7 8| 1 | BAgs |PFR214E11H 10H | 11:11(05 19.8 59| NE 11 0.142
N %7 PERG214E11A 113 | 11:11| [ 16.6 90| NWwW 5.2
2 | BAg | FRk214E11H 110 | 11:15|/F 16.6 90| NW 5.2 0.143
%7 |PER214E11A 120 | 11:17|= 14.2 60 NE 4.6
3 | BAg | k21411 H 120 | 11:25|= 14.2 60| NE 46 0.148
%7 |PERG214E11H 131 | 11:20|= 12.4 67| NNw 4.0
TN AL 217 2> GBl& 47| 1 | Bish |FR21411H30H [ 10:02[f 22.3 93] Nw 2.1 0.993
o AR Y ) T |ERk214E12 H1H 9:55| % 23.1 91| NwW 2.1
2 | A | FRk214E12H1H | 10:03|= 23.1 91| NwW 2.1 0.999
% T |PER214E12 A 2 H 9:53| [ 215 96| ENE 31
3 | BAg | FRk214£12H2H | 10:00|/ 215 96| ENE 3.1 0.993
%7 |PER214E12 A 3H 9:55|= 24.9 96| SSW 2.9
[8] 7 v Y — VB 1 | pAns [FPEk214E11 A 30 | 10:02[/ 22.3 93] Nw 2.1 0.147
% T |PER214E12 A 1H 9:55(= 23.1 91| NW 2.1
2 | BAg | FRk214E12H1H | 10:03|= 23.1 91| NwW 2.1 0.146
W% T |PERG214E12 A 2 H 9:53| [ 215 96| ENE 31
3 | BAg | FRk214£12H2H | 10:00|[ 215 96| ENE 3.1 0.147
%7 |PER214E12 A 3H 9:55|= 24.9 96| SSW 2.9
PN ENERER R 2 — |[21 7 2> G4 A4 Y7 1 | BAsh |FAK214128H | 10:00(iF 10.0 40 NE 25 0.888
(CF&) =R GNP %7 |PER214E12 H9H | 10:00|= 10.9 55/ NNW 1.2
2 | BAg | FRk214E12H9H | 10:10|= 10.9 55 NNE 1.2 1.03
T |PERk214E12 100 | 10:10(0E 12.6 56| ENE 34
3 | BAG | k214512 H 10H | 10:20(H5 12.6 56| ENE 34 1.08
T |PERk214E12 H 110 | 10:20(/ 7.7 90| NNE 1.3
[8] 7 v Y — VR 1 | pAts [FEEk214E12 81 | 10:00(HE 10.0 40| NE 2.5 0.143
%7 |PERG214E12 H9H | 10:00|= 10.9 55/ NNW 1.2
2 | BAg | k21412 H9H | 10:10|= 10.9 55| NNE 1.2 0.141
T |PERk214E12 100 | 10:10(0G 12.6 56| ENE 3.4
3 | BAG | k214512 H 10H | 10:20(HG 12.6 56| ENE 34 0.143
T |PERk214E12 110 | 10:20(/ 7.7 90| NNE 1.3
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AR 214F FE R AR BR B AR A SR I KA
5 g o R | - SR 1 A | KRB EUE
{&ﬁéﬁi Fﬂﬁimm ﬁﬁ%ﬁ)@%% =4 %7%" T\?KEAX Bkﬂyﬂaﬂ H H%EZIJ f{% (OC) (%) E\l‘ﬁlﬂ (m/S) (m3)
[6] >4 Y FuEerFr 7 x| 1 |Bith|FR214E12H8H | 10:00(HF 10.0 40| NE 2.5 3.15
e T |PERk214E12H9H | 10:00| 2= 10.9 55| NNW 1.2
2 | BAG | k214512 H9H | 10:10|= 10.9 55 NNE 1.2 4.23
%7 |PERE214E12 H 10H | 10:10|HF 12.6 56| ENE 34
3 | BAG | k214512 H 10H | 10:20(H5 12.6 56| ENE 34 4.19
T |PERk214E12 H 110 | 10:20(/ 7.7 90| NNE 1.3
[7INN-V 27 m~F L 1 | pAts [FEEk214E12 81 | 10:00(HE 10.0 40| NE 2.5 0.142
TV %7 |PER214E12 H9H | 10:00|= 10.9 55/ NNwW 1.2
2 | BAg | k21412 H9H | 10:10|= 10.9 55 NNE 1.2 0.147
%7 |PER214E12 A 10H | 10:10(HF 12.6 56| ENE 34
3 | BAG | k214512 H 10H | 10:20(HG 12.6 56| ENE 34 0.144
T |PERk214E12 H 110 | 10:20(/ 7.7 90| NNE 1.3
[12]11,23-FV 7 o738 1 | Bags |PFR214E12H8H | 10:00(H 10.0 40| NE 25 0.143
M %7 |PERE214E12 H9H | 10:00|= 10.9 55/ NNwW 1.2
2 | BAG | FRk214E12H9H | 10:10|= 10.9 55| NNE 1.2 0.144
T |PERk214E12 ) 10H | 10:10(0G 12.6 56| ENE 34
3 | BAG | k214512 H 10H | 10:20(HG 12.6 56| ENE 34 0.147
T |PERk214E12 H 110 | 10:20(/ 7.7 90| NNE 1.3
LR AR REREE 2 — [[2127 A2 G4 4 V7| 1 | Bk |*FR14:10H20H | 9:55(f 16.5 53| WSW 9 1.02
(&R ) oL Y) %7 |PERE214E10 H21H | 9:55|HF 20.0 48[  sw 5
2 | BAG | FRk214510H 21 H | 10:00(H5 20.0 48] sw 5 1.03
T |PERk214E10 H 22 H | 10:00 (0 19.1 60| ENE 6
3 | BAG | k214510 H 22 H | 10:05(H5 19.1 60| ENE 6 1.03
%7 |PER214E10 H 23 H | 10:05|HF 19.0 56 W 1
[8] 7 v Y — VR 1 | pins [FPEk214510 A 20 H | 10:10(/ 16.5 53| WSW 9 0.146
T |PERK214E10 H 21 H | 10:10(0G 20.0 48] SW 5
2 | BAG | FRk214510H 21 H | 10:15(H5 20.0 48] sw 5 0.147
T |PERK214E10 H 22 H | 10:15(0 19.1 60| ENE 6
3 | BAG | k214510 H 22 H | 10:20(H5 19.1 60| ENE 6 0.148
T |PERK214E10 H 23 H | 10:20 (0 19.0 56| W 1
[6] P4 Y Fuverrt7xL| 1 |Bis | FR214E10H20H | 10:25|[W 16.5 53| WSW 9 4.39
M %7 |PER214E10 H 21 H | 10:25|0F 20.0 48[  SwW 5
2 | BAg | FRk214510H 21 H | 10:30(HG 20.0 48] sw 5 4.40
%7 |PER214E10 H 22 H | 10:30(HE 19.1 60| ENE 6
3 | BAG | k214510 H 22 H | 10:35(H5 19.1 54 E 6 443
%7 |PER214E10 H 23 H | 10:35(0F 19.0 50| WNW 2
[FINN-v 7 m~F 1 1 | BHAG [PFR219F11H 17H | 9:30([W 8.6 77| calm - 0.185
TV %7 |PERG214E11H 18H | 9:30|/ 7.1 74 E 2.0
2 | BAg | FRk214E11H18H | 9:35|/ 71 72 E 2.0 0.142
%7 |PER214E11H 190 | 9:35|= 10.3 62 W 2.2
3 | BAG | FRk214E11H19H | 9:40|= 10.3 62| W 2.2 0.141
%7 |PER214E11H 200 | 9:40|HF 9.7 70 E 0.8
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SRR 214 B AR AR BR B ol A SRR U KA
L= yE JE EE N =y B
PN e WA RWE Bl | mmwan | Hf i vl VO X ﬂ(;gfyi
[12]123-h Yz mura | 1 | Bk [FFR21E11H17H | 9:30[[ 8.6 77| calm - 0.142
M % T |ERk214E11H18H | 9:30(/ 7.1 74 E 2.0
2 | BAg | FRk214E11H18H | 9:35|/ 71 72 E 2.0 0.142
% T [TER21I4E11H 190 | 9:35|= 10.3 62 W 2.2
3 | BAsG | FRk214F11H19H | 9:40|= 10.3 62| W 2.2 0.142
T [ER214E11H20H | 9:40|HF 9.7 70 E 0.8
ERE (EBRBERSMIT (B[22 4> GBl& a4 V7| 1 | Bith [FK21410H27H | 10:00([ 14.6 86] ENE 2.6 0.991
FP7f7) gL E ) T | ERk214510 A 28 H | 10:00| & 12.4 81| ENE 2.4
2 | Bag |PERE214E10 28 H | 10:20| i 12.4 81| ENE 2.4 0.991
T |PER214E10H 29 H | 10:20 (WG 1.1 87| SE 1.2
3 | BAG | FRk214510H 29 H | 10:40(H5 1.1 87| SE 1.2 0.991
#7 |ERK214E10H 30 H | 10:40(0 14.6 75|  SSwW 26
[8] 7 v Y — VR 1 | pAns [FEEk214510 A 27 H | 10:00{/ 14.6 86| ENE 2.6 0.142
T |ERR214£10 A 28 H | 10:00 [ 12.4 81| ENE 2.4
2 | Bag |PERE214210 28 H | 10:20| i 12.4 81| ENE 2.4 0.142
T |PER214E10H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | BAG | FRk214510H 29 H | 10:40(H5 1.1 87| SE 1.2 0.142
7 |ERK214E10H 30 H | 10:40(HG 14.6 75|  SSW 26
[6] >4 Y Fuvrr7xL| 1 |Bis |PFR214E10H 27 H | 10:00|[W 14.6 86| ENE 2.6 4.25
e 7 |ERR214£10 A 28 H | 10:00 [ 12.4 81| ENE 2.4
2 | 45 |"ERC214E10 H 28 H | 10:20] Fhif 12.4 81| ENE 2.4 4.25
T |PERK214E10 H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | BAG | k214510 H 29 H | 10:40(H5 1.1 87| SE 1.2 4.25
7 |ERK214E10H 30 H | 10:40(HG 14.6 75  SSwW 26
[7INN-VY 27 m~F il 1 | pA%s [FPEk214510 A 27 B | 10:00{/ 14.6 86| ENE 2.6 0.142
TV 7 [ERR214£10 A 28 H | 10:00 [ Hy 12.4 81| ENE 2.4
2 | Bag |PERE214E10 28 H | 10:20| i 12.4 81| ENE 2.4 0.141
T |PERK214E10 H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | BAG | k214510 H 29 H | 10:40(H5 1.1 87| SE 1.2 0.142
7 |ERK214510H 30 H | 10:40(HG 14.6 75|  SSW 26
[12]11,23-FV 7z o7 8| 1 | Bags |PFRX214E10H 27 H | 10:00|[W 14.6 86| ENE 2.6 0.142
e 7 [ERR214£10 A 28 H | 10:00 [ H 12.4 81| ENE 2.4
2 | Bag |PERE214E10 28 H | 10:20| i 12.4 81| ENE 2.4 0.142
T |PERK214E10 H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | Btk [ERk214510 A 29 H | 10:40(#E 1.1 87] SE 12 0.141
T |PERK214E10H 30 H | 10:40(HG 14.6 75| SSw 2.6
I B R i BRI EBRBERT 22T (% [[6] o4 Y 7 e aF 72 L 1 | Bakg [*FAk214-10H 27 A | 10:00]F 215 41w 45 4.24
IR ) N T [ER214£10 H 28 H | 10:00|HE 18.3 49 w 0.2
2 | BAg | k214510 H 28 H | 10:10(HG 19.4 51| W 0.2 4.24
T |PERK214E10 H 29 H | 10:10(0 20.6 1 W 0.2
3 | BAG | k214510 H 29 H | 10:15(H5 20.5 49w 0.2 4.25
T |PERK214E10H 30 H | 10:15(0 20.5 57w 1.2
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5 - g o R | - SR i i A | KRB EUE
{&ﬁéﬁi ﬁﬁﬁim)f—i ﬁﬁ%ﬁ)@%% =4 %7%" T\?KEAX Bkﬂyﬂaﬂ H H%EZIJ f{% (OC) (%) E\l‘ﬁlﬂ (m/S) (m3)
[7INN-P 7 m~Fi L 1 | pAts [FERk214E10 4 27 B | 10:00]HE 21.5 41w 45 0.142
7T T |PERk214E10 H 28 H | 10:00 (W 18.3 49| W 0.2
2 | BA4S ["FRk214-10H 28 H | 10:18 i 19.4 51 W 0.2 0.142
T |PER214E10 H 29 H | 10:18(0G 20.6 51 W 0.2
3 | BAG | FRk214510H 29 H | 10:28|H5 20.5 49 W 0.2 0.142
7 |PER214E10H 30 H | 10:28(0 20.5 571 W 1.2
[12]11,23-F V7 ow 7,8 1 | BiAgs |PFRX214E10 H 27 H | 10:00(HiF 21.5 41w 45 0.142
v T |PERk214E10 H 28 H | 10:00 (W 18.3 49| W 0.2
2 | BAG | k214510 H 28 H | 10:18|H5 19.4 51| W 0.2 0.142
T |PERK214E10H 29 H | 10:18(0G 20.6 51l W 0.2
3 | BAG | k214510 H 29 H | 10:28|H5 20.5 49 W 0.2 0.142
7 |PER214E10H 30 H | 10:28(0 20.5 571 W 1.2
R | TREEMAR (BHE |[217 A B4 4 V7| 1 | Bk [FR214:11H 24 H | 11:06 (& —Fig 12.0 76] NNE 17 1.03
) oL Y) %7 |PER214E11H 250 | 10:11|F8— R 13.8 63| WNW 31
2 | BHAE | SER214E11H 25 0 | 10:14 |1 — K= 13.8 63| WNW 31 1.01
T |PERk214E11H 26 H | 10:20 (0 13.7 60| NW 1.9
3 | Basg |PERk214E11H 26 0 | 10:22| I 13.7 60 NW 1.9 1.07
% T | ER214E11 H 270 | 10:13 |5 e = 14.3 63| NNwW 1.7
[8] 7 v Y — VB 1 | Bk [FERR21EE11 A 24 | 11:11| 2 — R 12.0 76| NNE 17 0.165
%7 |PER214E11H 250 | 10:29|F — RF: 13.8 63| WNW 3.1
2 | BHAE | ER214E11H 25 H | 10:32|iE — Rz 13.8 63| WNW 31 0.140
T |PERk214E11H 26 H | 10:29 |0 13.7 60| NW 1.9
3 | BAkG | FRk214E11H 26 F | 10:32| Pkl 13.7 60| Nw 19 0.110
T | ER214E11 H 270 | 10:13 |5 e = 14.3 63| NNwW 1.7
[6] P4 Y TuErF7xL| 1 |Bis |PFR214E11H17H | 10:45|W 9.2 78] NW 33 371
M % T |ER214E11 H 18 H | 10:30|= —KF & g 10.1 50 NW 3.8
2 | BAG | k214511 H 18 H | 10:32|HG 10.1 50 NW 3.8 451
% T | ER214E11H 190 | 10:18|HF e = 10.5 54| NW 35
3 | B |PER21EE11H 190 | 10:22| 21 — Rl 10.5 54| NW 35 4.48
T |ER214E11 H 20 H | 10:20 |G 135 43 Nw 4.1
[FINN-P 27 g ~Fi L 1 | pAns [FPEk214E11 A 17H | 11:26]/ 9.2 78] NwW 3.3 0.167
TV % T | ER214E11H 181 | 11:07|= —FFR &g 10.1 50 NW 3.8
2 | BAG | k21411 H 18 H | 11:12 |15 10.1 50 NW 3.8 0.169
% T | ER214E11H 190 | 10:51 (e = 10.5 54| NW 35
3 | B |PER215E11H 190 | 10:57| 2% — i 105 54| NW 35 0.173
% T |ER214E11 H20H | 10:30 1A 135 43 Nw 4.1
[12]11,23-FV 7o 7o 8| 1 | Bags |PFRA214E11H 17H | 11:10|W 9.2 78] NW 33 0.206
M % T | ER214E11 H 18 H | 10:39|= —KFf &g 10.1 50 NW 3.8
2 | BAG | ERk214E11 H 18 H | 10:57 |1 10.1 50 NW 3.8 0.162
% T | ER214E11H 190 | 10:28|H5 e = 10.5 54| NW 35
3 | BaAG |PER21EE11H 190 | 10:43| 2% — Rl 105 54| NW 35 0.135
% T | ER214E11 H 20 H | 10:23 (1A 135 43 Nw 4.1
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SRR 214 B AR AR BR B ol A SRR U KA
L= yE JE EE N =y B
PN e WA RWE Bl | mmwan | Hf i vl VO jm(;gfyi
=EIR | CEBREREMZET (WU (|[2127 A B4 o« V7| 1 | Bk [FR21411510H | 11:38|& 17.5 43| NNE 2.0 0.983
Him) oL Y) % T | ER214E11 A 118 | 11:33/ 18.6 67 S 1.1
2 | Bag |PER214E11LH 11 | 11:38)/h 18.6 67 S 11 1.05
% T [TER21I4E1L A 128 | 11:57|= 15.8 29| NNw 5.0
3 | pgas |FER214E11H 120 | 12:01]% 15.8 29 NNW 5.0 1.06
% T | ER214E11 H 13 H | 12:00|= 14.3 45 WSW 2.5
[8] 7 v Y — VB 1 | pEts [FERk214E10H 190 | 8:45[HE 17.9 73 N 1.0 0.144
% T |ER214E10 H20H | 8:45|= 17.6 90| NE 0.9
2 | BAsG | FRk214510H20H | 8:45|= 17.6 90| NE 0.9 0.140
T |ER214E10H 21 H | 8:45(1kAG 184 65| W 0.9
3 | BAkG | FRR214E10H 211 | 8:45| ki 18.4 65| W 0.9 0.141
T |ER214E10H 22 H | 8:45| 1R AG 19.8 62| NW 21
[6] P4 Y FrErr7 x| 1 |Bith|"FR214E11H10H | 9:47|% 16.5 68 NNE 0.7 431
M %7 |PER21E11LA 118 | 9:47)/D 18.1 95 N 0.8
2 | Bk |PERE21EE1LH11H | 9:48|/h 18.1 95 N 0.8 431
% T [TER21I4E1LA 120 | 9:48|= 15.1 62| NNw 1.8
3 | pgas |FER214E11H12H | 9:50|% 15.1 62| NNW 18 4.32
%7 | ERk214E11H 138 | 9:50)/N 13.8 91| Wsw 1.0
[7INN-V> 27 m~Fx L 1 | pEts [FERk214E11H 100 | 9472 16.5 68 NNE 0.7 0.144
TV T |PER21E11LA 118 | 9:47)/D 18.1 95 N 0.8
2 | Bk |PERE21EE1LH11H | 9:48|/h 18.1 95 N 0.8 0.144
W% T |ER21IEILA 120 | 9:48|= 15.1 62| NNw 1.8
3 | BAG | k21411 H12H | 9:50|= 15.1 62| NNW 18 0.144
%7 | ERk214E11 138 | 9:50)/N 13.8 91| Wsw 1.0
[12]1,23-FV 7 oo 7ra]| 1 |Bits [FR21E11A2A 9:50| PRI 18.9 58 SW 2.9 0.142
e T |PERk214E11H3H | 10:00 (0 10.6 47 N 0.8
2 | BAg | k214511 H3H | 10:00(H5 10.6 47 N 0.8 0.139
% T |ER214E11H 4 | 10:00 (1A 13.0 58] W 1.0
3 | B |PERk214E11H4H | 10:00| s 13.0 58] W 1.0 0.149
% T | ER214E11H5H | 10:00|= 12.3 70 N 11
T [T R 17 x> B4 A4 Y7 1 |Bith [FE214F11 101 | 10:04|% 19.3 62| ENE 11 0.937
o AR Y L) T |PERK214E11H 118 | 10:04|/ 17.9 85 SW 0.9
2 | BAg | FRk214E11H 115 | 10:35|/ 18.2 791 NW 15 0.981
T |PERR214E11H 12 0 | 10:23 (0 15.6 50 NNE 3.0
3 | Bkh |PRK214E11H 120 | 10:33|HE 15.6 49| NNE 4.8 101
T |PERk214E11H 130 | 10:33|/ 14.7 67| ENE 1.8
[3] 7 v — L3 1 | pts [FERk214E11 4 100 | 10:04|2 19.3 62| ENE 1.1 0.144
T |ER214E11H 118 | 10:04(F 17.9 85| SW 0.9
2 | BAg | FRk214F11H 115 | 10:35|/ 18.2 791 NW 15 0.141
T |PERR214E11H 120 | 10:23 (0 15.6 50 NNE 3.0
3 | Bth [ERk214E11H 12 H | 10:33(#EF 15.6 49| NNE 4.8 0.147
T |PERk214E11H 130 | 10:33|/ 14.7 67| ENE 1.8
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RS2 I BR B A A B UL R B K=

Y =| JH HE > = =
PN A A G Biflwm | someEnn |we Kl gy ‘”(E%/% e (kan% x ﬂ(;gfyi
KBAF | RPJFBRBEEAMRKERAH |[21 7 A~ (Bl% - 4 V7| 1 | Bk [FRk214:115 24 H | 10:00|% 9.9 75 N 1.3 0.991
o ON 3] o LR ) %7 |PER214E11H 25 H | 10:00(HF 15.6 78] calm -
2 | BAG | k214511 H 25 H | 10:20(H5 16.4 73| calm - 0.991
T |PER214E11H 26 H | 10:20 (WG 15.3 57| SE 0.4
3 | BAG | k214511 H 26 H | 10:35(H5 15.9 55| calm - 0.991
%7 |PERG214E11H 27 H | 10:35|HF 15.0 60| calm -
[3] 7 v — L3 1 | BA%g [ERk214E11H 24 H | 10:00|% 9.9 75 N 1.3 0.141
%7 |PER214E11H 25 H | 10:00(HF 15.6 78] calm -
2 | BAG | FRk214E11 H 25 H | 10:20(HG 16.4 73| calm - 0.141
T |PERk214E11H 26 H | 10:20 (0 15.3 57| SE 0.4
3 | BAG | k214511 H 26 H | 10:35(H5 15.9 55| calm - 0.141
%7 |PERG214E11H 27 H | 10:35|0F 15.0 60| calm -
[6] P4 YT uEnrF 7 &L 1 |Bith|FR214E11H24H | 10:00|% 9.9 75 N 13 4.25
M %7 |PER214E11H 250 | 10:00(HF 15.6 78] calm -
2 | BAG | FRk214E11 H 25 H | 10:20(HG 16.4 73| calm - 4.25
T |PERk214E11H 26 H | 10:20 (WG 15.3 57| SE 0.4
3 | BAG | FRk214511H 26 H | 10:35(H5 15.9 55| calm - 4.25
%7 |PERG214E11H 27 H | 10:35|0F 15.0 60| calm -
[7INN-V 27 m~Fx il 1 | pAts [FERk214E11 4 24 H | 10:00[2 9.9 75 N 13 0.142
T T |PERk214E11H 25 H | 10:00 (0 15.6 78| calm -
2 | BAG | FRk214E11 H 25 H | 10:20(HG 16.4 73| calm - 0.142
T |PERk214E11H 26 H | 10:20 (0 15.3 57| SE 0.4
3 | BAG | k214511 H 26 H | 10:35(H5 15.9 55| calm - 0.142
%7 |PERG214E11H 27 H | 10:35|HF 15.0 60| calm -
[12]11,23-FV 7o Zrs8| 1 | BAgs |PFR214FE11H 24 H | 10:00|% 9.9 75 N 13 0.141
M %7 |PER214E11H 25 H | 10:00|HE 15.6 78] calm -
2 | BAG | FRk214E11 H 25 H | 10:20(H5 16.4 73| calm - 0.141
T |PERk214E11H 26 H | 10:20 (0 15.3 57| SE 0.4
3 | BAG | k214511 H 26 H | 10:35(H5 15.9 55| calm - 0.141
%7 |PERG214E11H 27 H | 10:35|0F 15.0 60| calm -
R (RERREM 2 — ([2127 A2 G4& 4 V| 1 | BHss |PFRRLIGE1LH24H | 9:42(1F 12.6 59| ENE 7.7 1.000
(=) oEANLE ) %1 PERk214E11A 250 | 9:30(0 156 89| ESE 21
2 | BRAS | FRk214F11H25H | 9:40(0 15.6 89| ESE 2.1 1.005
T |ERk214E11H 26 H | 9:35|( 14.6 62| SE 2.0
3 | B |PER21EE1LH 26 H | 9:41| s 14.6 62| SE 2.0 1.008
%7 |PER2I4EL1LA27H | 9:41|HF 16.1 58 E 2.9
[8] 7 v Y — VB 1 | pAts [FEEk214E11 A 30 H | 10:36]HE 16.5 51| SE 18 0.149
T |PER215E12H1E | 10:36 (0 15.6 60| SE 31
2 | BRAE | FRk214F12H1H | 10:55(0 15.4 61| SE 3.1 0.149
T |PERk215E12H 20 | 10:55(1 20.5 38 E 2.1
3 | BAG | k21412 H2H | 11:40(H5 22.4 32 E 2.1 0.148
%7 |PER214E12 A3 | 11:38|/ 11.4 87| ENE 2.9
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SRR A ERSE AR A R I K&
L= yE JE EE N =y B
IR A AR BT B s | mavenn | R - ‘”(E%/% A (kan% j‘ﬂ(ffgfyi
[6] P4 YT rErF 7 &L 1 |Bith|FR214E11H25H | 11:40(0 20.5 60 SE 16 459
e % T | ER214E11H 26 B | 11:15( 1A 19.4 46| ESE 2.4
2 | Bd4s | SERR214E11H 26 B | 11:15| 10 19.4 46| ESE 2.4 4.34
T |PERk214E11H 27 H | 10:55 (1 20.1 45| ESE 2.7
3 | BAG | FRk214E11H 27 H | 10:55(H5 20.1 45| ESE 2.7 4.42
%7 |PERG214E11H 28 H | 11:10|0F 14.0 58 N 5.6
[7INN-P 7 g ~Fi L 1 | pAts [FEEk214E11 A 16 B | 10:10(HE 13.1 52 N 2.2 0.142
T %7 |PERE214E11A 171 | 10:10(/ 9.1 86| calm -
2 | BAg | FRk214E11H 17 H | 10:25|/ 8.9 87 N 0.6 0.141
T |PERk214E11H 18 H | 10:25(0G 11.6 57 S 1.2
3 | BAsG | k214511 H 18 H | 10:50(HG 11.4 58 S 1.2 0.141
%7 |PERG214E11H 190 | 10:50|= 11.3 69 S 0.8
[12]11,23-FV 7o Zrs8| 1 | BAgs |PFA214E11H 16 H | 10:10(0 13.1 52 N 2.2 0.142
M %7 |PERE214E11H 171 | 10:10(/ 9.1 86| calm -
2 | BAg | FRk214E11H 17 H | 10:25|/ 8.9 87 N 0.6 0.142
T |PERk214E11H 18 H | 10:25(0G 11.6 57 S 1.2
3 | BAsG | k214511 H 18 H | 10:50(HG 11.4 58 S 1.2 0.142
%7 |PERG214E11H 190 | 10:50|= 11.3 69 S 0.8
a R Lo REREREE 2 — [[2127 A2 G4 4 V| 1 | Bk |PFR1I4:11H 17H | 10:10(fW 6.8 83| SSE 0.8 1.02
(1) =R GNP %7 |PER214E11H 18 H | 10:10(HF 10.2 52 Sw 1.8
2 | BAG | FRk214E11H 18 H | 10:18|H5 10.2 52| SwW 1.8 1.00
%7 |PER214E11H 190 | 10:18|= 9.1 70 S 04
3 | 4G |"ERC214E11H 190 | 10:20|% 9.1 70 S 0.4 1.01
T |PER214E11H 20 H | 10:20| % 8.6 69| SE 1.0
[38] 7 v — L3 1 | BA%G [FRk214E11H24H | 9:55|% 75 98| ENE 0.6 0.147
%7 |PER214E11H 25H | 9:55|HF 12.4 98 N 0.6
2 | BAG | FRk214511 H 25 H | 10:05|HG 12.4 98 N 0.6 0.147
%7 |PER214E11H 26 H | 10:05|HF 12.0 81| ENE 0.6
3 | BAG | k214511 H 26 H | 10:10(H5 12 81| ENE 0.6 0.147
%7 |PER214E11H 27 H | 10:10|= 11.0 98| ENE 0.6
[6] P4 YT rEenrr7 x| 1 |Bith|FR214E11H24H | 9:55|% 75 98| ENE 0.6 4.27
M %7 |PERE214E11H 25H | 9:55|HF 12.4 98 N 0.6
2 | BAG | FRk214511H 25 H | 10:05|HG 12.4 98 N 0.6 4.27
%7 |PER214E11H 26 H | 10:05|HF 12.0 81| ENE 0.6
3 | BAG | k214511 H 26 H | 10:10(HG 12 81| ENE 0.6 4.27
%7 |PER214E11H 270 | 10:10|= 11.0 98| ENE 0.6
[FINN-P 7 g ~Fi L 1 | pEns [FPEk214E11H 240 | 9:55[2 75 98| ENE 0.6 0.145
TV %7 |PER214E11H 25H | 9:55|HF 12.4 98 N 0.6
2 | BAG | FRk214E11 H 25 H | 10:05(H 12.4 98 N 0.6 0.144
%7 |PER214E11H 26 H | 10:05|HF 12.0 81| ENE 0.6
3 | BAG | FRk214511H 26 H | 10:10(HG 12.0 81| ENE 0.6 0.148
%7 |PER214E11H 270 | 10:10|= 11.0 98| ENE 0.6
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SRR 214 B AR AR BR B ol A SRR U KA
95 e - ik | - B i g JaR\ 2k PRI
{&ﬁéﬁi ﬁﬁﬁim)f—i ﬁﬁ%ﬁ)@%% =4 %7%" T\?KEAX Bkﬂyﬂaﬂ H H%EZIJ f{% (OC) (%) E\l‘ﬁlﬂ (m/S) (m3)
[12]11,23-FV 7 ow 7,8 1 | BAgs |PFR214E11H 16 H | 10:00(H 11.6 48] NwW 1.8 0.145
e T |PERk214E11H 170 | 10:00(/ 6.8 83| SSE 0.8
2 | Bsh PEA2IE1LH 17 H | 10:10(RH 6.8 83| SSE 0.8 0.145
T |PERk214E11H 18 H | 10:10(0G 10.2 52| SW 1.8
3 | BAG | k214511 H 18 H | 10:18(H5 10.2 52| SW 1.8 0.143
T [ ER214E11 H 191 | 10:18]= 9.1 70 S 04
HER [EEREERSEE L 2 — (2127 Ar (4% -0 V7| 1 | BHes [FERR2UFE11H10H | 9:55[/ 185 89 ESE 1.8 0.991
=00, o LR ) %7 |PER214E11H 110 | 9:55|= 17.5 89 E 0.8
2 | BAg | FRk21E11H 11 H | 10:27|= 17.4 90 E 0.8 0.991
T |PER21E11LH 120 | 10:27 |G 155 56 E 1.2
3 | BAg | ERk214FE11H 120 | 10:41 |1 15.8 56 E 1.2 0.991
% T |ER214E11 H 13 H | 10:41|= 16.7 74| calm -
[8] 7 v Y — VR 1 | pAns [FPEk214E11 A 100 | 9:55(/ 185 89| ESE 18 0.142
% T |ER214E11 A 11H | 9:55|= 17.5 89 E 0.8
2 | B | FRk21FE11H 11 H | 10:27|= 17.4 90 E 0.8 0.142
T |PER214E11LH 120 | 10:27 | 155 56 E 1.2
3 | BAg | k21411 H 120 | 10:41 |1 15.8 56 E 1.2 0.141
T |ER214E11 H 13 H | 10:41]= 16.7 74|  calm -
[6] >4 YT uverFt7xL| 1 |Bis |PFR214E11H10H | 9:55|W 185 89| ESE 18 4.24
M % T |ER214E1L A 11H | 9:55|= 17.5 89 E 0.8
2 | BEas |FERC214E11H 118 | 10:27|% 174 90 E 0.8 4.25
T |PERR214E11LH 120 | 10:27 |0 155 56 E 1.2
3 | BAG | k21411 H 120 | 10:41 |1 15.8 56 E 1.2 4.25
% T |ER214E11 H 13 H | 10:41|= 16.7 74|  calm -
[7INN-VY 27 m~Fx il 1 | pins [FPEk214E11 A 100 | 9:55(/ 185 89| ESE 18 0.142
TV T |ER21I4E11H11H | 9:55|= 17.5 89 E 0.8
2 | BAG | FRk214E11H 11 H | 10:27|= 17.4 90 E 0.8 0.142
T |PERR214E11H 120 | 10:27 |0 155 56 E 1.2
3 | Btg [ERk214E11A 120 | 10:41 [#E 15.8 56| E 12 0.142
T | ER214E11 H 131 | 10:41|= 16.7 74|  calm -
[12]11,23-FV 7o 8| 1 | Bags |PFRA214E11H10H | 9:55|W 185 89| ESE 18 0.142
M T [ER214E11H11H | 9:55|= 17.5 89 E 0.8
2 | Bg4s |FERG214E11H 118 | 10:27|% 17.4 90 E 0.8 0.141
T |PERR214E11H 120 | 10:27 |0 155 56 E 1.2
3 | BAG | k21411 H 120 | 10:41 |1 15.8 56 E 1.2 0.141
% T [ER214E11 H 131 | 10:41|= 16.7 74| calm -
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P21 AR B ST A AR ER T T K&
==} N=Nica N V=514 =N
PN A W S Bl | mmwan | Kb i vl VO ﬂ(;gfyi
FENR (FNERSRAFRTE @R (8] 7 vy —uE 1 | Bass [ERk214E11 H 25 0 | 11:29] 20 ~ i 18.1 79 WSW 2.2 0.146
) % T | ER214E11H 26 B | 11:29 1A 21.0 56| WNW 11
2 | Bk |PERk214E11H 26 H | 11:30| s 21.0 56| WNW 11 0.150
%7 |PERG214E11H 27 H | 11:30 |0 — R 16.0 73| NNw 3.1
3 | BHAE |SER21AE11H 27 B | 11:32|1E — K= 16.0 73] NNW 31 0.146
%7 |PER214E11H 28 H | 11:32| = 15.0 69| NNE 2.0
6] V4 Y 7Nt 7xL| 1 |Bith [ FE2IF12H8H | 10:42|i —KF & 8.4 64| ESE 17 4.22
M % T |[ER214E12 A9 | 10:42| =% R4 8.7 74| SSE 1.2
2 | BHAG |PFR214E12H9H | 11:09| &4 e 2 WY 8.7 74| SSE 12 4.26
%7 |PER214E12 A 10H | 11:09|= 10.2 78 E 1.8
3 | pgas |FER214E12H 100 | 11:22|% 10.2 78 E 18 4.26
%7 |PER214E12 A 111 | 11:22| =R 4 /i 14.4 86 E 31
[FINN-P 27 m~F L 1 | Bk [FER21EE12 A8 E | 10:42|F — &= 8.4 64| ESE 1.7 0.141
TV % T |[ER21E12 A9 | 10:42| =% R~ 8.7 74| SSE 1.2
2 | BHAG |PFR214E12H9H | 11:09| &4 e 2 WY 8.7 74| SSE 12 0.141
%7 |PER214E12 A 10H | 11:09|= 10.2 78 E 1.8
3 | Bgas |"ER214E12H 100 | 11:22|2 10.2 78 E 18 0.142
%7 |PERG214E12 A 111 | 11:22| =R 4 /W 14.4 86 E 31
[12]11,23-F VU Z o 7,8 1 | Biss |PFA214E12H8H | 10:42(05— K& 8.4 64| ESE 17 0.140
M % T |[TER21IE12 H9H | 10:42| =% R4 8.7 74| SSE 1.2
2 | BHAG |PFR214E12H9H | 11:09| &4 e 2 WY 8.7 74| SSE 12 0.142
%7 |PERE214E12 A 10H | 11:09|= 10.2 78 E 1.8
3 | 4G |"ERG214E12H 100 | 11:22|% 10.2 78 E 18 0.142
%7 |PER214E12 A 111 | 11:22| =R 4 /i 14.4 86 E 31
wmhR [RBREEEAT (KERET) [[2127 A G4 4 V7| 1 | Biss |*FRRLIFE10H5H | 10:16|% 20.9 73] WN 12 1.01
2L ) T |PERk214E10H6 H | 10:16| =% 21.8 96| NE 16
2 | BEas |FERG214E10H7H | 10:21]% 18.0 88 N 42 1.01
%7 |PER214E10A8H | 10:21|= 20.0 75 N 6.0
3 | 45 |"ER214E10H 8 H | 10:32|% 20 75 N 6.0 1.01
w7 |PERK214E10H9H | 10:32|% 20.5 72 N 3.0
[8] 7 v Y — VR 1 | pAns [FEEk214E12 18 | 10:10(/% 11.1 791 NW 0.8 0.142
T |PERk214E12 020 | 10:10(0G 12.9 62| NW 0.6
2 | BAG | FRk214E12H2H | 10:20(H5 12.9 62| NW 0.7 0.142
%7 |PER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | BAG | k21412 H3H | 10:30|= 13.8 64 W 1.9 0.142
%7 |PER214E12 A4 | 10:30(HF 13.9 55/ NNwW 0.9
[6] P4 Y FuEerFr 7 x| 1 |Bits|FR214E12H1H | 10:10(0 11.1 791 NW 0.8 4.25
M %7 |PERG214E12 H2H | 10:10|HE 12.9 62 NW 0.6
2 | BAG | ERk214E12H2H | 10:20(HG 12.9 62| NW 0.7 4.25
%7 |PER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | 4G |FERG214E12H3H | 10:30|% 13.8 64 W 1.9 4.24
T |PERk214E12 40 | 10:30 (0 13.9 55 NNW 0.9
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RS2 I BR B A A B UL R B K=

V==l JH [{E > = =
PN A AR LT Biflwm | someEnn |we Kl gy ‘”(E%/% e (kan% jm(;gfyi
[7INN-VY 27 m~Fx L 1 | pEts [PEEk214E12 18 | 10:10(/E 1.1 791 NW 0.8 0.141
TV % T |ER214E12 H2H | 10:10(0G 12.9 62 NW 0.6
2 | BAG | FRk214E12H2H | 10:20(H5 12.9 62| NW 0.7 0.141
% T [FER214E12 H3H | 10:20|= 13.8 64 N 0.7
3 | BAG | FRk214£12H3H | 10:30|= 13.8 64| W 1.9 0.141
T | ER214E12 H4H | 10:30|0G 13.9 55| NNW 0.9
[12]11,23-F V7 ow 7,8 1 | Bags |PFR214E12H1H | 10:10(05 11.1 791 NW 0.8 0.142
M % T |ER214E12 H2H | 10:10(0G 12.9 62 NW 0.6
2 | BAg | k21412 H2H | 10:20(HG 12.9 62| NW 0.7 0.142
% T [FER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | BAg | FRk214£12H3H | 10:30|= 13.8 64 W 1.9 0.142
w7 |PERk214E12 40 | 10:30(0G 13.9 55 NNW 0.9
EREEEERATES B[22 2 Bl% 4 V7| 1 | BRks [FR214115 16 H | 10:05|% 11.7 35 NW 3.0 1.06
) oLy Y) % T |ER214E11 A 17H | 10:05(/ 9.0 83| ESE 3.0
2 | g | FRk214£11H 17 H | 10:10|[W 9.0 83| ESE 3.0 1.05
% T |ER214E11 H 18H | 10:10|F5 %= 9.0 41 NW 2.0
3 | B |PER214E11H 180 | 10:17 | % = 9.0 41 NwW 2.0 1.06
T [ ER21I4E1LH 191 | 10:17|= 11.0 64| calm -
JeJu [ AE U Rs e ) ([21 2 A~ (% -« Y 7| 1 | Bk |PFR214E10H20H | 9:35(HiF 19.2 51| NNW 5.8 1.01
o ARy Y ) T [PER214E10H21H | 9:35|0E 20.9 57 S 1.8
2 | BAG | FRk214510H 21 H | 10:00(H 20.9 57 S 1.8 1.01
% T |ER214£10 H 22 H | 10:00(0E 23.0 52| SES 2.2
3 | BAG | k214510 H 22 H | 10:05(HG 23.0 52| SES 2.2 1.02
T |ER214£10 H 23 H | 10:05|HF 22.0 49| EES 1.8
R (EREREE 2 — (ER([217 A  OGI& Y7 1 | Bits |PFR214E11H 241 | 10:11% 10.5 66] NNE 1.0 0.995
) oL Y) T |ER214E11 A 25 H | 10:11|0G 16.9 72| WSw 1.8
2 | BAG | k214511 H 25 H | 10:18|H5 16.9 72| WSW 1.8 0.991
% T |ER214E11 A 26 H | 10:18(0G 235 42| NE 1.0
3 | BAG | k214511 H 26 H | 10:26 |15 21.0 46| ENE 1.2 0.991
T [ER214E1L H 27 H | 10:26]= 19.9 54| NNwW 0.5
[38] 7 v — L4 1 | pAts [FERk214E11H 24 | 10:11]2 105 66| NNE 1.0 0.146
T |PERk214E11H 250 | 10:11 |0 16.9 72| WSW 1.8
2 | BAG | FRk214E11 H 25 H | 10:18|H5 16.9 72| WSW 1.8 0.146
T |PERk214E11H 26 H | 10:18 (0 23.5 42| NE 1.0
3 | BAG | FRk214E11H 26 H | 10:26 |15 21.0 46| ENE 1.2 0.147
% T [ER214E1L H 27 H | 10:26]= 19.9 54| NNw 0.5
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SRR 214 B AR AR BR B ol A SRR U KA
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PN A W S Bl | mmwan | Kb i vl VO ﬂ(iifyi
[6] P4 Y FuErr 7 x| 1 |Bith|FR214E11H24H | 10:11% 10.5 66| NNE 1.0 4.25
e T |PERk214E11H 25 H | 10:11 |0 16.9 72| WSW 1.8
2 | BAG | k214511 H 25 H | 10:18|H5 16.9 72| WSW 18 4.25
T |PERk214E11H 26 H | 10:18 (0 235 42| NE 1.0
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71 03 <« : . - . m% 0.5 17.9
| e 0.5 17.9
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R 214 JE T = 7 A REHR BUE JEE
HiJ5 Ktk .- i | o [POE OEE O Aoy | sREL | YRSy | RLEEAHAR(%) /ﬁﬁﬁﬁﬁﬁ i e | e
ade | mR Fel smeEA R | ke | T immmssg  sMe g R seaern (AR i | [T T R ) R O | VR | IR
Bz ) [(C)| (m) | (cm) %) | (%) | (%) d (mg/g)| (mg/g) (m) | (C)

WAL SR THRKAE 1 |FRrk224E1A 190 | 15:10(0% 91| 6.8 &% RIS PR JE TR A 25 0.7 - - - - 0.4] 17.9
(HRF ) 2 |'FA229F1H 19 | 14:25|0 11.2| 65| &% SRS KR8 JEE R /JJ#\E‘ it 250 0.9 - - - - 0.2| 17.9
3 [Rk229F1H19H | 13:45(8G 90| 74| &% - |k KK ta BB INF 22| 05 - - - -|fEfh, 0.3 17.9
REFI [FRFHIHTS L 1 |'FRk214£10H 20 H | 10:30|%: 16.5| 14.8] 0.9 35[JEtk P JER 7oL 72 - - - - RS ) 5.7 15.0
2 |"FEk21410 H20H | 11:30|= 17.0| 146/ 0.9 36[JEk v JER 7oL 68 - - - - -| ke 59| 155
3 |"FEk214:10 H20H | 11:55|= 16.5| 144| 0.9 39[JEtk L= JER 7oL 76 - - - -|[ R 6.0/ 15.3
BB [TE K P 1 [ERk214£10A 200 | 9:25|fEH ~ 2 | 24.0] 225) 6.0 -|WPIR T 0 oG (IR R Hik 41| 46 - - - -| 4, 25.1 -

RN
2 |FEk214:10H 20 H | 10:12|fMr 2 22 | 24.7| 22.7| 6.0 -|WHIR T 0 RS (IR TR Hi 35/ 3.8 - - - - | fh, 16.2 -

RN
3 |"FEk214:10H 20 H | 10:341Mr ~ 22 | 24.8| 22.5| 55 -|WHIR T 0 RS (IR TR Hi 33| 35 - - - - | fh, 11.4 -

RN
Keg)ll (BEM| 1 |*FRrk214F10H 15 | 12:41 (i 23.3 203 - B R AN =) 5L [23 271 2.2 - - - -|FEB e 0.3 -

) (2N
2 |EA214£10H 15 A | 13:11| 16,5 16.0 - -k KB AL INFL 19| 09 - - - - Fre e 0.4 -
3 |Fa214£10 15 F | 12:25|i 16.5| 16.0 - BISIN IR L INFL 19 11 - - - -|Fe e 0.4 -
TR (A 1 [FRk214E1179H | 9:55(H% 16.0] 20.8] 4.0 BFEEIN HR (A, bk 35 2L 51| 14.8] >99 - - -|tEEB 13.0] 19.0
2 |ER214E119H | 10:00|H 16.0| 20.8] 4.0 SHEEIN L) fifbksm R |72 L 49| 17.9| >99 - - -t 13.0/ 19.0
3 |Ep214E119H | 10:05|H5 16.0/ 20.8] 4.0 -|[RR U itk 35 2L 49| 117 >99 - - -|[fEEBE 13.0| 19.0
P 1 [FRk214E1179R [12:55)2 18.7| 21.0] 27 BFEEIN E D bk % 7L 43[ 13.0[ >99 - - -|EEB 16.2] 20.5
2 |ER214E119H | 13:00|% 18.7| 21.0 2.7 SHEEIN KA fifbkFR (72 L 44| 10.6| >99 - - - 16.2| 20.5
3 |‘ER214E119H | 13:05|% 18.7| 21.0 2.7 -[RR U ik 3% 2L 45| 10.6| >99 - - -|[fEEB e 16.2| 20.5
= EIR (U A T 1 [FRk214E104 27 A | 11:50(/% 23.0] 20.0 3.2 BFEEIN PR fitfbAk F& Hik 59| 9.2 - - - - 11.0 -
2 |FR214E104 27 H | 11:40|H5 23.0] 21.0 34 RHEEIN JREA fifbAKFR  |Hk 60| 9.7 - - - - TRk 12.0 -
3 |FA214£10 27 H | 11:10|H 23.0] 21.0 31 -k JREA fitfb Ak & Hik 471 7.0 - - - - R 8.5 -
J5 P 1 [‘¥R%214£10/ 201 | 10:40|2 20.0] 21.0] 36 BIZSEDN HBE [ Hik 45 9.1 - - - -| B Akt 40| 21.0
2 |"ER%214£10 H 20 H | 11:03|= 20.0| 21.5| 3.0 BTN B R Hik 26| 3.3 - - - -\ R 6.7 20.5
3 |"ER214E10H 20 H | 11:22|= 20.0| 205 35 -[RbIRR Eter=) R Hik 27| 3.3 - - - - Rk 74| 205
REEVL |FEEWIFEER| 1 [FRk214E10H 21 F | 10:20| e 20.0[ 19.8] 6.0 BNESN P JE R L 66| 12.0 - B B | 55.8| 105
e 2 |SER%214E10 H 21 H | 10:45| i 20.5| 20.0 6.0 -k JK E JETB R 2L 66| 11.1 - - - - IR TRk 52.7| 9.0
3 |FE21410H21H | 9:39| ki 19.0| 19.8)] 5.4 BEEIN JK E BB 72 L 67| 111 - - - - IR 53.8| 10.5
W] 1 ['ERR214E10 21 A | 12:29| Bk 23.0] 19.0] 3.0 FEDN IR B JE R WS 68| 10.3 - - - - 3.4 198

g -
2 |PEK214:10 A 21 H | 13:30| (i 240 19.0 29 RN JK E JETBR ZHE LK 68| 10.3 - - - - IRk 3.4 1938
3 |*EA214£10H 21 F | 12:58|1 21.0| 19.0 3.0 FERN JK E JETBR gﬁzEJk 70| 10.6 - - - -k 37| 19.8
3 &

AT | 1 [‘FRk214E107 141 | 11:10(0E 22.8] 225 5.0 BFEEIN IR B W ike 5 2L 26| 24 - - - - 10.8] 22.2
2 |FR214£10 14 H | 10:05|H5 21.0| 225 5.0 SHEEIN IR AL e 5 7L 45 8.0 - - - - 23.1| 222
3 |FAk214£10 14 H | 10:30|H5 225 224 50 -[IRR IR e R 2L 51| 8.6 - - - - 24.0| 23.0
TR (BRI RS 1 [FR%214£107 29 H | 13:50(H% 24.0] 205 >05 BIZN IR TR el 19] 09 - - o8 - 0.4] 21.0
CrLh) 2 |FR214£10 29 H | 14:05|H5 24.0| 210 >05 RN IR FAKE el 20 11 - -l 08 - 0.5 21.0
3 |FR214£10 29 H | 14:50|H5 24.0| 21.0] >05 -k R AR 7oL 19| 09 - -l 15 - 0.5 20.0
KB | RKF0)IRRT A 1 [FRk214E11A190 | 8:33|2 9.0 132 1.4 46k TRt At AT R h ) R 44| 272 - - - - F 35 20.2
(i) 2 |ER214E11 19 H | 10:45|H5 115 154 1.6 >50[Jedk HEm SRR KSR R (A 41| 177 - - - -|IKEE kA 9.4| 205
3 |ER214E11 190 | 9:35|% 9.2| 13.8] 14| >50|UEtk Bt i bk SR [ 44| 338 - - - -|IK sk 5.4| 20.6
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TRRUEE T =5 7 AR 3
Hi = v | oo [T OB D) KAy | e | vesy | RIEERLR(%)  [eAEL. e | EE
I L T T TR s S R K 7 T T @i A | g (et | R [ [ o || B O e | v |
Bz ) ) [(C)| (m) | (cm) %) | (%) | (%) (mg/g)| (mg/g) (m) | (C)
KB | KBk 1 [‘VRk214°9H28H | 14:25(f5 298] 26.1] 2.0 98[~Fe Cii|EeE fitfb K& 7ol 49| 11.3 50 - - - -|IKfk 12.0| 26.0
+)
2 [FRk219-9H28H | 14:00(fE 305 25.8] 2.0 99~ Ru (fh |Hf fifbksmR |72 L 57| 16.3 61 - - - -|IK ke 13.0| 25.0
+)
3 [FRk219-9H28H | 14:50(fE 285 26.2] 2.0| >100|~ Fw (i |He bk 7ol 60| 15.4 56 - - - -| Kk 13.0| 25.0
+)
FNTT IS 1 |‘Frk21459H28H |10:15|% 27.2| 255 2.0 ~Rno Gk (K& bR R | Bk R 56| 12.1] 44 - - - - B e 15.0] 25.0
| ) Ik
2 |ER214E9H28H | 9:45|= 265 248 25 ~Kr (ki [KE b AR R R | Bk 52| 9.9 52 - - - -t 13.0| 25.0
| ) R
3 |ER21429H28H | 9:20|= 26.6| 246 25 ~Kr (ki [KE b AK TR Bk R 46| 7.8 47 - - - -t 12.5| 245
-l R
VEJIN I (OR| 1 |PFAR214°9 28 H | 11:30|% 27.8| 258 15 ~Kr (ki [ReE fitfbAk F& VN 38 78 67 - - - -8 6.5] 25.0
B H7) - ) R AR
2 |ER214E9A 28 H | 11:15|= 28.2| 26.0 15 ~Kr (ki |ReE bk 37 Hafth  m 45| 7.4 61 - - - -t 6.0 25.0
- ) R AR
3 |"ER214:9H28H |10:55|= 26.2| 258 1.5 ~Kr (ki [ReE fiefbok 37 Hafth m 40| 9.7 57 - - - -t 5.0 25.0
- R AR
e CRBR 1 [FRk214E10A6H | 9:53|2 222 227 15|  Si[WERE IR K WFAKBRE|Z =, & 54 95| 43 - - - -| Kt 2.8] 20.2
) AR 42
—— )L
2 |‘ER214E106H | 13:12|% 205 230 1.2|  5O[RVECEE IR |K A BN KGR |7 = 55| 10.7| 54 - - - -kt 3.0 228
AR 42
—— )V
3 |"FEk21410H6H | 11:05|= 22.1| 23.0 10| 49|WERE IR K 55 FARBRR |4 =, H 62| 12.1 54 - - - - IRkt 25| 21.8
AR, 42
=—— VR
SRR (HERR TR 1 ["PRk2142107 16 H | 11:20(0% 231 252 38 v MR R AL KRR |7 L 69 -| 100 - - - - |k 9 [ 230
2 |'FRk214:10H 16 H | 10:58i 222 243 38 AN N = TR b KR |72 L 68 -| 100 - - - - | R 10 | 23.0
3 |'FRk214£10H 16 H | 10:20|i 21.1| 243| 40 AN = Witk FEE |72 L 65 -| 100 - - - - | R 11 | 235
AT [ R 1 |'FRrk214510H20H | 9:40|% 21.8] 229 1.2 S[Tov MR KR S b AKE R |72 L 67| 10.8 98 - - - - |k 11.4| 225
2 |"ER%214210 H 20 H | 10:15|= 20.2| 21.2| 26 WIRLY v K 5L el 58| 10.8 67 - - - - | R 10.8| 225
-V Rk
3 |"FEk21410 H 20 H | 10:36|= 20.0| 21.5| 34 -[Tov MR KR oAb KB R |72 L 71| 11.6 98 - - - -|RE R 13.6| 22.2
mBRCIRFI (ESF| 1 [FFAR214510H 13 H | 10:40|i 255 20.0 - BFEIN RIRE THIR G el 23] 1.0 - - - - - rE 0.1] 20.0
L1p) 2 |FR214£10 13 H | 10:25|H 21.5| 195 - SIZ2IN RIK e R el 19 0.7 - - - - - IK e 0.1] 195
3 |FAk214£10 13 H | 10:10|H% 245| 215 - 2N et T8 7oL 17| 06 - - - - - 0.1] 215
LR FC oI Ok 1 [Ek214E11A 20 H | 15:00( = 14.6] 16.1] 15 AI~SRek IRERRE EE) I N 38| 7.1 - - - - N T 46| 16.7
DONIKRKE (Fn =
L) 2 |PEK214:11H20H | 14:15|= 13.6| 16.1] 15 S~Ka - KRR EE) INE N 24 38 _ _ _ - RETF) 35168
BN =
3 |'EA214E11 20 H | 13:20| % 14.4| 16.3] 1.3 A~Fe - IRk EE) NSNS 23| 35 - - - - - 2.7| 18.0
b =
] LU | 7K =5 1 [FRk214F107 26 H | 12:30|2 19.0 | 35 >30[#RR BRI [JBR B 51 6.9 - - - - - 9.9] 21.0
2 |FR214£10/ 26 H | 12:50|% 19.0 - 35| >30[#ER RV - ) B 51| 6.8 - - - - - 9.8| 208
3 |FA214£10/ 26 H | 12:00| %= 19.0 - 3.6 >30[#EIR WKk R Hah 51 6.9 - - - - - 9.8| 21.0
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R 214 JE T = 7 A REHR BUE JEE
o ik e | o [FIE AR A0 [T | Ve | BERRR) e o [ R
ade | mR Fel smeEA R | ke | T immmssg  sMe i LSS S A s S o] B [T RGO G| PR | R
Bz ) [(C)| (m) | (cm) %) | (%) | (%) (mg/g)| (mg/g) (m) | (C)

PNEIENENE 1 [Frk214E117 41 | 10:00(/% 15.0] 20.6] 7.0 -[Tov MR RiE 5L 7L 76| 14.8 95 - - -| Rk A 20.5] 20.9
2 |YPA214E11H4H | 10:40(0F 15.3| 20.4| 7.0 (v R KB R L 74! 136 95 - - MECS ¥ 200| 205
3 |‘Ep214E114H | 11:00|H5 16.2| 201 7.1 -|lTov NIk IRE 5L 7oL 78| 138 97 - - -|hk A 22.0] 21.0
N 1 [FRk214E117 41 | 14:000% 15.1] 201] 50 v bk ke fray el 73] 126 93 - - -| Rk £ 13.0] 20.3
2 |MPR21FR11H4H | 14:20(0F 18.7| 20.2| 5.0 S[v R KB B L 721 133 95 - - |EE 13.0] 203
3 |‘ER214E1104H | 14:53| 18.1] 205/ 5.0 -[lTov NIk IR M5 7oL 72| 129 97 - - -k A 14.0| 20.9
IR 1 |'FRrk214E10H 200 | 12:12|0f 19.2| 22.4| 6.0 BN PR i b K TR |72 L 68 8.3 - -| 153 -k 251 22.1
2 |"FEk214:10 H 20 H | 12:23|1 19.2| 22.4| 6.0 BHEEN IR A it k& |72 L 63 7.9 - -| 151 -kt 26.0] 22.1
3 |"FEk214:10 H 20 H | 12:35|H 19.2| 224| 6.0 RIS PR itk FEE |72 L 68| 9.0 - -| 151 -| IR e 265 22.1
S 1 [Frk214E107 150 | 11:01 (/% 215 22.1] 3.0 BFEIN PR T B el 44] 6.3 - -| 152 -|KAB 85 21.4
2 |FR214£10 15 H | 11:10(H5 215| 221 3.0 RHEEIN JRE T 5L 2L 44| 56 - - 119 - K 8.0| 21.4
3 |FA214£10 15 H | 11:20H5 215 221 3.0 [k PR PR 7oL 45 6.2 - -| 150 NG 74| 214
ERL 1 |'Frk214£10H 16 H | 10:30|i# 220 228 7.0 BFEEN PR e 5L B 32 6.9 - -| 570 -k 27.7| 22.7
2 |"FE%214:10 H 16 H | 11:05| 220 228 7.0 BHEEN JR1E e 5L B 31 81 - -| 543 - IRt 28.0| 22.7
3 |"FEk214:10 H 16 H | 11:30| 220 228 7.0 -|[ ek IR 5 Hih 31 74 - -| 539 -|IR e 29.2| 22.7
TR |51 O 1 |'FRk214E10H1H | 9:30|% 238 25.2| 25 5 MR UV e | BIK 5L AR 31 25 - - - -|FRAS 6.3] 25.3
T >50):1k
(it 2 |PE21410H1H | 10:25|= 245 252 23| >50[Hbk IR 5L AR 26| 0.7 - - - -| A 46| 25.0
3 |"ER214E10H1H | 10:55)= 245 26.0 21 . TR U | RIK 5L AR 49| 34 - - - -|FRA 55| 25.0
>50| ) ~
)R (B 1 |'FRk214510H 20 H | 10:00|%: 19.6] 2200 26 BFEEN e fiefbok 37 AR Bk, 48 8.9 - - - - Rk 30| 223
*‘[ﬁgrf/) (%%
A5
2 |FE21410H20H | 9:41|= 19.0| 22.3] 29 BHEE/N v i bk 37 AR Bk 27| 3.6 - - - - ke 45 225
N
3 |"ER214E10H20H | 9:25|= 205 228 3.1 -[EIR o fifbkHFR [RE, B 62| 15.8 - - - - IR Rk 5.0/ 23.0
TR DRk 1 [‘Fr%214£10/ 28 H | 10:25(H% 21.5 | 45 BFEIN pR3E 5L 7L 22 - - - - -|hktE o 5.6] 23.7
2 |FRk214£10 28 H | 11:15|H5 21.5 -| 45 RPN PRkt 5L 2L 45 - - - - -| ke e 42| 237
3 |FRi214£10] 28 H | 11:45|H5 21.5 -| 45 REEIN PRREN 5 72 L 57 - - - - -|hktE A 6.6| 23.7
EEE (s HIRT Al 1 [ERk14E9H 28 H |12:45|% /Nl | 27 27| 26.4 BFEIN ) HTENE (YR 49] 126 - - | 0.4]dEe 2.1] 28.0
U+ | 2 |'PRRUAE9A29H | 14:30|1%2, /bR | 26 27| 26.4 BIT2IN ) e 5L T4 - - - - - -|- 05| 25.0
3 |FEk2149A30H |13:45|=. /i | 28 27| 26.4 REEIN ) HTENE MR 49| 6.3 - - A1) 73| 275
AT T 1 |'FRk214£10H 21 H | 10:30(iE 18.7| 20.8] 45 BN ) 5L 7oL 47| 11.0 - - - -| e fh, 7.4 -
2 |MFEk214:10 H 21 H | 10:15|H 18.7| 20.7| 4.0 BHEEN =) 5L 7oL 32| 55 - - - - | fh, 11.1 -
3 |"FEk214:10 H 21 H | 10:00|H 18.7| 20.7| 4.0 RS et M5 7oL 58| 13.0 - - - -| M fh, 9.7 -
fEhd (s 1 [Ek214E11H 190 | 9:35|%& 139 155/ 1.8 AN =t e 5L Hik 39 87 - - - - |k 6.7 -
-V MR
2 |ER214E11H19H | 9:53|= 14.2| 150/ 1.9 R T Y v (R R 5L L 41| 89 - - - - |k 7.0 -
-V MR
3 |"FR214£11H19H | 10:16|= 14.8| 153 1.9 SlTov R R 5L 7oL 42| 9.2 - - - -|RE R 74 -
VAR |50 B 1 [Frk214E11A16 0| 9:48|2 105 13.0] 2.0 >30[JEtk PR IR Hik 58| 20.3 - - - N Ty 15.3] 18.0
2 |"FEk214:11H 16 H | 10:46|= 10.0 13.8] 25| >30[Ieik IR A e R Hi 58| 18.5 - - - - | fh, 15.0| 18.0
3 |FEk21411H 16 H | 11:16|= 95| 14.0] 35| >30[JEIk IR [V Hik 55| 14.5 - - - -| M fh, 14.0| 18.0
RIGFH (RS 1 [FRk214E117 240 | 10:20]2 13.7] 165] 4.8 AN e Ak 38 5| Hik 59| 17.1 - - - -| H ikt 19.6] 15.8
2 |PEk214:11H 24 H | 11:05|= 13.8| 165 48 2NN S 1) i bk o 5 | Hak 60| 16.1 - - - -| H ke 19.2| 15.6
3 |ER214E11] 24 | 11:40| % 135 165 4.8 [T MR R iAok S8 5| Hik 58| 15.8 - - - -| H bkt 19.8| 15.9
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R 214 JE T = 7 A REHR BUE JEE
o ik e | o [FIE AR A0 [T | Ve | BERRR) e o [ R
ade | mR Fel smeEA R | ke | T immmssg  sMe i LSS seaern (AR i | [T T R ) R O | VR | IR
Bz ) [(C)| (m) | (cm) %) | (%) | (%) d (mg/g)| (mg/g) (m) | (C)
KW | RK)IRRT R 1 |FRpk214E11H27H | 9:56(iF | 15.8] >1.6] >100[#k JK A JE5 High B 29| 3.0 12| 0.0] 87.6] 12.4] 1.6] 0.3[EskE 1.6| 18

(K4rh) e A
2 |MFEk214:11H 27 H | 10:52| -| 17.8| >1.6| >100|#>iE U v 8 [RIK e E%&gm 27| 15 1| 0.0| 99.2| 08| 1.6/ <0.1|sktEE 1.6| 18
BN N
3 |"PEEk214:11H 27 H | 11:50| -| 16.8| >2.1| >100 iﬁ\fﬁu e JER ,\%&;\,\ 26| 29 9| o0.0| 912 88| 21| o0.2/kEE 2.1| 18
R 3IN ik
B | RKUE) IR R 1 [FRk214E11A6H | 12:490% 24.0] 20.0] >05 - | bR et 5L 2L 17 1.0 72 - - - - - 0.5] 20.0
(E ) 2 |ER214E116H | 13:11|H 24.0| 20.0| >0.4 - | WD BEIR Are 5L 7L 19| 1.0 80 - - - - - 0.4| 20.0
3 |ER214E116H | 13:25|H 24.0| 20.0| >0.5 - | WO BLIR et 5 2L 17 11 53 - - - - - 0.5 20.0
BEVR R IR (R 1 [PFErk214E10H 20 H | 13:30(1E 20.4] 19.4] >0.4 -| bR PR 5L A 24 1.0 2| 479 505] 1.6 - - 0.1] 19.1
) 2 |"FEk214:10 H 20 H | 11:00| 19.7| 19.7| >0.3 - [RDRELR IR A 5L INF 24 0.9 1| 42.1| 57.2| 0.7 - - | fh, 0.1 17.6
3 |"FEk214:10 H 20 H | 10:15|H 21.5| 19.3] >0.3 - | RDBEELR PR 5 INF 20 1.0 <1| 67.7] 322 0.1 - -| M fh, 0.1 19.1
ARE)TR| 1 [FAak214510 A 29 A | 10:10( 23.3] 18.6] >0.3 - [ RORELR PR e 5L N 22 23 1| 76.1] 22.6] 1.3 - -| e fh, 0.1] 205
HfE (WHE| 2 |FEAR21410 A 29H | 11:05|H 26.0| 21.0 >05 - | RDRER PRGIEN 5L INF 22| 1.8 4| 66.7| 295 3.8 - - | fh, 0.1 23.0
BT TT) 3 |FA214E10 29 H | 13:15]H5 25.2| 19.6| >0.5 - | WO BLIR PREEN jis e 21 2.0 1| 75.4| 233| 1.3 - - 01| 211
PRI IR v 1 [FR%214F107 140 | 14:002 26.8] 26.6] 1.2 AI~Refk [IRE 5L 2L 36| 10.0 9 - - - - - 9.2 -
2 |"FEk214:10H 14 H | 15:05|= 255 26.4| 1.4 ISRk R i 55 2. E=—/ 40| 15.0 87 - - - - - | fh, 5.0 -
3 |"FEk214:10H 14 H | 14:30| = 259 25.8| 48 I~Fefk K& s INF 38| 14.0 81 - - - - -|fEfh, 6.6 -
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WRUVFREE =2 U o VAR B

17 - LI - I el 1 K% (cm) K (g) o | BRI | ARGy HRE S
IASEFI A i A = PREEHA H el AR 4 (ERa Rl PR T T p) i air | o) | o)
e (B (Y ¥7 14 1 [EEk21F10A7H | #MJE | vy X7 1) A 5| Mg | 35 ~ 37 36 650 ~ 920 | 802 | B [FIfxim| 71.4| 4.0

A) 2 |PE21F10H7H | fE | X T AT R 5| M | 35 ~ 38 37 690 ~ 960 | 858 | AHA [F[AEEB 71.9| 2.9
3 [FRR2LE10ATH || U7 A T 2 6| 1IRA| 34 ~ 37 35 700 ~ 820 | 762 | 4B [FIAEER 73.01 2.7
4 ERRUFEI0HATH |3 | v 7 A4 F R 6| IRA| 32 ~ 39 35 640 ~ 930 | 782 | AHA([FIA&EER 727 2.9
5 [FFRR21FEI1I0ATH || v FX 7 AT 2 6|1IRA| 33 ~ 44 37 700 ~ 1,200 | 880 | AAH|AIA&| 725 3.3
HEEyH (a2 H7r) 1 [FERk21#10H7H | A% v 1 M 73 73 4,300 (4,300 | AP [Ar&H| 711|356
2 |ER21E10A7H | M PA=Naa 1| 68 68 4,320 (4,320 | B (AT 70.8| 3.1
3 |ER21E10A7H | Mk PA=Naa 1| 70 70 4,380 (4,380 | B (IR 69.7| 4.4
4 |ER214E10H7H | ks PA=Raa 1| 70 70 4,300 (4,300 | AP [F[&| 70.8| 3.9
5 |“ER214E10A7H | fakE var 1| 75 75 4500 [4,500 | B [AT&FH| 70.6] 3.0
AR CERM) (7 | 1 [Erk214£12 108 | fkE TA TR 8| iR&] 35 ~ 37 36 470 ~ 620 | 531 | B [FTf&ximl 77.01 4.3
A4FR) 2 |ERi214E12 100 | fakE TAFA 7MRE| 3 ~ 45 36 450 ~ 1,080 | 596 | RBH|AIE 78.6| 1.7
3 |ERi214E12H10F | fakE TAFA 8|iIRA| 33 ~ 45 36 490 ~ 1,050 | 805 | RBH|ATE 782 1.9
4 |ERi214E12 H10H | faks TAFA 8|IRA| 33 ~ 46 36 400 ~ 1,180 | 608 | RBAH |AIE 77.8] 2.2
5 |“ERi214E12 10 | fak TAFA 8|IRA| 34 ~ 40 36 450 ~ 750 | 549 | B [T AEEB 785] 16
H AR R ﬁ)% OUFD) (7 Ix | 1 |EERLFETHIH~ | B 7 Ix= 61| KB | 155 ~ 23 21 256 ~ 565 | 365 | RHA| Hafh | 62.4] 35
o 13H
2 |ERR1IETHIH~ | B3 7 Ix= 44| K| 23 ~ 25 24 283~ 523 | 392 | REA| MR, | 61.9) 3.1
13H
3 |'PEk1FTH3HE~ | B 7 Ix= 37| A 25 ~ 30 26 319 ~ 577 | 417 | B | W7 | 61.4| 3.6
13H
4 | ERR1#ETH3IH~ | B3 7 Ix= 31| K| 25 ~ 28 28 359 ~ 522 | 442 | R | Hash | 60.3] 35
13H
5 [‘PRk1ETH3IH~ | B3 g 30| RHJ| 28 ~ 33 30 334 ~ 582 | 454 | KRB | R | 64.0 3.9
13H
AFRE (LHEE (AT7YXA0 1 [Epk21F10H27H | HE | 270 % 1 04 122| ~BH 82 ~ 8.7 84| 281 ~ 37.1] 328 &~H [Mx & 823] 20
1) 2 [FRR214E10H27H | B | A7V %A H A 154| ~BH 78 ~ 8.1 80| 258 ~ 38.2| 30.4| R [l = 5| 824 22
3 |PEk21410H27H | HEE | A7 XA A 182| K~ 76 ~ 7.8 77| 227 ~ 344 282| &~H] [Hlx k| 821 23
4 |PR21F10H2TH | HME | 27 XA 1 | 242 R 73 ~ 75 74| 186 ~ 31.4| 252| &~H [Hlx k| 826 22
5 |PEk21410H27H | HEE | 27 XA 04 | 287 R 6.1 ~ 7.2 6.8) 143 ~ 27.1] 215| ~B [Mx & 826 21
W (74 FA) 1 [PERk21412H18H | fAak TA TR 5| RBA| 375 ~ 456 39.6] 575.0 ~ 1,440.9| 8375| B [rT&EK 786] 2.1
2 |ERi214E12H18H | fakE TAFA 6| ~BH| 350 ~ 375 36.3| 576.6 ~ 741.7| 658.8| B [F[ & 76.8] 24
3 |ERi214E12H18H | fakH TAFA 9| ~BH| 319 ~ 350 34.1| 4355 ~ 582.8| 506.6| A~ [F[ & 76.4| 24
4 |ERi214E12 H18H | fak TAFA 12| RBH| 29.9 ~ 319 316 3216 ~ 479.4| 418.0| B |AT &Y 74.8] 3.1
5 |“ERi214E12H18H | fak TAFA 15| ~Bf| 255 ~ 298 28.8| 1962 ~ 401.0| 326.4| ~B [AI &0 75.6] 2.8
BEMTARA (527 RVU) 1 [ERk2148HTH ¥ VAN 65| # | 13.0 ~  14.0 134| 775 ~ 106.1| 90.4| RBA | Hafy | 69.2] 3.4
2 |ERk214E8H 7 H JSH NN 50| /Mt 107 ~ 130 12.6| 443 ~ 98.6| 85.8| B | Mafn | 70.1] 3.1
3 |Epk214E8H 7 H JSH NN 40| tft 128 ~ 137 13.2| 718 ~ 104.4| 88.6( ~H | fufs | 69.7) 3.0
4 |ERk214E8H T H JSH NN 61| M 101 ~ 130 125| 454 ~ 98.7| 82.4| RHA| Mafn | 69.4] 3.1
5 |FEpk214E8H 7H S A 49| ~BH| 115 ~ 138 129| 676 ~ 1145| 852 B | i | 69.5] 2.9

AW
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ER1AEE T =2 U o 7 A B B R
17 - LI - I el 1 K% (cm) K (g) o | BRE | KRSy R4S
IASEFI AR i A = PREEHA A e 1] EHEFN 4 (ERa Rl e T i p) i ahi | o6 | o)
wikE MBS () (AX | 1 |[ErlE12A8H | AR AR % 2| RA] 170 ~ 197 180 757 ~ 123 92.6| ~H] [Ar&EK 769 1.2
) 2 |FRk21E12H8R | Ak AR 45| A | 168 ~ 200 181 69.7 ~ 114 89.5| N [FI&EHH 774 11
3 |EREi214E12H8H | Mk AR F 9| |wAE| 172 ~ 203 18.9| 827 ~ 131 101 | AP |Ar&isl 77.3] 1.3
4 |Epi214E12H8H | Mk AR F 40| RE| 170 ~ 235 184 798 ~ 192 98.6| ~HT [Fr&EEH 77.2| 1.3
5 |“ERi214E12H8H | fakE AR ¥ 43| RE| 164 ~ 208 18.2| 736 ~ 155 92.3| KU [Fr&EHH 77.2] 13
IR [HEE (Fr~) 1 [PERk21#11H4H | A% ¥~ 70| EA] 20 ~ 27 24 45 ~ 90 76 | R [F[AEY| 65.7| 11.6
2 [FER2UFEILA4R | MR #o~ 54| BE| 25 ~ 28 26 90 ~ 119 | 102 | B [AJ £ 62.9| 15.2
3 [FER2UFILA4R | MR #o~ M|l EE| 5 ~ 32 28 103 ~ 186 | 120 | KB [AJf2iY 61.6] 16.5
4 |FREUFFELLA4H | M3 #o~ 0| EAE| 28 ~ 32 29 140 ~ 196 | 153 | B [AJfp 59.2| 17.2
5 ['FER2UF1LA4H | A3 #o~ RG] 22 ~ 31 26 51 ~ 173 | 106 | AP [A] £ 61.0] 16.3
WA | HRAGE (R X%) 1 [‘Frk214£9H 8H j AR ¥ 3[IRA | 442 ~ 495 476(1,446 ~ 1,687 [1,606 |4~5([alf&Es 73.2 3.7
2 |Epk214E9H 8H j-t AR F 3[IRA | 450 ~ 478 46.7/1538 ~ 1,601 [1,563 4 |A[R 73.8] 3.6
3 |Epk214F9H 8H j-t AR F 4| BA| 448 ~ 458 452(1260 ~ 1,354 [1,311 4 |A[RHf 75.2] 2.8
4 |SERk214£9H8H j-t AR F 5| 1RA | 376 ~ 422 408 913 ~ 1,234 [1,082 3 |AIEEr 73.8| 2.8
5 |Fpk214£9H8H - AR ¥ 6| 1RG5 | 370 ~ 436 408 943 ~ 1,293 [1,084 3 |AIEE 75.2] 2.6
Wi (BRI (W79 %4 1 [Epk21F11A13H | HE | 27 0% 1 U4 293 A~ 34 ~ 5.1 4.2 27 ~ 13.2 7.4 AW [l = 5| 90.2] 0.8
1) 2 |PEk21411H138 | HEE | A7 XA 1 | 238 R 32 ~ 5.1 43 47 ~ 15.3 8.6| AW [l =Lt| 89.6] 0.7
3 |PEk21411H13H | HIE | 27 XA 01 | 264 R 32 ~ 5.1 41 30 ~ 14.1 75| AW [l = & 89.00 0.7
4 PRl 11H13H | HME | 27 XA 01 | 231 R# 31 ~ 6.0 41 29 ~ 19.0 8.3| AW [ = | 89.8] 0.7
5 P21 11H13H | HIE | 279X A 04 | 274 KW 32 ~ 55 41 42 ~ 15.2 75| AW [R5 89.7| 0.8
JIE T ()RS R (R X3%) 1 [PERk214#11H3H | A% AR % 13 M | 280 ~ 310 30.0] 350 ~ 480 | 395 | RBA [T 77.8] 14
2 |ER214E11H3H | AR 11| M 315 ~ 348 325 400 ~ 580 | 464 | ABY [AfEEB 743| 15
3 |ERi214E11H3R | fakE AR 9| M 349 ~ 395 36.5| 460 ~ 750 | 610 | ABA[FTAEER 706 11
4 |ERi214E11H3H | ks AR ¥ 13| Mk 285 ~ 340 31.7| 340 ~ 540 | 425 | 4B [FTAEEB 736 2.0
5 |[“ERi214E11H3H | ks AR 8| Mk 340 ~ 375 359/ 500 ~ 710 | 633 | B[R 742 2.3
AR [BERCESRE (579 F% | 1 [FRk2U4F10A 148 | BE | 27V %A A 90| ~H 6.4 ~ 9.4 75| 534 ~ 129.8| 86.9| R [M 5| 752| 24
AHA) 2 |PEk21410H14H | HEE | 27 XA B A 150 A~ B 6.1 ~ 7.1 6.7 399 ~ 70.5| 553| B [Hlx L] 748| 25
3 |Pk21410H14H | H¥E | 2794 44 | 200 ~H] 55 ~ 6.3 59| 267 ~ 50.4| 425 B [Hlx B 757 26
4 |PR21#10H14H | HIE | 27914 H A | 250 RH| 41 ~ 5.3 48| 196 ~ 38.4| 283 ~H M=K 718 29
5 |FEk21410H14H | H¥E | 279 XA 04 | 300 R 35 ~ 5.1 41| 113 ~ 23.7| 186 ~H W& 713] 27
& Em| A EE (R7) 1 [‘FRk214-8H26H | MM i 5| "B | 392 ~ 404 39.9/1,000 ~ 1,100 (1,051 | AB [rT&ER 715] 4.1
2 |'FRk214E8H26H | A N 5| ~BH| 395 ~ 405 402|101 ~ 1,151 (1,126 | AP [AT&E| 718 3.6
3 |'FRk214E8H26H | AR N 5| ~BH| 403 ~ 425 416(1,153 ~ 1,221 (1,200 | A~BA [Af&& 73.8] 3.2
4 |Epk2158H26H | kA N 5| ~BH| 415 ~ 426 421(1,235 ~ 1,262 (1,248 | B [Af & 726 44
5 |‘FRk214E8H26H | MR 4 5| ~BH| 420 ~ 485 442/1305 ~ 1,818 (1,451 | AP [T & 717| 54
B E |EEWMLE) (&) 1 |"FRk21%4A13H | A v 7 A 20| M | 223 ~ 292 24.9] 1509 ~ 316.7| 214.3| RB [T & 75.7| 3.1
(v27A) 2 k214 H13H | M v 7 A 25| HE | 221 ~ 265 23.9| 1534 ~ 2745| 196.8| ~H [al %K 75.1| 3.4
3 |'FRk214E4H 130 | A v JA 20| M 221 ~ 215 243 1310 ~ 246.4| 193.4| B [FI&| 76.1| 3.2
4 |Epk2154H 130 | fJE v A 26| Mt 217 ~ 259 235| 1489 ~ 255.6| 176.6| A~~B7 [F[ & 74.8] 3.8
5 |"FRk214E4H 130 | MR v A 20| M 228 ~ 270 247| 1563 ~ 297.8| 210.9| &~ [FT&H| 75.9] 2.9
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WRUVFREE =2 U o VAR B

17 - LI - I el 1 K% (cm) K (g) o | BRE | KRSy R4S
IASEFI AR i A = PREEHA A e 1] EHEFN 4 (ERa Rl e p) i p) i ahi | o6 | o)
KB | KB (A X%) 1 |'FRk2148H25H | A% AR % 6| ~BI| 33.0 ~ 400 37.7] 850 ~ 1,042 | 935 | RWA[m&E 714] 37

2 |‘FRk214E8H25H | MR AR 5| ~BH| 375 ~  39.0 38.2| 884 ~ 972 | 932 | 4B [AA&EEH 732 34
3 |'FRk214E8H25H | MR AR F 5| ~BH| 345 ~ 370 36.0/ 714 ~ 845 | 789 | B [FIAEEH 73.4| 3.8
4 |Epk2158H25H | kA AR F 7| <83 | 330 ~ 345 33.7| 608 ~ 666 | 644 | B [FAEEER 752 2.7
5 |‘FRk214E8H25H | A AR ¥ 6| ~BH| 300 ~ 350 329| 521 ~ 712 | 640 | B [TAEEER 725] 2.7
IR [ (X X%) 1 |'FRk21412H20H | fas AR 3| # | 58 ~ 65 61 [1500 ~ 1,700 [1,600 |=® [ 77.4] 05
2 |ERi214E12H20H | fakE AR 2| M 58 ~ 64 61 [2,210 ~ 2500 2,360 | AW |aj&#l 765 0.7
3 |EREi214E12H20H | fakE AR ¥ 3| 58 ~ 62 60 [1,800 ~ 2400 |2,070 | A~BA|AjfdEE 75.3] 1.2
4 |ERi214E12 200 | fakE AR 3| 60 ~ 68 63 [1,580 ~ 2,800 (2,330 | A~ |AJfHEE 78.2| 1.0
5 |“ERi214E12H20H | fakE AR ¥ 2| 61 ~ 66 64 (2,180 ~ 3,000 (2590 | AW |aJfdf 75.3] 1.4
BHUR [ (R X%) 1 [ERk21410H18H | fak AR % 9| iR& | 352 ~ 403 37.7] 610 ~ 891 | 753 | B [fEim 79.1| 15
2 |EREi21410H18H | fakH AR 11| BRA | 330 ~ 391 36.1| 538 ~ 846 | 700 | AHA [FIAEEB 79.4| 15
3 |ERi214E10H18H | fakH AR 12| 8A| 330 ~ 370 346 470 ~ 760 | 597 | 4B [AA&EER 79.8) 11
4 |ERi214£10H18H | fak AR 13| J&A | 308 ~ 373 340 430 ~ 757 | 567 | B [ATA&EER 79.8) 11
5 |FRi214£10H18H | faks AR ¥ 15| JRA | 282 ~ 341 319 336 ~ 545 | 471 | AP [ATAEER 79.00 1.2
BRE (BREENELEE (5| 1 |'FAR21410H130 | HE | 270 %4 04 300| ~HAH 6.3 ~ 75 6.9 250 ~ 416 311 KRB [MEH| 774] 20
THXATA) 2 |PEk21410H13H | H¥E | 279X A 41 | 280 R 58 ~ 7.3 6.7| 206 ~ 37.3| 26.7| A~H [Hlx B 774 21
3 |Pk21410H13H | H¥E | 279X A 41 | 350 R 58 ~ 7.0 63| 179 ~ 28.7| 222| A~H [l H 76.1] 2.0
4 |FR214F10H13H | B | 2704 H A | 400| ~H 54 ~ 6.6 59| 146 ~ 25.6| 19.8| ~H] [Hlx= & 77.0] 1.9
5 [FRk214F10H 140 | B | A7V %A A | 200 ~H 6.8 ~ 8.7 79| 328 ~ 63.9] 442| &~B M H| 77.2] 20
B SN (AR %) 1 Rkl 11H9H |
. V2141113 H | fH AR 9| Mk 30 ~ 36 34 454  ~ 647 | 558 | B [A[ARH 77.6] 16
2 TERR214E11H9A
FRk2l4E11H 130 | A% AR ¥ 6| Mk 30 ~ 36 33 457  ~ 645 | 554 | B [ATAEEH 779 14
3 TERR214E11H9A
SERR214E11H 138 | A AR 5 M 33 ~ 37 35 458  ~ 751 | 637 | B [AT&ER 765 1.7
4 TERR214E11H9H
SERR214E11H 138 | A AR 6| Mt 2 ~ 37 34 470 ~ 788 | 566 | AHA [AIAREH 779 14
5 TERE214E11H9H
SERR214E11H 138 | A AR F 5 M 34 ~ 39 35 583 ~ 769 | 654 | B [ATfpim 78.8) 1.3
R (B (1 1) 1 [ERk21410H5H | HHE A A R2|EA] 180 ~ 170 146 219 ~ 421 | 326 | B [FxH| 71 1.4
2 |EHi21410A5H | B A 54 27| IRA | 140 ~ 175 15.8| 254 ~ 512 | 400 | RBH |[HH| 70 1.3
3 |EHi21410H5H | B A 74 27| IRA | 140 ~ 185 16.6| 387 ~ 600 | 490 | RBH M| 77 1.0
4 |ERi214£10H5H | HE A 54 23| IRA | 150 ~ 180 165 385 ~ 633 | 482 | REH|HxH| 78 1.0
5 |“FRi21410H5H | B A 54 24| IRA | 155 ~ 195 17.6| 3714 ~ 593 | 502 | RBH|HEH| 71 0.9
FINE @ik (f 1) 1 |'FRk2149H24H | HHE A HA 30( ~H 87 ~ 140 108 78 ~ 326 | 168 | KRB (M5 517 23
2 |'PRE214E9H24H | B3 A A 30| ~H 78 ~ 16.2 110 70 ~ 408 | 178 | AW [#x & 581 2.1
3 |FEk214E9H24H | B3 A A 30| ~H 79 ~ 146 107 52 ~ 303 | 160 | KRB [ML| 484 1.8
4 |Fpk214E9H24H | B3 A A 35| ~H 72 ~ 164 13| 51 ~ 534 | 213 | RB (M & 5| 520| 24
5 |‘FEk214E9H24H | B¥E A A 35| 1~ 78 ~ 142 100/ 67 ~ 335 | 132 | R [M&5H| 539] 25
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SERRVEEE =2 ) V7R R B R
#1J7 - LI - I el 1 K% (cm) K (g) o | BRE | KRSy R4S
IASEFI AR i A o BEAEA A e 1] EHEFN 4 i (A %k 1451 e T i p) i air | o) | o)
E i (g e (s - 1 |'FRk2149H28H | A% AR % 9| iR& | 140 ~ 314 241 517 ~ 569.2| 323.4| R<B [Fr&H| 77.0 1.9
M) (AX¥) 2 |'PRE214E9H28H | fakH AR % 15| & | 160 ~ 265 224 785 ~ 367.3| 243.3| B [A[ & 77.8] 1.2
3 |'FRk214F9H28H | A AR 13| 1RA | 167 ~ 265 229| 762 ~ 307.8| 244.7| B [AIR| 77.9] 1.0
4 |"Epk2159H28H | kA AR 13| 1RA | 150 ~ 240 218/ 611 ~ 323.7| 221.9| A~BF [FI&A| 77.4| 1.2
5 |‘FRk214F9H28H | A AR ¥ 17| 8R4 | 185 ~ 230 20.5| 1335 ~ 236.0| 177.2| B [\ R 775 14
TN RRMEE (A7 %12 | 1 |Fakl87H240 | B NS 370| IR& 32 ~ 5.2 4.1 36 15.9 8.6| NI [Al& ik 81.0 34
A) frakiA
KAy KGR (K43) 1 [ERk21411H20H | Ak AR ¥ 1| 64.5 64.5 3,442 (3442 | B [FfEH 726 2.8
(R X3%) 2 |FRk21E11H 200 | A AR % 1| 69.1 69.1 4,020 (4,020 | B (AT 73.0] 2.8
3 |ERi214E11H20H | fakE AR 1| i 65.2 65.2 3,146 (3,146 | A~BY [FTf2EH 76.4) 2.8
4 |ERi214E12 220 | faE AR 2| M | 403 ~ 554 478| 982 ~ 1,782 [1,382 | AP [AT&H| 67.9] 1.0
5 |“ERi214E12H 2210 | fakE AR ¥ 2| ~¥]| 455 ~ 515 485/1,085 ~ 1526 (1,305 | AP [Af&f| 73.3] 1.0
JEVR S R B B R (R X %) 1 [ERk2242H1H j AR ¥ al HE | 440 ~ 470 456 9470 ~ 1,223 [1,068 | <B4 [Ar&ikl 79.3] 06
2 |FRk224E1H 15 H ~| A AR 8| iRA | 305 ~ 410 34.8| 3743 ~ 841.2| 564.8| &~ [F[&| 78.3] 1.0
2H1H
3 |EREi214E12H21H | fakE AR 10| 1RA | 267 ~ 295 28.2| 3376 ~ 395.8| 360.9| ~B7 [F[&| 78.0 0.8
~ 2241 H 15H
4 |ERi214E12 210 | fakE AR ¥ 10| 1&A | 265 ~ 290 27.5| 3118 ~ 381.1| 346.3| B [A[&| 77.7| 0.9
5 |ERi214E12 140 | fakH AR 12| 1RA| 238 ~ 269 25.3| 255.0 ~ 320.4| 273.8| R~ [l & 76.9] 14
~21H
MR (IRE (R es 1 |Fpk2241H6H fE| I 73784 3| M | 302 ~ 320 31.0] 892 ~ 999 | 945 | KRB [A[&FE| 76 1.8
1) 2 |PFpk2241H6H | I3 snxA 3| M | 317 ~ 337 32.3]1,020 ~ 1224 (1,106 | B [rT&E 76 2.0
3 |PFpk2241H6H | IS8 A 3| # | 311 ~ 348 328| 969 ~ 1270 (1,102 | By [rT&Ew 75 2.3
4 |SERk224F1H6H | IS8 A 3| M | 325 ~ 343 33.7/1,239 ~ 1,360 (1,279 | B [rJ&Em 76 1.6
5 |PFpk2241H6H | I3 n84 3| M | 345 ~ 377 359(1,367 ~ 1534 (1411 | &P [rJ&E 75 1.8
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TRRUEREE = 5 ) o 7 AR 4 RS
. A _ _ iR i, N S i
IR Wit BB | mmean | i T | (b S
devE  |AeiEEE ST ITE (KEETH) IERZH | HV-1| BRRE |PFRK214E9H 28 H 16:32[i[ 17.1] 89| ESE 7.0 980
T |ERi215E9 H 291 16:05 |H 199 46| W 6.8
HV-2| BA#s | FE214E9H 29 H 16:23|i% 191 471 W 8.5 983
T |ERi214E9 H30H 16:10| & 20.0] 51|WNwW| 5.4
HV-3| BA#s [FE214F9H 30 H 16:15 i 20.0] 51|WNwW| 5.4 989
T [FER214E10 A 1H 16:00 [FE 198 64 E 5.4
LV-1| BA#s [FRk214E9H 28 A 16:32[f 17.1] 89| ESE 7.0 0.142
T |ERi215E9H 291 16:23 | 199 46| W 6.8
LV-2| B4 | FEk214-9H 29 H 16:29 1% 189 471 W 8.2 0.143
T |ERi214£9 H30H 16:20| & 19.7 s1lwNw| 84
LV-3| BA#s [FE214F9H 30 H 16:21 i 19.7] s1|wNw| 84 0.144
T [FER214E10H 1H 16:25 K& 195 65 E 41
ALIRETT AL =W o Zk  (FLRT) IEREH | HV-1| Bass |FFRk21429 A 28 14:00[f 16.9] 81| SSE 6.7 988
T |ERi215E9H 291 14:00 W 193] 57| NNW| 75
HV-2| BA#s |FRk214F9H 29 H 14:00 |1 193] 57| NNW]| 75 1,010
T |ERi214£9H30H 14:00| P 223 44/ NNW| 53
HV-3| BA#s [FE214-9H 30 H 14:00 | e 223| 44| NNW| 53 1,000
T [FER214E10H 1H 14:00|= 21.7| 39| SSE 74
LV-1| B#s [FRk214E9H 28 H 14:00[F 16.9] 81| SSE 6.7 0.144
T |ERi215E9 H 29 H 14:00 |H 193] 57| NNW| 75
LV-2| B4 | FEk214E9H 29 H 14:00| 193] 57|NNW| 75 0.146
T |ERi214£9H30H 14:00| P 223| 44| NNW| 53
LV-3| BA#s [ FR214F9H 30 H 14:00 | e 223| 44| NNW| 53 0.146
T [FER214E10H 1H 14:00|= 21.7| 39| SSE 74
AFER [MRAX—5 (FHHE) WEREE [HV-1] BRAG [FR214E9H 281 13:25[/ 13.1] 99| NE 4.0 1,008
T [ER214E9 H 29 H 13:25|= 157 63| WSW| 4.0
HV-2| BA#s |FRk214F9H 29 H 14:23|4 18.1] 52| wsw| 40 1,008
T |ER214E9H30H 14:23|= 158 68/ WSW| 3.0
HV-3| BA#s [ FE214F9H 30 H 14:51 |4 158 68| wsw| 30 1,008
T |ER214£10H 10 14:51 |0 236 35| SSE 4.4
LV-1| BA#s [FRk214E9H 28 A 13:23[/ 13.1] 99| NE 4.0 0.137
T [ER214E9 H 29 H 13:23|= 157 63| WSW| 4.0
LV-2| B4 | FEk214-9H 29 H 13:43|%= 157 63| wsw| 40 0.139
T |ER214E9H30H 13:43|= 16.2| 66/ WSW| 3.0
LV-3| BA#s | FRk214F9H 30 H 13:52|4% 158 66| wsw| 3.0 0.140
T |ERi214E10H 10 13:52|IE 19.1] 50| SSE 44
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
R |EWRAEREE Y X — (&) EREHI | MV | BRAA |PERK219°9H 8H 10:12|%= 253 56 NNW| 35 1,000
2H H |ER214E9H 9 H 8:54|% 20.0/ 55| Nw 4.8
3H B [FRk21459H 10 9:07 M 220 471 W 3.9
4H B |*ER214E9H 111 9:02|% 21.8] 56| WNW| 1.3
5H B [¥Rk21459A 12 H
6H B [FRk21459 13
7H B [FR21459H 14 11:03 (W5 240 50| NE 1.9
T |FER214E9H 15 H 10:12(/NF 189/ 80| S 2.3
LV-1| Bi%g |*FRk214-9H8H 9:03| = 24.8| 69| NwW 11 0.144
T |ER214E9H9H 9:03|= 21.2| 66| NNW| 3.6
LV-2| Bi%s |*FRk214-9H9H 9:10|%& 21.2| 66| NNW| 3.6 0.142
%T [ER214E9H 10H 9:10|= 20.8] 53] w 35
LV-3| BA#s [FE214F9H 10 H 9:15|I% 208 53] w 35 0.149
T |ER214E9H 11 H 9:15|= 215 52| WNwW| 3.6
KR | RSB MREA Y &2 — (L) EREH | MV | BRAA |PERK2199H 4R 10:00|= 235 85] NNE 2.6 990
2H H |ERL214E9H 5 H 10:00 M 26.1| 87| ENE 1.8
3H H |WERL214E9H 6 H 10:00 M 25.2| 81| NE 5.6
4H H [ER2149A7H 10:00 M 25.8| 82| ESE 15
5H H |WER214E9H 8 H 10:00|iN 256/ 97| NE 2.2
6H H |FER214E9H 9 H 10:00|= 235 76| SSE 25
7H B [*FER214E9 10 H 10:00 M 248 79| SSE 1.8
T |ER214E9 H 11 H 10:00 | 235| 58| WNwW| 0.9
LV-1| Bi%s |*FRk21429H 8H 10:00[rH 256/ 97| NE 2.2 0.140
T |ER21I4E9H9H 10:00|= 235| 76| SSE 2.5
LV-2| Bi4s |*FRk214-9H9H 10:00|% 235| 76| SSE 25 0.141
T |ERi214E9H 10H 10:00| & 248 79| SSE 1.8
LV-3| B4 | FE214F9H 10H 10:00 (/& 248 79| SSE 1.8 0.141
T |ERi215E9H 11H 10:00| M 235| 58| WNwW| 0.9
RIS IR (B R ARSI ZEET (RIRG ) TEREW | MV | BR4h |PFRK214E9H 4H 10:20 (% 206 77| wsw| 0.8 1,007
2H H |FERL214E9H 5 H 10:00 M5 249| 64| NNE| 0.8
3H H |FERL214E9H 6 H 10:00 M5 26.4| 53] S 2.0
4H H [ER2149A7H 10:00 | i 259/ 59 S 11
5H H |ERk214E9H 8 H 10:00 | i 283| 56| E 2.3
6H H |ERk214E9H9H 10:00| & 251 37| N 2.8
7H B [Rk21459 10 H 10:00 | i 252 36| N 25
T |ER214E9 H 11 H 10:05 i 238 38| Nw 36
LV-1| Bi%s |*FRk21429H7H 10:00 | PR 259 59 S 11 0.139
T |ERi214E9H 8 H 10:02 |ehd 283| 56| E 2.3
LV-2| Bi4gs |*FRk214-9H8H 10:15| e 283| 56| E 2.3 0.138
T |ER2149H9H 9:12 |5 247 37| NNwW| 33
LV-3| Bits |*FRk214-9H9H 9:15(i& 247 37| NNW| 3.3 0.144
T |FER214E9H 10H 9:15 | 242 39| N 3.3

47



SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E =t =
PN 0 BREE | mmeeaa | % o Ty | vices
TIER | R IR — A R R E R (R ) R [HV-1] BRAG [FR214E9H 29 10:00|= | EH 2% 994
T |ER214E9H30H 9:40| N 222 82| NE
HV-2| Bts |*F-a214F9H 30 H 10:00(/ S| e % 997
%T [ER214E10H 1H 10:00(= 19.7 87| NE
HV-3| Bitg |*Fak214F10H 1H 10:00|% S| SEH| % 998
T [FER214E10H 2 H 9:45|= 21.0| 80| calm
LV-1| B#s [FRk214E9H 29 A 10:00| %= S| S| k% 0.143
T |ER214E9H30H 9:51|rN 222 82| NE
LV-2| B4 | FE214F9H 30 H 10:00([ S| e % 0.143
%T [ER214E10 A 1H 9:52|= 19.7 87| NE
LV-3| BA#s [FE214F10A 1H 10:00|% S| e % 0.143
T [FER214E10H 2 H 9:52|= 21.0| 80| calm
WHAD |RRHEBRER AT (LIRX) IREEH | MV | BAtE |*FRk214-9H9H 10:10|/ 228 70| S 1,012
2H B [¥Rk21459 10 10:10 | rehi 316/ 29| NNW
3H B [FRk2149A 11 H 10:00 (= 29.2| 38| NNW
4H B |*FR214E9H 121 10:02|iN 225 82| WNw
5H B [¥Rk21459 7 13 10:00| = 235 72| SsSw
6H B [FRk21459 14 10:10 (M 31.0| 44| ENE
7H B [F¥Rk2149 A 151 10:00| = 23.1| 70| NE
T |FER214E9H 16 H 10:01|= 306/ 48] N
LV-1| Bi%g |*FRk214-9H9H 10:23[/ 228| 70] S 0.143
T | ERi214E9H 10H 10:12| Pk 31.6] 29| NNW
LV-2| BA#s | FE214F9H 10H 10:18 | 31.6] 29| NNW 0.149
T [ER214E9H 11H 10:00|= 29.2| 38[ NNW
LV-3| BA#s [FE214F9H 11 H 10:06|% 29.2|  38[ NNW 0.145
T |FER214E9H 12 H 10:06 |’ 225 82 WNwW
TN RA IRIEEH | MV | BRE |*FAK214F9H 26 H 9:55| & 277 71 sw 1,014
2H B [¥Rk2149 A 27H 10:00 (= 26.0/ 93| NNE
3H B [FRk21459 28 H 9:50|% 272 92| wNw
4H B |*FR214£9H 29 H 9:57 |l 278 83| Nw
5H B [¥R21459A 30 H 9:56|4% 274 86| NwW
6H B [FRk21410H1H 9:56|%% 272 90 NNW
7H B [FRk21410H 2R 9:41 M 28.0/ 84| NE
T |FER214E10 A 3H 9:56|= 278 82| sw
LV-1| B#gs [FRk214E9H 26 A 10:00(1% 2771 71 sw 0.147
T |ER214E9H 27 H 9:56(= 26.0] 93| NNE
LV-2| BA#s [FE214F9H 27 H 10:02|%= 26.0] 93] NNE 0.140
T [ER214E9 H 28 H 9:55|= 27.2| 92 WNW
LV-3| Bt [FEk214-9H 28 H 9:57|%& 272 92 WNw 0.145
ST |FER214E9 H 29 H 9:55 | 27.8| 83| NW
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SERRUEE T =2 Y o 7 AR BUE ) KA
A V=3=! YA {F N - R=N
IR R BB | mmean | % T | s | S
WA [MEREER S v ¥ — (CEEm) IEREH | HV-1| Bass |FFRk21429 A 28 10:00] 4% 247 61 NNW]| 0.7 1,008
T |ER214E9H 29 H 10:00|= 22.6| 75| NNE 0.8
HV-2| Bt |*F-a214F9H 29 H 10:10|% 226| 75| NNE| 0.8 1,008
T [ER214E9H30H 10:10(’ 19.7 88| NE 05
HV-3| Bits |*F-ak214F9H 30 H 10:20(r 19.7] 88| NE 0.5 1,008
T |ER214E10H 10 10:20| M 231 60| NNE| 1.6
LV-1| B#s [FEk214E9H 29 A 10:00| %= 226| 75/ NNE| 0.8 0.142
T |ER214E9 H 30 H 10:00(FY 19.7 88| NE 05
LV-2| B4 [ FE214F9H 30 H 10:00(r 19.7] 88| NE 0.5 0.144
T |PERi214E10H 1H 10:00| & 23.1| 60| NNE | 1.6
LV-3| B#s [FR214F10A 1H 10:00| i 231 60| NNE| 1.6 0.142
T |FER214E10H 2 H 10:00|F 19.1| 94| ENE 0.8
MEm  (BUEMEREER ST (i) EREH | MV | BRSS |PER2LF29H 251 9:17|i& 25.2]  56] NNE 3.0 1,008
2H B |¥Rk21459H 26 H T 251 55| N 2.7
3H B [¥Rk2149 A 27H = — G 23.2| 69| ENE 2.0
AH B |FH214£9H 28 H Z 0 4 I 23.3| 65| ESE 31
5H B [¥R21459 29 H i —TERR 223 76| N 2.2
6H B [FER214£9H 30 H ] 19.1] 87 N 2.0
7H B [¥R21410H 1R i 1 2 A 21.7| 69| NNE| 25
T |FER214E10 A 2 H 9:12| Ny —Hpe 189 91| N 2.3
LV-1| BA#s [FRk214E9H 29 A 9:28| = — 5[ 223 76| N 2.2 0.143
T |ER214E9H30H 9:27|r/N 19.1 87 N 2.0
LV-2| B4 | FE214F9H 30 H 9:34|[y 19.1] 87 N 2.0 0.145
T [ER214E10A 1H 9:30 |5 2 = 21.7| 69 NNE 2.5
LV-3| B4 [FE214F10A 1H 9:35 | e 2 2= 217 69 NNE | 25 0.144
T |FER214E10H 2 H 9:32|F —Kf= 189/ 91| N 2.3
PR IR —RBERERKBER  (Fris) IERZH | HV-1| BAsg |PFRK214E9H 28 H 10:32|/NfiY 245 60] ESE 37 971
T |ER214E9 H 29 H 10:00|= 240 76| NW 11
HV-2| Bts |*F-a214F9H 29 H 10:13|4% 227 76| Nw 11 984
T [ER214E9H30H 10:00|= 223| 66| NE 11
HV-3| Bits |*F-ak21479H 30 H 10:12|4 245 66| NE 11 984
T [FER214E10H 1H 10:00| i 249| 60| NW 1.2
LV-1| BA#s [FRk214E9H 28 A 10:30(/INFiY 245| 60| ESE 3.7 0.140
T |ER214E9 H 29 H 10:00|= 240 76| NW 11
LV-2| B4 [ FEk214-9H 29 H 10:13|%= 227 76| Nw 11 0.144
% T |ER21429H30H 10:01|= 22.3| 66| NE 11
LV-3| B4 [FE214F9H 30 H 10:13|%= 245| 66| NE 11 0.145
T |ER214E10H 1H 10:00| & 249 60[ Nw 1.2
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SRR T =4 U v 7 i R S P
- A _ _ /:‘:Ell b ’E > j(/; A %
i R BB | mmean | % T | (b S
LB | —ERERSBER @) IEREH | HV-1| BEss [TFR2149HTH 10:12 (W% 30.0f B53[NNW]| 1.3 964
T |ER214E9 A 8H 10:02 | =5 —KFRN 23.7| 78| ENE 17
HV-2| Bits |*FRrk214-9H 8H 10:32 =5 —RFRR 24.7| 73| ENE 1.7 978
ST |ER21I4E9H9H 10:22|%=—FFrR 23.8| 49| NwW 1.6
HV-3| BA#s [FR214E9H9H 10:50|2 — [N 241  47] Nw 16 987
T |FER214E9H 10H 10:40| =~ i 240 53| wsw| 34
LV-1| BRAE [*ER214F9HT7H 10:25 (1% 30.0f B53[NNW]| 1.3 0.140
T |ER2149 A 8H 10:36 | =5 —IFRY 23.7| 78| ENE 17
LV-2| Bass |ER214E9H 81 10:47 |25l — e Rl 247 73| ENE 1.7 0.142
T |ER214E9H9H 10:53|%=—FFr 23.8| 49| NwW 1.6
LV-3| Bass [ER214E9H 91 10:59 | = — Ry 241  47] Nw 16 0.142
T |FER214E9H 10H 10:59| = & i 240 53| wsw| 34
AR (AR REREEE 2 — (&IR0) R [HV-1] BAG [FR214E9H 151 9:42[fy 204 71 ssw | 6.0 1,008
ST |ER214E9H 16 H 9:42|= 226| 57| NE 2.0
HV-2| Bass |ER214E9H 16 0 10:18|% 224 57| NE 2.0 1,008
T |PER215E9H 1T H 10:18|M& 22.6| 44| ENE 5.0
HV-3| BA#s [FE214F9H 17 H 10:40 |1 225| 41| ENE | 4.0 1,008
T |FER214E9 H 18 H 10:40 K& 245 52 N 2.0
LV-1| B4 [FE214E9H 151 9:55([y 204 71 Ssw | 6.0 0.144
T |ER214E9H 16 H 9:55(= 226| 57| NE 2.0
LV-2| BA#s |FEk214F9H 16 H 9:58|% 22.4| 57| NE 2.0 0.144
T |ERi21E9H1TH 9:58|fiif 22.6| 44| ENE 5.0
LV-3| Bt | FE214E9H 17 H 10:00 (/% 22.6| 44| ENE 5.0 0.143
T |ERi214E9H 18H 10:00| & 235 58| ENE 2.0
WHLE |ELHBAARTE (L&A R [HV-1] BRAG [FR214E9H 291 11:35|%= | EB| K% | BB 931
T |ERi214E9H30H 11:50(/ 165 97| NNE| 1.3
HV-2| BA4s [FE214F9H 30 H 12:20(/ RA7S] EA7S] 8 =12 A AT 883
T |PERi215E10H 1H 11:10|M& 148 93 NNE| 1.3
HV-3| BA#s [FR214F10H 1H 10:40 |1 RAZS] 7S] 8= A AT 892
T [FER214E10 A 2 H 11:00|’ 17.0 85| NNE 15
LV-1| BH4s |MER214-9H 29 H 11:35|% S| Y| 5% | 2B 0.133
T |ERi214E9 H30H 11:50(/ 165 97| NNE| 1.3
LV-2 | BH4s |MFER214-9H 30 H 12:20(i R 7S] R3] P A ) 0.128
T |ERi215E10H 1H 11:10|0& 148 93 NNE| 1.3
LV-3| BA4s |PERk214F10H 1H 10:40|i% R 2S] N S] ES P A A ) 0.128
T | FER214E10H 2 H 11:00|F 17.0 85| NNE 15
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
i A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
ERFR | EHIRBRERSMET (BT EREH | MV | BR%S |PER21F29H 291 10:04|fitk = 185 99| ESE 2.3 1,008
2H B |*EH214£9H 30 H 10:04|FHF % 2% 17.9| 89| SSE 0.7
30 A |'FR214£10 H 1H 10:04 | — R 218| 66| W 5.0
4H B [FR214E10H 2 H 10:04 | — W 201 T4 W 5.5
5H B [¥Rk21410H3H 10:04 | =A% 0E 18.3] 83| N 2.3
6H H |WERk214£10 H4 H 10:04 |F5 — e = 18.8| 69| ESE 15
7H B |¥Rk21410H5H 10:04 = 174 71lwsw| 26
T |FER214E10 A6 H 10:04|%=—KF[ 176 76| SwW 24
LV-1| B#s [FRk214E9H 29 A 10:19[/ 185 99| ESE 2.3 0.139
T |ERi214£9 H30H 10:19(iN 17.9] 89| SSE 0.7
LV-2| BA#s [FE214F9H 30 H 10:21|f 17.9] 89| SSE 0.7 0.139
%T [ER214E10 A 1H 10:21 (K& 21.8| 66| W 5.0
LV-3| Bt [FE214F10H 1H 10:23 (i 218 66| w 5.0 0.137
T |FER214E10 A 2 H 10:23|= 20.1] 74| w 5.5
7 B IR iy B IR R BR BRI S0 T (55 ) IERZH | HV-1| BAsg |PFRK214E9H 15 H 10:35| % 249 67| NE 21 1,008
%T |ER214E9H 16 H 10:35 (K& 27.3] 39| NW 3.6
HV-2| BA#s [FEK214F9H 16 H 10:50 |5 273 39| w 5.2 1,008
W%T [ER214E9H 17 H 10:50| i 262 52 S 2.8
HV-3| BA#s [FR214F9H 17 H 11:10|5 26.2| 52| S 24 1,008
T |FER214E9 H 18 H 11:10|= 302 53] N 4.2
LV-1| B#s [FRk214E10H5H 9:15|%= 225 54| E 36 0.145
T |ER214E10 A6 H 9:15|= 199 74| WNwW| 23
LV-2| BA#s | FEk214F10H 6 H 9:18|%= 199  74|wNw| 23 0.145
T [ER214E10A 7TH 9:18|= 196 78] NwW 42
LV-3| BA#s [FEk214-10 A8 H 9:50|%& 216 72| w 9.3 0.143
T |ERi214£10H 91 9:50| fiff 222 42| NwW | 105
AR | TRERYERAR (4 &HET) IREZH | MV | BR%E |*FAK214F9H 28 H 10:48| =14 [ 223] 69| SE 25 1,002
2H B [FRk21459 29 H ] 229 771 N 2.0
3H B [FRk21459H30H Ef] 212 86| N 15
4H B |*FH214£10 411 T I 2 B 224 74| S 19
5H B [FR214£10 H 2 H RN — i 211 85| SE 2.1
6H B [¥Rk21410H3H iy — MR 230 61| NW 41
7H B [FR214510H4 R i 217 47| WNW| 2.6
T |FER214E10 A5 H 10:51| =% If 4 /Y 18.0 65| SE 2.1
LV-1| B#s [FEk214E9H 28 A 11:59| 2% M 215 80| SE 2.1 0.184
T |ER214E9H 29 H 10:48|Mitk = 230] 76| N 2.3
LV-2| B4 [FE214F9H 29 H 10:57|%= 230/ 76| N 2.3 0.157
T [ER214E9H30H 10:17|=Rf % [ 210 86 N 1.0
LV-3| Bt [FE214F9H 30 H 10:20(r 21.0/ 86| N 1.0 0.129
T |ER214£10H 1H 10:10| %= 23.4| 69| SSE 1.8
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SRR T =4 U v 7 i R S P
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
=EE | =HEEREERENES (WA T WEBEH [HV-1| BAsG [FRK214E9H 1H 10:27 | i 29.4] 50| NNE | 4.0 1,010
T |ER214E9H 2H 10:30|= 25.0| 77| SSE 1.8
HV-2| Bass [ER214E9H 21 11:05|% 253 77 S 2.3 1,006
T |ER214E9 A 3H 11:05|= 241 719 S 1.3
HV-3| Bass [ER214E9H 31 11:30|% 255 77| sSw 1.4 1,014
# T |PERR21F9H 4H 11:37|= 272) 76| SW 17
LV-1| Bi%g [*FRk214-9H 1H 10:00 | PR 28.1] 50| NNE | 35 0.141
T |ER214E9H 2H 10:00|= 248| 76| SSE 3.0
LV-2| Bass |ER214E9H 21 10:02|%= 24.8| 76| SSE 3.0 0.142
T |ER214E9 A 3H 10:05|= 226| 80| S 1.7
LV-3| Bass [*ER21429H 31 10:05|% 226| 80| S 1.7 0.143
ST |ER21I4E9H 4H 10:12|= 233| 78] s 0.5
FAEE | AR SR i (SR IERZH | HV-1| BAss |PFR214:10H 13H 14:25| % 17.7| 78| SSE 12 1,000
T [ER214E10 5 14 H 14:13|2
HV-2| BA%s [FEK214F-10 A 14 H 14:52|= 16.0| 79| SSE 1.4 996
%7 |SERG214E10H 151 14:33 (K&
HV-3| B4 [FE214-10 A 15H 15:17 i 155 73| SSE 1.2 993
%7 |SERG214E10H 16 H 15:02 K&
LV-1| B4 [FEE214£10 A 13 H 14:27| % 17.8] 77| SSE 1.2 0.149
T |ERk214E10H8 14 H 14:27|=
LV-2| Bass |ER214E10 14 H 14:53|% 16.2| 78| SSE 1.4 0.149
%7 | ERG214E10H 15 H 14:53 (K&
LV-3| BA#s | FR214-10H 15H 15:22 i 155 73| SSE 1.2 0.149
%7 |SERG214E10H 16 H 15:22 K&
KBOF | R B2 K pERS S BF G2 AT (RBRTT) IERZH | HV-1| BRsE |PFRK214E9H 14 H 11:45| % 23.0/ 58| NE 1.4 977
T [ER214E9H 15H 11:02|= 20.8| 77| SE 1.6
HV-2| BA#s [ FEk214F9H 150 11:40|2 20.8| 77| SE 1.6 983
T |ERi215E9H 16 H 11:05| & 22.3| 61| ENE 1.8
HV-3| B4 [FE214F9H 16 H 11:40|i% 22.3| 61| ENE 1.8 962
T |FER21I4E9H 17 H 10:35|KE 233| 56| E 1.9
LV-1| B4 [FEE214E9H 14 H 10:40| % 23.0] 58] NE 1.4 0.144
T [ER214E9H 15H 10:36|= 20.8| 77| SE 16
LV-2| B |ER214E9H 150 10:50|% 20.8| 77| SE 16 0.147
T |ERi215E9H 16 H 11:05| & 22.3| 61| ENE 1.8
LV-3| B4 | FE214F9H 16 H 11:20 (0% 223| 61| ENE 1.8 0.140
ST | ER214E9H 17 H 10:40 [KE 233| 56| E 1.9
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SRR T =4 U v 7 i R S RS
. 7 _ _ S| | KRR
i R BB | mmean | % T | (b S
R [RERREWIEE X — (W) R [HV-1] BAG [FR214E9H 281 10:00( % 252 70| ENE | 9.7 1,008
T |ER214E9H 29 H 10:00|= 24.7| 74| ENE 74
HV-2 | Bass |ERc214E9 29 F 10:13|% 247 74| ENE 7.4 1,008
W% [ER214E9H30H 10:13|’M 219| 90| ENE 6.0
HV-3| BA#s [FR214F9H 30 H 10:55(f 219 90| ENE 6.0 1,008
T |ERi214E10H 1H 10:55|= 243| 74| NE 3.9
LV-1| B4 [FEk214-9H 28 H 9:57|% 25.2| 70| ENE 9.7 0.143
T |ER214E9 H 29 H 9:46|= 24.7| 74| ENE 74
LV-2| Bitg |*Fak214F9H 29 H 9:51|% 247 74| ENE 7.4 0.143
T | FRk21459 H30H 9:38|J 21.9] 90| ENE | 6.0
LV-3| BA#s [FE214F9H 30 H 9:43|[y 219 90| ENE 6.0 0.144
T |ERi214E10H 10 9:43|%%: 243| 74| NE 3.9
MET ([BE - REREXRKMER (AT IERZH | HV-1| BRsE |PFR214E9H 7H 9:55|H5 29.1| 53| ESE 24 967
T |ER2149 A 8H 9:55 M 26.8| 66| SSE 1.7
HV-2| BA#s |FE214F9H 8 H 10:15 i 28.9| 50| NNW| 2.6 977
T |ER214E9H9H 10:15| & 239] 53| NNW| 15
HV-3| BA#s [FR214F9H9H 10:35 |5 25.6| 48| WNW| 3.0 992
T |FER214E9H 10H 10:35| i 23.1] 57| SSE 2.1
LV-1| BA#s [FRk214E9H 28 A 9:28|% 26.6] 64| ENE 34 0.145
ST |ER214E9H 29 H 9:28|= 250 76| WNwW| 1.0
LV-2| B |ERc214E9H 29 F 9:31|%& 241 83| s 0.8 0.144
T |ER214E9H30H 9:31/ [ 215 90| E 11
LV-3| BA#s | FE214F9H 30 H 9:34|/INF 220/ 91| ESE 0.7 0.149
T |ER214E10H 1H 10:19 (W5 244 73| E 2.0
RER [ RE—REFERAKBHEF CREL) R [HV-1] BRG [FR214E9H 281 11:15(/% 238| T2 ENE| 27 1,014
T |ERi215E9 H 291 11:15|H5 239 78 NNW| 1.1
HV-2| BA#s |FRk214F9H 29 H 11:28|i% 239 78| NNW| 1.1 1,011
T |ER214E9H30H 11:28|’M 222 91| N 0.9
HV-3| BA#s [ FE214F9H 30 H 11:49(r 222 91| N 0.9 1,008
T |'PRR214E10H 1H 11:49|= 255) 70| SW 15
LV-1| B#s [FRk21459H 28 A 11:16(1 238] 72| ENE 2.7 0.140
T | ERi215E9 H 29 H 11:02 (W 239 78 NNW| 1.1
LV-2| B4 | FEk214-9H 29 H 11:11 W5 239 78| NNW| 1.1 0.143
T |ER214E9H30H 11:23|M 222 91| N 0.9
LV-3| B [ER214E10 11 11:50|% 255| 70| sSw 15 0.142
T |PERk1FE10H 20 11:38| = —IF [N 244 82|WNW| 0.8
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SR E T =2 ) v 7R R B KR
A =38 |\ e N =y B
i R BB | mmean | % T | s | S
BRI (ERR RIS e R ERT (BRI 0> 55 HT) IEREH | HV-1| Bass |FFRk214£10H6 13:36]% 20.7] 53] NE 3.8 962
T |ER214E10A 7TH 12:30|= 196/ 63| NE 8.6
HV-2| BA#s [FR214F10H 7H 12:57|= 195 60| NNE| 9.1 966
W“%T [ER214E10 A 8H 12:00|= 189 65/ N 18.1
HV-3| BA#s [FEk214-10 A 8 H 12:30|& 190 62 N 17.2 966
T |ERi214£10H 9H 11:30| M 18.0] 43| NNE | 10.6
LV-1| B4 [FE214E10 A6 H 13:45| % 20.7] 53] NE 38 0.138
T |ER214E10H 7H 12:30|%= 196 63| NE 8.6
LV-2| B4 [ FE214E10A 7H 13:00|% 195 60| NNE| 9.1 0.138
“%T |ER214E10 A 8H 12:00|= 189/ 65/ N 18.1
LV-3| BA#s [FE214F10 A 8H 12:32| %= 190 62 N 17.2 0.138
T |ERi214£10H 91 11:30| M 18.0| 43| NNE | 10.6
UNCT N RVAEEE Sk = i a N ) IRBE (HV-1| Bikg [F2149H 7H 9:58 | PffiFf 28.3] S58[NNW| 1.7 1,008
T |ERi214E9H 8 H 9:58| P 277 46| NNE| 55
HV-2| Bt |*FRk214-9H 8H 10:21 | e 277 46| NNE| 55 1,008
T |ER214E9H9H 10:20| i 246| 54| NNE | 41
HV-3| BRAE [FR214F9H9H 10:35 |1 246| 54| NNE | 4.1 1,008
T |FER214E9H 10H 10:35|KE 242| 44| N 37
LV-1| Bi%g |*FRk21429H7H 10:02| i 28.3] B8 NNW| 1.7 0.139
T | ERi214E9H 8 H 10:02 | i 277 46| NNE| 55
LV-2| BAiE [FR214F9H8H 10:11 |t 277 46| NNE| 55 0.140
T |ER214E9H9H 10:11 | 246| 54| NNE | 41
LV-3| BHiE [EA214F9H9H 10:15|i% 246| 54| NNE | 4.1 0.141
T |FER214E9H 10H 10:15 K& 242 44| N 37
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SERRUEE T =2 U v 7 AR S P
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% “(fffyi
o Lo EEREEREE  ¥ — (lLa T IREEH | MV | BAtE |TFR214F9H 7TH 10:00|F& 27.3] 56| SSE 0.8 1,008
2H H |ERk214E9H 8 H 10:00| & 27.1| 59| NE 0.7
3H H |ERL214E9H 9 H 10:00| & 26.4| 51| NNW| 0.4
4H B |*FR214£9H 101 10:00| = 255 39| ENE 0.7
5H B [FR2149A 11 H 10:00 M 242| 52| NE 0.4
6H B [FRk21459 12 H 10:00|iN 186 88| E 1.4
7H B [¥Rk21459 13 10:00(= 24.8| 60| ESE 0.6
T |TERN214E9H 14 H 10:00|= 229| 64| SE 04
LV-1| B#s [FR214E9HT7H 10:00(1% 27.3] 56| SSE 0.8 0.148
#“wT | ERi214E9H 8 H 10:00| & 27.1| 59| NE 0.7
LV-2| BA#s [FE214F9H 8H 10:00|i 271 59| NE 0.7 0.145
T |ER215E9H9H 10:00| & 26.4| 51| NNW| 0.4
LV-3| Bi%s |*FRk214-9H9H 10:00 |1 26.4| 51| NNW| 0.4 0.145
T |ERG214E9H 10 H 10:00|= 25.5| 39| ENE 0.7
TP LS ST (k) IREEH | MV | BAtE |*FRk214-9H 8H 11:00|= 250 71 N 2.4 1,009
2H H |ERL214E9H 9 H 11:00| = 246/ 59| N 32
3H B [¥R21459A 10 11:00 M 255| B2 NNW| 3.1
4H B |*ER214E9H 111 11:00| %= 27.8| 43| SSE 0.9
5H B [FRk21459 12 H 11:00|iN 186 94| S 1.8
6H B [FRk21459 13 H 11:00 M 250/ 59| N 32
7H B [ERk2149 14 11:00( = 256/ 58] N 1.3
T |ER214E9H 15 H 11:00|= 224 72| NNW| 1.0
LV-1| BH#s [ERk214E9H 8H 11:00] 4% 250 71] N 24 0.149
T |ER21I4E9H9H 11:00|= 246| 59 N 3.2
LV-2| Bi4s |*FRk214-9H9H 11:00|4% 246/ 59| N 3.2 0.143
T |ERi214E9H 10H 11:00| M 255| B2 NNW| 3.1
LV-3| BA#s | FE214F9H 10H 11:00 (/% 255| B2 NNW| 3.1 0.143
T |ERG21I4E9H 11H 11:00|= 27.8| 43| SSE 0.9
SR | RAEEREY ¥ — (BT IR |HV-1| Bts |SFAk214E9H 28 H 10:14|/ 23.7| 89| ESE 1.8 1,007
T |SER214E9H 29 H 10:14|= 26.3| 74| N 1.4
HV-2| Bts |*F-ak214F9H 29 H 10:57 |4 263 74| N 1.4 1,006
%7 |SERN214E9H 30 H 10:57 |’ 219] 90/ NNW| 25
HV-3| BA#s [FRk214F9H 30 H 11:33[/ 218/ 91| N 1.9 1,008
%7 O|ERG21I4E10H 1H 11:33|= 25.3| 71| ESE 3.1
LV-1| BA#s [FRk214F9H 28 A 10:14[r 23.7| 89| ESE 18 0.142
T |SERN214E9H 29 H 10:14|= 26.3| 74| N 1.4
LV-2| Bk [FE214F9H 29 H 10:57 |4 263 74| N 1.4 0.143
%7 |SERN214E9H 30 H 10:57 | 219] 90/ NNW| 25
LV-3| Bt [FE214F9H 30 H 11:33|/ 218/ 91| N 1.9 0.144
T |ERG214E10H 1H 11:33|= 25.3| 71| ESE 3.1

55



SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
FINE [FNREREFERITE (B EREH | MV | BR%S |PER21F9H 10H 12:05(1& 229] 54| SSE 1.7 1,008
2H B |*ER21F9H 11H &I 239/ 58| SSE 15
3H B [FRk2149A 12 =B 214 80[NNW| 27
4H B [FR214E9H 13 H FIRF % 238| 62|NNW| 21
5H B |*FR2199H 14 H ey 2 iif 227 68 E 20
6H H |WERk214E9H 15 H Mtk = 21.6| 80| SSE 1.3
7H B [FRk21459 16 H i 1 IR 2 A2 220 64| N 2.0
T | ER21E9H 1T H 12:05 i 21.7| 60| SSE 1.9
LV-1| B#s [FEk214E9H 100 12:03 (1% 229 54| SSE 17 0.141
T [ER214E9H 11H 12:03| = —IFhiG 239| 58| SSE 15
LV-2| BA#s [FE214F9H 11H 12:05| 2= — Mg 23.9| 58| SSE 15 0.143
W% [ER214E9H 12 H 12:23| =% [ 214 80[NNW| 2.7
LV-3| B#s [FE214F9H 12 0 12:27| 2% 21.4| 80| NNW| 2.7 0.143
T |FER214E9 H 13 H 12:26 |y 2 = 238| 62| NNW| 21
Cet RS FINRSIRE KK 7 —0 (B EREH | MV | BRSS |PER21F9H 10H 11:31(0& 229 54] ssw 1.7 1,008
) ) 2H H |FER214E9H 11 H =P 239 58] ssw 15
3H H |FER214E9H 12 H E=HH 214 80 s 2.7
4H H |WER214E9H 13 H & = 238 62| N 21
5H B |*FE2149H 14 H ey 2 fiif 22.7| 68| SSW | 20
6H H |FR214£9H 15 H BT 216| 80| SSW | 13
7H B |'FR214£9 A 16 H W5 1% IR 2 2 220] 64| NNE| 20
T | ER21E9H 1T H 11:31 (W5 21.7| 60| NNE | 1.9
LV-1| B#s [FRk214E9H 100 11:24 (1% 229 54 ssw | 1.7 0.143
T [ER214E9H 11H 11:24| = —IFliG 239 58] ssw 15
LV-2| BA#s [FE214F9H 11H 11:38| = — e 239| 58] ssw| 15 0.142
T [ER214E9H 12 H 11:38| =14 [ 214 80 S 2.7
LV-3| Bt [ FEk214F9H 12 H 11:42| 2% 214 80| S 2.7 0.143
T |FER214E9 H 13 H 11:41 |5 2 = 238| 62| N 2.1
g |EIR R TR (ST R [HV-1] BRAG [FR214E9H 291 12:37| % 305/ 59| WNwW| 3.8 1,008
T [ER214E9H30H 12:37|= 28.3| 66| W 2.1
HV-2| BA#s [FR214-9H 30 H 13:18|%= 29.1] 65 w 3.7 1,008
T [ER214E10 A 1H 13:18|’M 20.1] 61| w 35
HV-3| Bt |*F-a214F10H 1H 13:51(f 295 59| w 35 1,008
T |ER214E10 A 2 H 13:51 |’ 27.8| 80| SSE 33
LV-1| BA#gs [FEk214E9H 29 A 12:42| % 305 59| WNwW| 3.8 0.142
% T |ER21429H30H 12:42|%= 28.3| 66| W 2.1
LV-2| BA#s [FE214F9H 30 H 13:15|% 29.1] 65| w 3.7 0.144
%T [ER214E10 A 1H 13:15|’M 20.1] 61| w 35
LV-3| Bt [FE214F10H 1H 13:49(/ 295/ 59 w 35 0.144
T |FER214E10 A 2 H 13:49|F 27.8| 80| SSE 33
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
fE b [RApmEm&ErT (KAE|T) B [HV-1] BAG [FR214E10H5H 10:10| = 20.9] 73] WN 1.2 1,008
W% |ER214E10 A6 H 10:10| =12 /Y 21.8| 96| NE 1.6
HV-2| BA#s | FE214F10 A6 H 10:18| =% /Y 21.8| 96| NE 16 1,008
W%T [ER214E10A 7H 10:18|= 180 83 N 4.2
HV-3| BA#s [FR214F10H 7 H 10:32| %= 180 88| N 42 1,008
% |FER214E10 A8 H 10:32|= 200 75 N 6.0
LV-1| B#s [FRk214E10H5H 10:16| %= 209 73] WN 1.2 0.144
W% |ER214E10 A6 H 10:16| =12 /Y 21.8| 96| NE 1.6
LV-2| B4 [ FE214F10H 7H 10:21|% 180 88| N 42 0.144
“%T |FER214E10A8H 10:21|= 200 75| N 6.0
LV-3| B4 [FE214-10 A8 H 10:31|%= 2000 75| N 6.0 0.145
T [FER214E10 H9H 10:31|= 205 72 N 3.0
Peg IR (e RBREEE v 2 — (B Th) IRIEHT | MV | Bifs | TFRk214F9H8H 9:56|iF 280] 63] N 36| 1,008
2H H |ER214E9H 9 H 9:56 | fiff 296/ 44 NNE| 23
3H B [FH214£9H 10 9:56 i 282 41| NE 1.8
A4H B |*ER214E9H 111 9:56 |l 28.2| 46| ESE 1.3
5H B [FR2149A 12 H 9:56|4 211 92[ Nw 3.8
6H B [FRk21459 13 9:56 /i 25.6| 61| Ssw | 1.2
7H B [FRk21459 A 14 9:56|% 26.2| 59| ENE 16
T |ERi214E9H 151 9:56|% 283| 55| E 1.2
LV-1| BRAE [ERK214F9H8H 9:55(IF 280 63] N 3.6 0.143
T | ERi215E9H9H 9:55| fif 296/ 44 NNE| 2.3
LV-2 | BHiE [ER214F9H9H 10:02 1% 29.1| 44| NNE| 23 0.144
T |PERi214E9H 10H 10:02| & 28.1| 45| NE 1.8
LV-3| B4 [FE214F9H 10 H 10:06 |1 28.1| 45| NE 1.8 0.141
T | ER214E9 H 11 H 10:06| & 28.0| 47| ESE 1.3
REARIL  |REARIRREBREER FIF e (L) IERZH | HV-1| BAsE |PFRK214E9H 28 H 11:52|= 30.5] 86] NNE 0.9 973
T |ER214E9H 29 H 11:52|= 284 73] NW 3.3
HV-2| Bts |*F-a214F9H 29 H 13:00| 4% 26.8] 75| Nw 2.9 987
T [ER214E9H30H 13:00(’ 25.2| 87| NW 39
HV-3| Bitg |*F-a21479H 30 H 13:40(f 238 92| WNW| 2.9 987
T |ER214E10H 10 13:40|M& 29.0/ 65] Nw 2.4
LV-1| BA#s [FRk214E9H 28 A 11:48| % 305/ 86| NNE| 0.9 0.141
T |ER214E9 H 29 H 11:48|= 284 73] NW 3.3
LV-2| B4 [ FEk214-9H 29 H 11:58|% 28.4| 73] Nw 3.3 0.142
% T |ER21429H30H 11:58|’ 255 80| NW 1.9
LV-3| BA#s [FE214F9H 30 H 12:20(f 255 80[ Nw 1.9 0.142
T |ERi21410H 10 12:20| & 30.00 57| NNW| 28

57



SRR T =4 U v 7 i R S P
A =98 N=Wi:a N S L B
IR A BB | mmean | R - ‘”(E%/% A (kan% ﬂ(iifyi
EIRF IR | R R AR BR BRI ST (IR ) EREH | MV | BR%S |PER214:8H3LH 10:40|F5 204] 68 E 3.2 1,005
2H H |ERL214E9H 1H 10:00 M 289 63| ENE 35
3H H |ERL214E9H 2 H 10:00 M 285 62| NE 43
4H H [ER2149A3H 10:00|iN 26.2| 79| NNE| 2.7
5HH |WER214E9H 4 H 10:00|iN 26.1| 81| NE 39
6H H |ER214E9H5 H 10:00 M 286 69| NE 4.7
7HH |ER214E9H 6 H 10:00 M 288 70| NE 55
T |ER214E9H 7TH 10:21|= 282 68| NE 4.0
LV-1| B#s [FRk214E8 H31H 10:25|1% 29.4] 68| E 3.2 0.140
T |19 1A 10:27 W 289 63| ENE 35
LV-2| Bi4s |*FRk214-9H 1H 10:33 (1% 289 63| ENE 35 0.140
T |ER21I4E9H 2H 10:25| i 285 62 NE 4.3
LV-3| Bi%s |*FRk214-9H2H 10:43 |5 285 62| NE 43 0.139
T | ER214E9 A 3H 10:23 |’ 26.2| 79| NNE 2.7
IR RS RREREE ¥ — (EIRET) IERZH | HV-1| BRdg |FFR214°9H 28 H 9:04|H& 30.4] 64 NNE 25 1,009
T |ER214E9 H 29 H 9:04|= 27.7| 76| NNE 3.1
HV-2 | BR%s [FE214F9H 29 H 9:46|% 281 78] N 0.5 1,008
T [FER214E9H30H 9:46|= 27.1] 77| NNE 2.0
HV-3| Bitg |*F-ak214F9H 30 H 10:30 (i 28.7| 71| calm - 1,008
W% |FER214E10 A 1H 10:30|= 273| 72| NNW| 24
LV-1| B#s [FRk214E9H 28 A 9:15(iF 30.4] 64 NNE| 25 0.142
T |ER214E9H 29 H 9:15|= 27.7| 76| NNE 3.1
LV-2| B4 |FE214E9H 29 H 9:50|%= 281 78] N 05 0.142
T [ER21429H30H 9:50|= 27.1]  77[ NNE 2.0
LV-3| BA#s [ FE214F9H 30 H 10:33 (i 28.7| 71| calm - 0.142
T [FER214E10H 1H 10:33|= 273| 72[NNW| 24
PRRE SR ([EEER) IR [HV-1| BAsG [FRK214E9H7H 12:23 (W5 31.3] 60 NNW| 56 1,008
T |ERi214E9H 8 H 12:23 | 305/ 62| NE 36
HV-2 | BRiE [FR214F9H 8H 13:00|i% 309 63| NNE| 29 1,008
ST |ER21I4E9H9H 13:00| i 304| 60/ NNW| 3.7
HV-3| BRiE [FR214F9H9H 13:26 |5 30.4| 60| NNW| 3.7 1,008
T |ERi214E9H 10H 13:26|IF 30.7| 70| sw 2.3
LV-1| Bi4g |*FRk2149H7H 12:38 (1% 31.3] 60| NNW| 5.6 0.139
w“wT | 2149 H 8 H 12:38 | 305/ 62| NE 36
LV-2| Bitg |*FRk214-9H 8H 13:05|i% 309 63| NNE| 29 0.139
T |ER215E9H9H 13:05| & 30.4| 60| NNW| 3.7
LV-3| Bi%s |*FRk214-9H9H 13:07 |1 30.4| 60[ NNW| 3.7 0.140
T |ERi214E9H 10H 13:07|0& 30.7| 70| sw 2.3
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SRR T =4 U v 7 i R S RS
~ A _ _ /::J;]z]ll :HE N =45 %
i R BB | mmean | % T | (b S
AevE B TITE (EEET) FEMH [HV-1| BIgh [FAK21411 716 H 16:23 44 82 w 4.6 991
T | ERk21E11 8 17 H 16:00 38| 70|WNW| 26
HV-2| BAs [FE214E11A 17 H 16:26 36/ 70|WNW| 3.0 997
T |ERk21411H 18 H 16:10 11| 67| WNW| 6.2
HV-3| BA#s [FRk214-11 A 18 H 16:20 1.0 67| WNW| 5.4 986
%7 |PERG214E11H 19H 16:00 15[ 88 Nw 1.9
LV-1| B4 [FE214F11A 16 H 16:23 44| 89 w 4.6 0.155
T | ER214E11 B 17 H 16:25 36 71| Nw 1.7
LV-2| B4 [FE214F11A 17H 16:28 36/ 70|WNW| 3.0 0.159
%7 |SERG214E11H 18 H 16:24 | 1.0 67|WNw| 54
LV-3| B4 [FE214F11 A 18 H 16:26 1.0/ 68| WNW| 5.1 0.156
%7 |PERG21I4E11H 19H 15:54 1.8 87 Nw 15
FLISE T ) | HV-1| Bis PRI ITH 14:00 51| 59 NNw| 1.6] 1,000
T |ERk214E11H 18 H 14:00 43 56| NNW| 5.0
HV-2| BA#s [FEk214F11 A 18 H 14:00 |5 43 56| NNW | 5.0 985
T | ERk214E11 8 19 H 14:00| %= 36/ 65/ NNW| 31
HV-3| BA#s [FR214-11 A 19H 14:00 36 65/ NNW| 31 1,000
T | ER214E11 8 20 H 14:00 13| 63 NNW| 3.6
LV-1| B#s [FE214F11A 17 H 14:00 51 59 NNW| 16 0.152
T |ERk21411 8 18 H 14:00 W 43 56| NNW| 5.0
LV-2| B4 [FE214F11 A 18 H 14:00 43 56| NNW | 5.0 0.152
T | ERk214E11 8 19 H 14:00 36/ 65/ NNW| 31
LV-3| Bass [ER214E11 A 19 R 14:00|% 36/ 65/ NNW| 31 0.154
T | ERi214E11 8 20 H 14:00(55 13| 63 NNW| 3.6
EFR [WEAXT—8 (FLH) FEBW [ HV-1| BAkG |[FAK21411H16H 11:50| 5 14] 87] S 1.9 1,008
T |ERk214E11 8 17 H 11:50(%5 0.0 99| NNW| 009
HV-2| BAs [FE214F11A 17H 12:42|5% 05 99| NNE | 17 1,008
T | ERk214E11 8 18 H 12:42|55 02| 68/wsw| 31
HV-3| BA4s [ FEk214-11 A 18 H 13:41|5% .12 85| wWsw| 4.4 1,008
T | ERi214E11 8 19 H 13:41|55 52| 50| ESE 16
LV-1| B4 [FE214F11 A 16 H 12:00|5% 14| 87 S 1.9 0.140
T B2l 11 8 17 H 12:00(%55 0.0/ 99| NNW| 009
LV-2| B4 [FE214F11A 17H 12:09|5% 0.0/ 99| NNW| 009 0.141
T | ERk214E11H 18 H 12:14|%5 28| 58/ Wsw| 5.0
LV-3| B4 | FEk214F-11 A 18 H 12:53| 5 11| 78lwsw| 3.1 0.142
%7 |TERG214E11H 19H 12:53|% 52| 50| NE 1.6
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
EWR |ERIRAREERE R ¥ — (lETH) EHW | MV | BRSE |PERK21FE12A TH 11:48 (K& 91] 471 w 6.8 976
2H B |¥Rk21412H8H 9:43|% 7.1 51|WNw| 28
3H B [FRk21412H9H 9:29 M 47| 64/ NNW| 0.9
40 H |*ERk214212 510 H 9:32 M 46| 56/ NNW | 4.4
5HH |"ERk214E12H 11 H 8:55|4% 52| 78 NNW | 24
6H H |"ERk214E12H 12 H
7H H |"ERk214E12H 13 H
%7 |ERG214E12H 141 11:48|= 57| 62| ESE 1.8
LV-1| B4 [FR214E12 A7 H 9:32|M5 76] 52| W 3.7 0.157
T |SER214E12 H 8 H 9:32|= 6.6| 50| wsw| 438
LV-2| BA#s [FE214E12 A8 H 9:42|%& 6.6 50/ WSw| 48 0.158
%7 |SERG214E12H9H 9:42 | 6.1 61| w 2.3
LV-3| Bt [FEk214E12 A 9H 9:48|M5 6.1 61| W 2.3 0.156
T | ERk214E12 5 10 H 9:48|fiif 75| 61| NNW| 28
Ky | KRR R ER T ¥ — (L) LW | MV | BRSG |PERK21F11H6H 10:00 |F& 170 71 S 1.1 1,027
2H B [ER21411ATH 9:00|H& 155/ 98| N 0.7
3H B [¥Rk21411H8H 10:00| = 18.6] 95/ NNE| 009
4H B |*FR214E11 91 12:00|H 220 72| sw 1.4
5HH |"ERk214E11H 10H 10:00| = 183| 88 S 1.3
6H H |"ERk214E11H 11 H 10:00(iN 18.4| 100 E 2.7
7HH |"ERk214E11H 12 H 10:00| = 13.0/ 80| NE 5.6
%7 |ERG214E11H 131 10:00|= 11.7| 96| NNE 41
LV-1| B4 [FEk214F11 A 10H 10:00] %% 183 88 S 13 0.144
T |ERk214E11 8 11 10:00|iN 18.4| 100 E 2.7
LV-2| BR#s |FR214E11H 11H 10:00(rH 18.4| 100 E 2.7 0.146
%7 |SERG21I4E11H 12 1 10:00|= 13.0{ 80| NE 5.6
LV-3| BA4s [FE214F11A 12 H 10:00|% 13.0] 80| NE 5.6 0.151
%7 |ERG214E11H 131 10:00|= 11.7| 96| NNE 41
FER IR BRI A AEBREEAN SR T (RIAGT) EmHW | MV | BRRG |PERK214FE11H 27H 9:38|f#E 134 62 W 1.4 1,007
2H H |"ERk214E11H 28 H 10:00 | i 155| 40/ Nw 5.2
30 H |"ERk214E11H 29 H 10:00 M 94| 48] sw 0.7
40 H |*ERk214511H 30 H 10:00| = 9.2 64| WNW| 1.4
5H B [FRk21412H 1R 10:00 | etiE 10.9] 58| ESE 1.4
6H B [FRk21412H2H 10:00 | i 11.6] 48|wNw| 31
7H B [¥Rk21412H3H 10:00 (= 8.8 61| Nw 31
T O |TERG214E12H 4 9:30|E 12.3| 53| NNW| 37
LV-1| B#s [FEk214E12 A 1H 9:35| PRI 10.9] 58] ESE 1.4 0.150
T |ERi215E12H 2 9:05| P 89 55|WNw| 38
LV-2| Bt [FE214E12H2H 9:07 | 89| 55/WNW| 38 0.153
T |SER214E12H 3H 9:48|= 8.8| 61| NW 3.1
LV-3| BA#s | FEk214E12 A 3H 9:50|%= 8.8 61| NwW 31 0.145
T |ERi215E12H 40 9:30|fiif 12.3] B3| NNW| 37

60



SRR T =4 U v 7 i R S P
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
FIER  |HRERR—EEEERKEER (TR FEMH [HV-1| BIgh [TFA21411H17H 10:06[i[N SR R &% | B 999
%7 |SERG214E11H 18 H 9:56|= 10.3]  94N,NNW 3.0
HV-2| BAs [FE214-11 A 18 H 10:12| = S| el RS | e 1,001
%7 |PERG214E11H 19H 10:02|= 87| 77| NE 1.9
HV-3| BA#s [FR214-11 A 19H 10:11 % S| e R | e 1,001
T | SER214E11H 20 A 10:01|F 7.7] 93| NNE| 1.9
LV-1| B4 [FEE214F11A 17 H 10:06 [/ S| R % | ER) 0.141
%7 |SERG214E11H 18 H 9:56|= 10.3|  94N,NNW 3.0
LV-2| B4 [FE214F11 A 18 H 10:12| = S| e RS | e 0.142
T |PERG214E11H 19H 10:02|= 87| 77| NE 1.9
LV-3| B4 [FE214F11 A 19H 10:11 % S| SEH R | e 0.142
#T | FRR214E11 20 H 10:01|F 770 93 NNE| 19
R |RRHEBRER AT (LIRX) FEHH | MV | B |PERK21FE12H9H 10:02|= 11.6] 49 NNw]| 1.8 1,008
2H H |"ERk214E12H 10H 9:53 |l 17.3| 61| ENE 2.8
30 H |"ERk214E12H 11 H 10:03(/ 8.4 81| NNW| 38
40 H |*ERk214E12 812 H 10:00 M 155 75| NNW | 32
5HH |"ERk214E12H 13 H 10:00 M 11.4] 38 NNW| 40
6H H |"ERk214E12H 14 H 10:00| = 89| 47| NNE| 17
7HH |"ERk214E12H 15H 10:05|%= 9.7 42|NNW| 1.0
W% T |TERG214E12H 16 H 10:05|= 84| 56| NNE 1.4
LV-1| Bass [PFR218E12A9H 10:03| %= 11.6] 49| NNW| 1.8 0.153
T | ERk214E12 510 H 9:50 |l 17.3| 61| ENE 2.8
LV-2| B4 |FE214-12 A 10H 9:52(I& 17.3| 61| ENE 2.8 0.152
T | ERR214E12 111 10:02|F 84/ 81 NNW| 38
LV-3| B4 [FE214F12 A 11H 10:03(r 8.4 81| NNW| 38 0.143
T |21 12 B 12 H 10:00| & 155 75 NNW | 32
TN RA I EHH | MV | B |PERRLIFE11LA27H 9:58(= 216/ 83|wNw| 21 1,008
2H H |"ERk214E11H 28 H 10:03|/ 22.8| 96| ENE 0.8
30 H |"ERk214E11H 29 H 9:52|% 229 91| ENE 3.9
40 H |*ERk214-11 530 H 10:07|F 223 93| NE 2.1
5H B [FRk21412H 1R 9:56|4% 231 91| NE 21
6H B [FRk21412H2H 9:58|fl 215 96| ENE 31
7H B |¥Rk21412H3H 9:53|% 249 96| ssw | 2.9
T |ER214E12 A 4H 9:55(= 217 91| wsw| 1.7
LV-1| Bass [FER218E11A27H 10:00| %= 216 83[wNw| 2.1 0.148
T |YERk214E11H 28 H 9:58 (N 22.8| 96| ENE | 0.8
LV-2| B4 [FE214F-11 A 28 H 10:07|r 22.8| 96| ENE 0.8 0.147
T |PERG214E11H 29 H 9:55|= 229| 91| ENE 39
LV-3| B4 [FE214F11 A 29H 10:00|% 229| 91| ENE 3.9 0.146
%7 |ERG214E11H 30 H 9:54|/ 22.3| 93| NE 2.1
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SERRUEE T =2 Y o 7 AR BUE ) KA
A V=3=! YA {F N - R=N
IR R BB | mmean | % T | s | S
MR S| BEER %Y ¥ — (CEEM) FE I [HV-1| Biss [FA21411H9H 10:00(1 192 63| NNE| 07 1,008
T | ERk214E11 8 10 H 10:00| & 195/ 63| NE 1.4
HV-2| BA#s [FE214-11 A 10H 10:00| i 195 63| NE 1.4 1,008
%7 |PERG214E11H 11H 10:00|/ 16.2| 95 N 0.8
HV-3| BA4s [FE214F11 A 11H 10:10|/ 162 95| N 0.8 1,008
%7 |PERG1IE1LH 12 H 10:10|= 135 85| ENE 1.9
LV-1| B4 [FE214E11A9H 10:00| & 192 63| NNE| 07 0.140
T [ER214E11 A 10H 10:00 M 195/ 63| NE 1.4
LV-2| B4 [FE214F11 A 10H 10:00| i 195 63| NE 1.4 0.139
T O|PERG214E11H 11H 10:00|/N 16.2 95| N 0.8
LV-3| B4 [FE214F11A 11H 10:00|[Y 162 95| N 0.8 0.138
%7 |PERGLIAE1LH 121 10:00|= 135 85| ENE 1.9
MEm  (BUERMERBER ST (i) EmHH | MV | B |PERK21IFE11H 13 9:50| & % [ 1122 71 N 5.7 1,007
2H B [Fk214£11H 14H BT 211] 82| SW 9.4
30 H |"ERk214E11H 15H fii 19.3| 48| sw 6.7
40 H |"ERk2142118 16 H o= 148| 371 N 2.1
5HH |"ERk214E11H17H ] 95 78/ NNW| 35
6H B ['FAk21411H 18 H s — I 11.8| 49| NNE 41
7HH |"ERk214E11H 19H MR 2 & 77 62| N 3.7
%7 |SERG214E11H 20H 9:50 (M 14 — = 125/ 53| NNE 2.2
LV-1| B4 [FE214F11A 17 H 9:45([y 95 78/NNW| 35 0.148
W% |SERG214E11H 18 H 9:35 M —HFz 11.8| 49| NNE 41
LV-2| B4 | FE214-11 A 18 H 9:43 M — 11.8] 49| NNE| 41 0.149
%7 |PERG214E11H 19 H 9:34|FRFRF 2 = 771 62 N 37
LV-3| B4 [FE214F11 A 19H 9:40 | [ e 2 22 77 62| N 3.7 0.151
%7 |SERG214E11H 20H 9:35|M5 1% —IF= 125/ 53| NNE 2.2
g [RIL—EERRAER B EBW | HV-1| Bk |FA21F12H7H 10:30| 2% 82| 54 W 6.0 979
T |ER214E12 A8H 10:14|= 83| 61| S 2.3
HV-2| Bits |*F-ak214-12 H8H 10:36|4% 87 62| S 2.3 978
W% [ER214E12A9H 10:13 (K& 110 55/ S 2.3
HV-3| Bits |*Fak214F12 H9H 10:25 |1 110/ 55/ S 2.3 976
T | ER214E12 510 H 10:00| & 8.8| 62| ENE 2.9
LV-1| B#s [FR214E12 A7 H 10:30| %= 82| 54 W 6.0 0.149
T |ER214E12 A8H 10:05|= 83| 61| S 2.3
LV-2| B4 |FEk214E12 A8 H 10:08|% 87| 62| s 2.3 0.153
T [ER214E12 A 9H 10:10 (K& 110 55/ S 2.3
LV-3| B [ FE214E12 A 9H 10:26|iE 11.0] 55 s 2.3 0.149
T | ERi214E12 510 H 10:02| & 8.8 62| ENE 2.9
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SRR T =4 U v 7 i R S P
Hi 5 B | k| L - SR | i JEE | KRB
{&ﬁéﬁi ﬁﬁﬁim)f—i H%E,ﬂ;ﬁ %75‘ T\?KEAX BKHR{:E‘H Ei H%EZIJ f{% (oc) (%) E\l‘ﬁlﬂ (m/S) (m3)
IR [k — R RER @) FEBW [ HV-1| BAkG |[FAK21411 ] 24H 10:04 |44 102] 76| NNE| 14 1,016
T |ERk214E11H 25 H 9:30| 14 I 135 84| w 0.7
HV-2| Bass [ER214E11 A 25 10:02| 214 I 134 84| w 0.7 1,025
%7 |SERG214E11H 26 H 9:31 |5 17.4| 53| S 1.6
HV-3| B4 [FR214-11 A 26 H 10:04 |1 1771 51| S 16 1,040
T |ER214E118 27 H 9:30| =MHF~ I 16.1] 60/ WNW| 1.1
LV-1| B4 [FE214F11A 24 H 10:12|H5 %2 102 76| NNE| 14 0.149
W% |SERG214E11H 25 H 10:07 | =12 135 84| W 0.7
LV-2| Bass [ER214E11 A 25 R 10:14 |24 13.4| 84| W 0.7 0.147
T | ERk214E11H 26 H 10:09| & 174 53| S 16
LV-3| Bk |*FAk214F11H 26 H 10:14|i 1771 51| S 16 0.147
T |ER214E118 27 H 10:00| = HF ~ i 16.1| 60/ WNW| 1.1
HINE a PR EEEY % — (&Rh) FEMH [HV-1| Bsh [FAK214:11H30H 9:40(1% 12.0[ 62| ENE 2.0 1,008
T |ERi215E12H 1 9:40| i 13.4| 59| ssw | 1.0
HV-2| BA#s [ FRk214F12 A 1H 10:05 i 134 59/ ssw| 10 1,008
T |ERi215E12 H 2 10:05| & 155| 49| sw 1.0
HV-3| BA#s [FE214E12 A2 H 10:25 i 155| 49| sw 1.0 1,008
T |ERi21412H 310 10:25|= 11.8| 62| SE 2.0
LV-1| B4 [FE214F11 A 30H 9:55(IF 12.0[ 62| ENE 2.0 0.151
T |ERi215E12H 1H 9:55| fif 13.4| 59/ Ssw | 1.0
LV-2| BAts [ FE214E12 A 1H 10:00 (/% 134 59/ ssw| 10 0.150
T |ERi215E12H 20 10:00| & 155| 49| sw 1.0
LV-3| B4 | FEk214E12H2H 10:10|i% 155| 49| sw 1.0 0.149
T |ERi21412H 30 10:10|= 11.8| 62| SE 2.0
(LA I BhEm|Em) FERH [HV-1| Bish [TFAK21411H 24 11:30|= SR R % | RS 950
%7 |SERG214E11H 25 H 11:20|= 6.8| 92| NNE 15
HV-2| BA#s [FE214E11 A 25H 11:35|% | | &% | R 938
T |ERk214E11H 26 H 11:15|I& 70 90| NNE| 1.3
HV-3| BA#s [ FE214E-11 A 26 H 11:30| | | B4 | R 948
BT | SER2L4E1LH 27 B 11:15|1F 73| 76| S 1.8
LV-1| B4 [FEE214E11 A 24 H 11:30| %= | B &% | % 0.136
%7 |SERG214E11H 25 H 11:20|= 6.8| 92| NNE 15
LV-2| Bt |*F-Rk214F11H 25 H 11:35|% RA7S] IA7S] 8= A AT 0.134
T |ERk214E11H 26 H 11:15|1& 70 90| NNE| 1.3
LV-3| Bt |*F-Ak214F11H 26 H 11:30| % | | &% | R 0.135
&7 |SER2LE1LH 27 B 11:15|1F 73| 76| S 1.8
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR R BB | mmean | % T | s | S
EFIR | EHIRERERSMET (BE¥FH) EHH | MV | B |PER21FE11H30H 9:30(|= 6.6] 81] ssw 1.9 1,009
2H B |'FRk214E12 H 1H 9:30 (Mg —FFz: 6.7 81| WSwW| 23
30 B |'FRk214E12H 2 H 9:40 | PRfFE 40| 84 SSE | 15
4H H |PEk21412H 31 9:40|% —F [N 54/ 19| S 0.8
5H B [FRk214E£12 H 4 H 9:40| Wtk 6.5 82|Wsw| 11
6H B [FRk21412H5H 10:00| = 85 65/ WSW| 5.9
7HH |FER214E12H6 H 10:00|= 41| 93] S 04
ST |ER214E12ATH 9:30| & 45| 81| E 15
LV-1| B4 [FEk214F11A30H 9:50| & 6.6/ 80[ SSW| 109 0.145
T [ER214E12 A LH 9:50(|= 6.7 79| wsw| 23
LV-2| BA#s [FE214E12 A 1H 9:53| & 6.7 79| wsw| 23 0.146
T |YERi215E12H 2 9:53| [k H 40| 87| SSE 15
LV-3| BA#s [FE214E12 A 2H 9:55 | Pl 40| 87| SSE 15 0.146
% |ER214E12 A3H 9:55|= 42| 87| S 0.8
M7 B IR iy B IR AR BR BRI 20 T (55 ) FEH [HV-1| Bsh [FAK21411 716 H 9:40| 2 14.9] 50| SSW 2.3 1,005
T | ERk21E11 B 17 H 9:40|f 9.4 91| WNW]| 3.4
HV-2| BA#s [FE214F11A 17 H 9:45|[y 9.4 91|WNW| 3.4 1,008
T |ERk21411H 18 H 9:45|fiif 108| 61 W 4.4
HV-3| BA#s [FE214F-11 A 18 H 10:15|i 112 s7[wsw| 46 1,008
W% T |ERG214E11H 19H 10:15|= 11.7| 47| NNE 2.3
LV-1| B4 [FE214F11A 16 H 9:45|%& 149] 50l ssw| 23 0.149
T | ERk21E11 B 17 H 9:45|f 9.4 91|WNW| 3.4
LV-2| BA4s [ FE214F11 A 17H 9:48| [y 9.4 91|WNW| 3.4 0.149
T |ERk21411H 18 H 9:48|fiif 108| 61 W 4.4
LV-3| B4 [FE214F11 A 18 H 9:51|I& 108 61 w 4.4 0.150
%7 |PERG21I4E11H 19H 9:51|= 10.0{ 49| NE 2.0
AR | TRERYERAR (4 & ET) EmHH | MV | B |PERK21FE12H 151 10:59 | —IF G 6.8] 58] Nw 33 1,006
2H H |"ERk214E12H 16 H T 6.4 66| WNW| 34
3H B [FERk21412H17H s — I 52| 46| W 3.8
40 H |*ERk214-12 5 18 H fii 3.7 40|WNW| 423
5H B [FERk21412H 19 H M2 B — R 2.8 59 WNWwW| 3.0
6H H |ERk214E12H 20 H fii 43| 43| w 2.3
7HH |"ERk214E12H 21 H fii 41 56| NNW| 4.0
%7 |TERG214E12H 22 1 10:32 K5 —Rp= 43| 58/ NNW| 1.8
LV-1| B4 [FE214E12 A 15H 11:07| = — Wi 7.0 64] NW 2.8 0.148
W% |SERG214E12 H 16 H 10:18|%= —IFhiG 57| 60| WNW| 4.0
LV-2| B4 [FE214-12 A 16 H 10:24 | =4 57 60[WNW| 4.0 0.150
%7 |SERG214E12H 1T H 10:28 (K& 46| 39| W 3.6
LV-3| B4 [FE214F12 A 17H 10:36 | i —Hr iz 46| 39 w 3.6 0.135
&7 |SER214E12 H 18 F 10:12|0& 57 37|WNwW]| 6.0
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SRR T =4 U v 7 i R S RS
57 Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
=ER | ZERAMEBREVZEST (BT FEMH [HV-1| BIgh [FA21412 14 10:07 | P& 136] 56| N 1.4 1,008
W% |SERG214E12 H 151 10:05 (K& 64 62| N 15
HV-2| BA#s [FE214-12 A 15H 10:25 i 82| 62| N 0.9 1,013
%7 |SERG214E12 H 16 H 10:30|= 59| 70| N 2.0
HV-3| Bass [ER214E12 A 16 H 10:45|% 6.1 68 N 2.0 1,010
BT |SER21E12H 17 B 10:45| I 5.6 43| Wsw| 4.9
LV-1| B4 [FE214F12 A 14H 10:05| & 136 56| N 1.4 0.148
W% |SERG214E12 H 151 10:05 (K& 64| 62| N 15
LV-2| B4 [FE214-12 A 15H 10:10|5 72| 62| N 15 0.149
%7 |SERG214E12 H 16 H 10:10|= 59| 72| N 1.6
LV-3| B [ER214E12 416 F 10:10|% 59| 72| N 16 0.149
BT | ER21E12H 17 B 10:10 (W& 55 44| wWsw| 3.9
FCARN | CERE ST RS AR (SR i) FEBW [ HV-1| BAkG |[FAK2141214H 14:11 |15 78] 70] NwW 2.2 1,004
W% |SERG214E12 H 151 14:05|= 72| 77| W 1.8
HV-2| Bass [ER214£12 A 15 R 14:38| %= 72| 77| W 18 1,002
T |SERG214E12 H 16 H 14:30| 40! 68 W 2.9
HV-3| B4 [FR214-12 A 16 H 15:02 i 40 68 W 2.9 1,008
%7 |PERG1IE12H 1TH 15:02| 7
LV-1| B4 [FE214E12 A 14H 14:31|1 78] 70 Nw 2.2 0.150
W% |SERG214E12 H 151 14:31|= 72| 77| W 1.8
LV-2| B [ER214£12 A 150 14:42| % 72| 77| W 18 0.151
T |SERG214E12 H 16 H 14:43 (K& 40! 68 W 2.9
LV-3| B4 [ FE21412 A 16 H 15:00 (i 40 68 W 2.9 0.154
%7 |PERG1E12H 1TH 15:13 (K5
KIRHF | KRIRIFERBE MK EER G WFTERT  (KBRTH) W HV-1| Bk | FA21F12H7H 10:35(1% 95| 57| NW 2.1 988
T |ERi214E12H 8H 10:07 |H 10.5| 56| ENE 1.2
HV-2| BA#s [ FRk214E12 A 8 H 10:41 i 105/ 56| ENE 1.2 995
ST |ER214E12 A9H 10:22| & 10.4| 64| SW 1.2
HV-3| BA#s [ FR214E12 A9 H 10:54 1% 10.4| 64| sSw 1.2 978
BT | ER214E12H 10 H 10:11 |0 11.1] 73| NE 16
LV-1| B [FRk214E12A7H 10:10(1% 95 57| Nw 2.1 0.144
T |ERi214E12H8H 10:10|H5 10.5| 56| ENE 1.2
LV-2| B4 [ FEk214E12 A 8 H 10:15 |1 105/ 56| ENE 1.2 0.142
T |ER214E12 A9H 10:00| i 10.4| 64| SW 1.2
LV-3| BA#s | FEk214E12 A 9H 10:05 i 10.4| 64| sSw 1.2 0.144
&7 |SER2112H 10 A 10:10|M& 11.1] 73| NE 16
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SRR T =4 U v 7 i R S P
57 Y=N=| YE [{E N =t =
i A BB | mmean | R - ‘”(E%/% A (kan% “(fffyi
LR [ REREEF e v ¥ — (FF ) FEMH [HV-1| BIgh [FAK21411 716 H 9:57| = —HFiy 12.8] 53[WNwW]| 34 1,008
T |PERG21I4E11LH 1TH 9:57|rN 95| 86| E 24
HV-2| BAs [ FE214F11A 17 H 10:15(r 95| 86| E 24 1,008
%7 |SERG214E11H 18 H 10:15| & 13.3| 60] sSw 39
HV-3| BA#s [FRk214-11 A 18 H 10:22 i 13.2| 60 sw 39 1,008
BT | SER214E11H 19 F 10:22| & 144 73| E 2.6
LV-1| B4 [FE214E12 A 15H 17:33| % 86| 62 W 2.8 0.143
T | ERk214E12 5 16 H 17:27 W 76| 53] Nw 35
LV-2| B4 [FE214F-12 A 16 H 17:31 (1% 76| 53] Nw 35 0.135
T | ERk214E12 B 17 H 16:01 (& 46| 52| wsw| 53
LV-3| B4 [FE214F12 A 17H 16:05 I 46 s52[wsw| 5.3 0.146
T |ERk214E12 5 18 H 16:24 | = 64| 38wsw| 81
MET ([BE - MEREXRKMER (AT FEM W | HV-1| BRAG [FR214F11H9H 10:52[ 2 19.8] 65| ENE 1.3 1,004
%7 |SERG214E11H 10H 10:50(/NF9 195 68| E 2.1
HV-2| BA#s [FE214E11 A 10H 11:07|/Nfly 196| 69| E 1.8 998
%7 O|ERG21I4E11H 11H 10:58| i 18.3| 90| calm 0.2
HV-3| BA#s [FR214F11 A 11H 11:08 |5 19.1] 81| N 2.6 1,014
BT | SER21E11H 12 A 11:00|= 20.3| 55| sw 0.8
LV-1| B#s [FRk214E11H9H 10:50| %= 19.8] 65| ENE 13 0.144
%7 |SERG214E11H 10H 10:50(/NF9 195 68| E 2.1
LV-2| B4 [FE214F11 A 10H 11:07|/Nfly 196| 69| E 1.8 0.144
T | ERk21E11 8 11 10:58| & 18.3| 90| calm 0.2
LV-3| B4 [FE214F11 A 11H 11:08 (1% 19.1] 81| N 2.6 0.144
BT | SER21E11H 12 A 11:00|= 20.3| 55| sw 0.8
mEE [RE—RERERRENE CRE) B HV-1| Bk |[FA21F11H9H 10:16|H5 158 84 N 0.9 1,008
T |ERk214E11 10 H 10:16 (M5 19.1] 71| Nw 05
HV-2| BA#s [FE214F11 A 10H 10:34 |15 19.1] 71| Nw 0.5 1,008
T |PERG214E11H 11H 10:34|=—KF[N 16.3| 96| N 17
HV-3| Bass [ER214E11 A 11 R 11:12| & —Wrly 165 96| Nw 0.9 1,008
BT |SER2LE11LH 12 A 11:12|= 142 64 NNE| 20
LV-1| BA#s [FRk214E11H9H 10:22|i 158 84| N 0.9 0.146
T |ERk214E11 10 H 10:37|M& 19.1] 71 Nw 0.5
LV-2| B4 [FE214F11 A 10H 10:40 |15 19.1] 71| Nw 0.5 0.148
T |PERG21I4E11H 11H 11:13|=—KF[lN 165 96| NW 0.9
LV-3| Bass [ER214E11 A 11 R 11:17 | — ey 165 96| Nw 0.9 0.144
BT |SER2LFE1LH 12 A 11:18|= 142 64| NNE| 20
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SERRUEE T =2 U v 7 AR S P
57 Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/% A (kan% j‘ﬂ(ffgfyi
BRI |EREEIEEERERT (BRI o BHT) FEM W | HV-1| BRAG [FR214F12H 1H 13:35[F 124 72 N 5.9 964
T |ERi215E12H 21 12:33 | 147 48/ ssw| 25
HV-2| BA#s [ FE214E12 A2 H 13:03|i% 16.3] 46| S 15 964
%7 |SERG214E12H 3H 12:00|/1N/iY 101 73| W 2.7
HV-3| BA#s [FE214E12 A 3H 12:26|/ 104 67| wNw| 1.8 963
T |SERG21E12H4H 11:24|= 10.4| 53| NNE 5.3
LV-1| BA#gs [FRk214E12 A 1A 13:40(1 124 72 N 5.9 0.140
T |SERG214E12H 2 H 12:35 (K& 14.7| 48| SSW 25
LV-2| Bt | FE214E12 A 2H 13:03 | 16.3] 46| S 15 0.138
%7 |SER214E12H 3H 11:58|/INfiY 101 73| W 2.7
LV-3| BA#s [FE214E12 A 3H 12:26|/ 104 67| wNw| 1.8 0.139
“T |SERG1E12H 4 11:23|= 10.4| 53| NNE 5.3
T JRETSLERFP R (R ET) FEM W | HV-1| BRAG [FR214F11H 16 H 9:56| %= 11.0| 48/ NNE| 3.8 1,008
T | ER21E11 8 17 H 9:56(/ 56/ 81| NNE| 51
HV-2| BAs [FE214E11A 17H 10:19(/ 56/ 81| NNE| 51 1,008
T |ERk214E11 8 18 H 10:19|I& 99 50| SE 0.9
HV-3| B4 [FE214-11 A 18 H 10:30 |1 99 50| SE 0.9 1,008
%7 |PERG21I4E11H 19H 10:30|= 10.0 59| NNE 2.5
LV-1| BR#s [ERk214E11H 16 H 10:00| %= 11.0] 48| NNE| 38 0.144
T |ER21E11 B 17 B 9:57|r 56/ 81| NNE| 51
LV-2| B4 [ FE214F11A 17H 10:04(r 56/ 81| NNE| 51 0.144
T |ERk214E11H 18 H 10:05| & 99 50| SE 0.9
LV-3| B4 | FE214-11 A 18 H 10:09 i 99 50| SE 0.9 0.144
%7 |PERG214E11H 19H 10:09|= 10.0 59| NNE 2.5
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SERRUEE T =2 Y o 7 AR BUE ) KA
5 BRI | | - SR | B JEOE | RRERIE
N wei | g | RO | BRIUEAH i ) | o) ms)| o)
Wo R L REREREE ¥ — (L) EHW | MV | BRSE |PERK21FE12A TH 10:00 K& 59] 67 0.7 1,008
2H B [¥Rk21412H8H 10:00| & 6.8 63 0.6
3H H |FER214E12H9H 10:00|= 75| 76 04
40 H |*ER214212 510 H 10:00|iN 94| 89 0.1
5HH |"ERk214E12H 11 H 10:00| = 13.1] 96 1.0
6H H |"ERk214E12H 12 H 10:00 M 147 74 0.9
7HH |"ERk214E12H 13 H 10:00 (= 10.2| 79 1.3
%7 |TER214E12 H 14 H 10:00 |F5 96| 75 0.7
LV-1| B [FEk214E12 A7 H 10:00(/% 59| 67 0.7 0.143
“%T |ER214E12 A8H 10:00 |F5 6.8| 63 0.6
LV-2| B4 [FE214E12 A8 H 10:00|/ 6.8 63 0.6 0.146
T [ER214E12A9H 10:00|= 75| 76 0.4
LV-3| Bitg |*FRk214-12H9H 10:00|% 75| 76 0.4 0.145
%7 | TER214E12 H 10 H 10:00( 94| 89 -
TP LS ST () EHW | MV | BRAG |TERkK21F12H 8 H 11:00 K5 123 49 35 1,008
2H H |FER214E12 H9H 11:00|= 91| 75 2.5
30 H |"ERk214E12H 10H 11:00|iN 10.8] 90 1.0
40 H |FER21412 511 H 11:00| = 159| 80 25
5HH |"ERk214E12H 12 H 11:00| %= 14.4] 76 21
6H H |"ERk214E12H 13 H 11:00| %= 122| 64 0.1
7HH |"ERk214E12H 14 H 11:00 (M5 13.0] 45 36
%7 |SERG214E12 H 151 11:00|= 99| 55 1.4
LV-1| B#s [FRk214E12 A8 H 11:00(1% 12.3] 49 35 0.144
T [ER214E12A9H 11:00|= 91| 75 25
LV-2| BA#s [FE214E12 A 9H 11:00|% 91| 75 25 0.144
%7 |SERG214E12 H 10 H 11:00|/ 108 90 1.0
LV-3| B4 [FE214-12 A 10H 11:00(r 108/ 90 1.0 0.143
%7 |ERG214E12H 11H 11:00|= 159 80 2.5
Tl R 1 AW [HV-1| B4s |FER214E11A 16H 9:19|= 126] 51 4.3 1,007
%7 |PERGLIE1LH 1TH 9:19| RN 74| 86 5.3
HV-2| BA#s [FE214F11A 17 H 9:57|F 7.4 86 5.3 1,007
%7 |SERG214E11H 18 H 9:57 | 102 51 5.9
HV-3| B4 [FEk214F11 A 18 H 10:31 | 11.3] 43 5.8 1,007
W% T |ERG214E11H 19H 10:31|= 105 67 46
LV-1| B4 [FE214F11A 16 H 9:19|= 126] 51 4.3 0.149
T |PERG214E11LH 1TH 9:19|rN 74| 86 5.3
LV-2| B4 [FE214F11A 17 H 9:57|y 74| 86 5.3 0.150
%7 |SERG214E11H 18 H 9:57 | 102 51 5.9
LV-3| B4 [FE214F11 A 18 H 10:31 |1 11.3] 43 5.8 0.150
%7 |ERG214E11H 19H 10:31|= 105 67 46
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SERRUEE T =2 Y o 7 AR BUE ) KA
V=DI=! N=Wi:d iy 2
A B g | mmemEne | wa o Ty | vices
)1 I (B T) MV | BE%G [FRk214-11H25H 11:14| = K5~ i 14.0[ 81 NNW 1,034
2H H |"ERk214E11H 26 H i 124 69| SSE
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